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Model Paper
GECIMIES | (Accountancy)
Set - I

gvg—1 (Section — 1)
J¥gfs ywa (Objective Type Question) 1 x40 =40

fder : ye =1 1 9@ 40 9@ A IR fadey fav 1w & oy 4@ v Gl 2
a3l fddey &I g4 vd IR v | fafea a1 |

Instructions : For Question Nos. 1 to 40 there are four alternative of which only
one is correct choose the correct alternative and mark it in the answer sheet.

1. U 19 gRT YT 3folias 9a] Pod Bl A oiar & |
( Life membership fees received by club in shown in. )
(a) ama—=a @ H (Income and expenditure)
(b) s fareer # (Balance Sheet)
(c) urft =ik = @rd # (Receipts and Payment A/c)
(d) s7H & @15 781 (None of these)
2. IR—maRe et & AfAHY d9—< B & ?
( Most transaction in non trading concern are )
(a) g (Cash) (b) SuR (Credit)
(c) T@g 3R JUR THI (Cash and Credit both)  (d) #iRa® (Verbal)
3. GAId B AT ARY |

( Legacies should be treated as )
(a) <R (A liability) (b) amara wifld (A revenue Receipt)



(c) 3ma (Income) (d) 3 & 18 A8 (None of these)
. R F&T T |

(Outstanding subscription is )

(a) 3ma (Income) (b) e (Assets)

(c) =i (Liability) (d) =g (Expenses )

. A A B IAMERT e T8l § 7

(Which of the following is not- for- profit organisation )

(a) #werfaemera (College) (b) wrEsi® FHT (Public Company)

(c) g=Tdrera (Library) (d) srgarer (Hospital )
. AR & goll @ W & B sfee fdar Sirar § 2

(The interest of partner’s capital A/c is to be credited to)

(a) @™ =1 @ 9 (Profit and Loss A/C) (b) =rst @rd H (Interest A/c)

(c) WTeIeR & Ysit @it # (Partners capital A/c) (d) $7% | ®Ig 81 (None of these)
. WEIEN & 91e WA a9 @il O § odidh 99 Yol @Td 8 & 2

(Partners current accounts are opened when their capital is)

(a) Rer (Fixed) (b) uRad=ar (Fluctuatating)
(c) a3k b ST (a and b both) (d) 3% 9 PIg A8 (None of these)
. ISR & @IS @I BT gHYT BT 2

(The current account of the partners will always have)
(a) =M 21w (Debit balance) (b) ST 2w (Credit Balance)
(c) Fi # & B8 1 (Either of the two) (d) 37 & ®1E T8 (None of these)



9. 9fHTT I HI ATl VIR BH & FaRII @ IffAHad W1 § 2
(Maximum number of partnership firm performing banking business is)

(@) 10 (b) 20 (c) 30 d) 40

10. 9T WIdT AT ATH—EI+ HHARITST Wl & 2

(Revaluation Account or profit & loss adjustment account is)

(a) eafaara w@rar (Personal Account) (b) aredfas w@rar (Real Account)
(c) Imsa @rar (Nominal Account) (d) 3 & ®1E T8 (None of these)
1. R IO & o § &H Sl § 2
(Decrease in the value of fixed assets in termed is)
(a) g (Depreciation) (b) &1 (Loss) (c) @™ (Profit) (d) &3 (Expenses)
12. FSIGN! Hol® @ 3uiRefd H ABER &f ?
(In the absence to partnership deed partners shall)
(a) a1 f&am SRR (Be paid salaries)
(b) o= =&t f&ar e (Not be paid salaries)
(c) S da+ Qa1 SR Sl BH & oIy BRI BRA & (Be paid salaries to those who work for the firm)
(d) =7 ¥ BIE T8 (None of these)

13. GRId ¥l BT G99 BT R0l fhar 9rdr g ?

(The accumulated profit and reserve are transferred to)
(a) agel @ #  (Realisation A/c)

(b) \Teierr @ Yol @Td # (Partner’s capital account)
(c) §@ @rar §  (Bank A/c)

(d) Irpe @1 | (Cash Account)



14. fHH T AERR & YdY W IREHTEAT | g5 Jed @1 ghg BT T4 {Ha1 SIRAT |

(On the admission of a new partner increase in the value of assets is debited to))

(a) g-HeaT®d @ (Revaluation Account)
(b) wwfcr w@rar (Assets Account)
(c) GRT |T=IGRY &I @rar (Old partner capital A/C)
(d) 37 & ®1E T8 (None of these)
15. ¢ TSGR b foram SIrem 8 ?
(A new partner is admitted)
(a) <1 ATSIGRI @ HgART ¥ (With the consent of two partners)
(b) &I ATSGRI F HEART ¥ (with the consent of all partners)

(c) T Hr=eR @ 28T W (Desire of one partner)

(d) ATSIERI & 9gAd @1 HeART | (With the consent of majority partners)
16. fafer=1 Fwaferal & fasha | Ut fasha @1 I | Faue™m JIar s ?

(Out of sale proceeds received from the sale of sundry asset first of all payment will be
made)

(a) ¥R &1 T1¥@  (Creditors liabilities) (b) WTSIGR &1 ol (Partner’s loan)

(c) &SIeR &I Yoil (Partner’s capital) (d) 37 & ®I1g A8 (None of these)
17. iRl & s | T Y BT Sif¥retRaa fBar Sirar § 2

(Amount realised from sale of assets is recorded in)

(a) a9l @Tar & Sfdc 4er #  (Debit side of realization A/C)

(b) agei @Tdr @& BfSc uer § (Credit side of realization A/c)
(c) anfefe faear @ <1 uer ¥ (Liabilities side of balance sheet)
(d) 37 & ®1g A8 (None of these)



18.Tdh HH & THIUH & FHY b AISIGR o ®O 2000 FAYA Y Pl YA PR (&A1 DI
1 @rar <fde g |

(On dissolution of a firm, a partner paid Rs. 2000 for realization expense. Which account
will be debited )

(a) agelt @TaT  (Realization A/C)
(b) Jbs @ (Cash A/C)
(c) |ATEIER & Ysii—@rar (Partner’s capital A/C)
(d) @zt @A (Profit and loss A/C)
19. RIGR & Yol WA BT <ol sfee fdhar Srar € ?

(The Interest on partner capital accounts is to be credited to)
(a) =ro1 @ 7 (Interest A/C)
(b) m—z1 @rar 9 (Profit and loss A/C)
(c) WG & Ysit @rar # (Partner’s capital A/¢)
(d) 375 & @18 T8 (None of these)
20. 1T & | @ gqfa a1 8 ?

(What nature of assets of goodwill is)

(a) Tl ¥Hfd  (Fixed Assets)

(b) =re] WHfd  (Current Assets)

(c) ard |wHfT (Intangible Assets)

(d) 37 & ®I1g A8 (None of these)
21. 9gad goil HwT 8 2

(A jont stock company is)

(a) denfo H>% =afdd  (An artificial legal person)



(b) wTBRIE @fdd (A natural person)

(c) W= @I (A general person)

(d) 37 & ®1E T8 (None of these)
22, ATIROTTAT F0T9H Bl & °

(Ordinarily debentures are)

(a) grferad  (Secured)
(b) siye: GRferd (Partly Secured)

(c) srgxferd (Unsecured)
(d) 37 & ®1g A8 (None of these)

23. 32T BT T fhAT S APl € ?
(Shares can be for forfeited)
(a) 9T ¥ IuRerd 7 8 & Rarfa #  (For failure to attend meeting))
(b) #FT MY & A 9 F=F TR (For non payment of call money)
(c) 9 =01 H YA @7 FFHAAT H (For failure to repay the loan to the bank)

(d) 37 & ®I1g A8 (None of these)

24.9% 9 f5d ™ FOT & oIy FU-931 BT FE—d Uifd & w9 A 0 50 99 W)
| @ &1 sfde fear SRR ?

(In case of issue of debenture as a collateral security for loan from the bank which
account will e debited)

(a) 9% @ram  (Bank Account)

(b) §¥& o7 @A (Bank Loan Account)

(c) Rur—9= @raT (Debentures Account)

(d) rur—u=x =il @rdr (Debenture Suspense account)



25 fa<irg faa=or g € 2
(Financial statement are)
(a) gcanfyd d2u  (Anticipated Facts) (b) tfeiRad @23 (Recorded Facts)

(c) srgart=id @2 (Estimated Facts) (d) 37 & ®I1g A8 (None of these)
26. &foret fasery ST ST © 2

(Horizontal analysis is known as)
(a) TTRMer frsewor (Dynamic Analysis)
(b) SETH® fawivor (Structural Analysis)
(c) ¥fa@ faserwor (Static Analysis)
(d) 3% 9§ @IS 7S (None of these)
27. FRfawe fag 99 fag &1 @ed € W=l ?

(Break-even points refers to that point where)

(a) | AT Gl {9l ¥ 31f® 81 (Total costs are more than total sales)

(b) &t T Rt fah! | BH 81 (Total Costs are less than total sales)

(c) |t NTd Gt fdshl | el 81 (Total cost are half of the total sales)

(d) &t AT | f9sH! & RIER BT | (Total cost are equal total sales)

28. Jf¢ Al [0 4,00,000 TAT FHeT AT ARTT TR 25 YRS &1 Al Abel o9 AU BITT?
(If sales Rs. 4,00,000 and profit is 25% on cost then gross profit ratio will be )

(a) 20% (b) 25% (c) 30% (d) 35%

29, ¥ MM U & 2

(Stock Turnover Ratio is )

(a) Txerar 3rgurd (Liquidity Ratio)



(b) meTIdar gt (Profitability Ratio)
(c) fepamiierar arqurd (Activity Ratio)
(d) 3 & ®1E T8 (None of these)

30. YA BT Adg H AT 8 2

(Issue of debentures in cash is a)
(a) fa<ira fhart¢  (Financing activities)
(b) uR=re famG (Operating activities)
(c) fafrare fosay (Investing activities)
(d) 37 & ®1g A8 (None of these)
31. GATe A b Y8 Bl TN & FHY 171 BT g o™ H Sirel Sl & 7

(Following is added in net profit while calculating cash flow from operating activities)

(a) =frar 9 gfg  (Increase in stocks)
(b) <&fcrar § & (Decrease in stock)
(c) aer! H gfg (Increase in debtors)

(d) 37 & ®I1g A8 (None of these)
32.Vde YaTg ey o e & fog suarf g 2

(An analysis of cash flow is useful for which planning)
(a) sreuahret  (Short term)

(b) <re@reli  (Long Term)

(c) A=gBTA (Medium Term)

(d) 37 & ®I1g A8 (None of these)



33.]Idhe YaTe daroT ATerRd 2 ?
(Cash flow statement is banked upon)

(a) oRgiHT & Ade & AR W (Cash basis of accounting)
(b) Tgi®HT & IUTSH & MR R (Accrual basis of accounting)
(c) a3m b ST (aand b both)

(d) 3 & ®1E T8 (None of these)
34. I TATe] AU 2.5 O 7 AR =T IMRAT 40,000 B AT AT, AT § 2

(If current ratio is 2.5 times and current liabilities are Rs. 40,000 then current assets are)
(a) 1,00,000 (b)2,00,000 (c) 1,50,000 (d) Rs. 4,3,00,000
35. 791 § | B9 W1 Hared g T8 7 7

(Which of the following is not operating expenses)
(a) fa=9=  (Advrtisement)
(b) aa9 (Salaries)
(c) ®R @I fdm! 4R B (Loss on sale of car)
(d) faa=wT (Distribution)
36. STCT YRR &7 3ref a1 8 2

(The meaning of data processing)

(a) ster @1 WUg  (Collection of Data)
(b) FeR HI BRIYUME (Working system of computer)
(c) arftricas ST & oy TR TR &R (Preparing information for business use)

(d) 37 & ®Ig A8 (None of these)
37. aifde wfdaurell Hregex g ?

(The most powerful computer is)

(@) g ®=gex  (Super Computer)

10



(b) AT HFIeX  (Micro Computer)
(c) euera (Laptop)
(d) 3 & ®1E T8 (None of these)

38. UEeTl e A1SY b g9 ?

(The first computer mouse was built by)

(a) e Tia@e  (Donglas Engelabart)
(b) Rferm sRaa (William English)
(c) 3MufIrer FER (Oaniel Cooghar)
(d) T | B TE (None of these)
39, JAYAH AP HFYSR Bl @ISl gg 7

(Modern computer was develop in)

(2) 1946 (b) 1950 (¢) 1900 (d) 1965
40. In MICR, C Stand for MICR H C &I Reffaq g ?
(The position of C in MICR, C Stand for MICR )

(a) Code (b) Colour (c) Computer (d) Character

11



Model Paper
Set — 11

Short Answer Type Questions
(org S yE)
fder - Yo IR 1 9 10 T@ dY SN U 2 dAT yAS @ forg 3 3w feiRa 2

Instructions : For Questions Nos. 1 to 10 are Short answer type and each question
carries 3 marks.

1. YIS Qd I AT 97 S—ayg @Il 9 dls diF 3R o |

Write any three difference between receipts and payment account and income and
expenditure account.

2. dY¥ 2016 P foTU SUINT &I TS gaT &I A B ITOET BT |

(1) Tareil &1 URfIS Tefoar - 5000
(2) TamRl &1 URMA® of-a- - 4500
(3) 99 & SR ARl & TAHa HY — 15000
(4) =TTl BT SAfH oA Ted - 6500

Calculate amount of medicine consumed for the year 2016

(1)  Opening stock of medicine - 5000
(i1))  Opening creditor of medicine - 4500
(i11)) Cash purchase of medicine during the year - 15000
(iv) Closing stock of medicine - 7500
(v)  Closing creditor of medicine - 6500

3. YAHedid WAl 9§ 3T F7 FHAS © 7

What do you mean by revaluation account.

12



10.

‘A3R B & ®H & ARER & | 9 AM—8I 32 & U H dicd 8 Id! Yol HAw:

20,000 TAT 0 16000 e T C A A H1 /4 T e & e e H gdv < & C
&1 goll & oIy 12,000 ToT ©AIfA & oY 10,000 AHE # oH1 B | T8 AMA Y oAl &
oG HINTY 5 — QR AEERT 1 @i & Aare form 7 |

A and B are partner in a firm they share profit and losses in the ratio of 3:2. Their capital
are Rs. 20,000 and Rs. 16,000 respectively. Their capital are Rs. 20,000 and Rs. 16,000
respectively. They admit C into partnership for %4 share in profit. C is being in cash Rs.
12,000 as capital and Rs.10,000 for goodwill —

Pass journal entries assuming that the old partner have withdrawn goodwill.
3T B AT T qAY &8¢ el &l FHR P Ul BT qaQ |

What do you mean by share? State any two type of shares.

qivE | AT T FES © °

What do you mean by bond?

AHS YT faavor ¥ 319 a1 |ASK 7 2

What do you mean by cash flow statement. Explain

FfoRed =T 9 U rad JuTd Moy |

Calucate stock turnover ratio from the following information

fder (Sales) Rs. 4,00,000
3 Efaar Average Stock 55,000
qhd B 341d Gross loss ratio 10%

RM & [0 100 dTel 100 3T Sl W0 50 P YA UG i JTAT BT Y el Bl A
S FR ford T A | TH BT 70 w0 UMY Y QUIT: FobhdT A g AT fR T 2
ST 3R G A @ ol v AT gfdftear €T |

Ram’s forfeited share of Rs. 100 each for non-payment of first and final call of Rs. 50 are
issued to Shyam for Rs. 70 per share fully paid. Give the journal entries for forfeiture and
reissue.

foxig faaor fasyor & el 9 AEme & ford |

Write any three limitations of financial statement analysis.

13



Long Answer Type Question

FHEEGGRE R LS|
Ay . U7 ST 1 9 6 I Y SO UST § JAT Udd b fIU 5 3 fRaffRa 2

Instructions : For Questions No. 1 to 6 are Long answer type and each question carries 5 marks.

1. The following is the Balance sheet of a company.

fifra e fercer vd v & 2 |

Liabilities (a1frca) Amount | Assets (F=fa) Amount w9
HagT
Share capital (3f5dsh) 60,000 | Fixed Assets (18 33,000
FEfert 2 )
Creditors (eMgR) 16000 Cash (Ri&s) 2000
Bills payable (33 fae) 4000 Short term investment | 3000
(FrgaTet= faframT )
Provision of tax (&% & ferg | 7000 Bill receivable (dr< 4000
YTaelT) ES))
Book debits (g&ia1™ 12,000
EREIR)
32,000
Stock (afera)
1000
Prepaid Expenses
87000 87000

Calculate the current Ratio and liquid Ratio

HFAT DI Tl AT Td AR AU DI T Y |

14



. From the figure given below, calculate cash from operation

fifha oifes! | TS hamRel | JAds ®I T BT |

31.12.2015 %0 31.12.2016

Bills Receivable (ur< fde) 8000 6000
Debtors (S75R) 40000 30000
Stock (%) 30000 30000
Prepaid Expenses (Jd&a =) 8000 7000
Accrued Income (IUTfoia 31m) 6000 7500
Creditors (d9aR) 20000 22000
Goodwill (zurfa) 1000 800
Bill Payable (<3 fda) 7000 6400
Machinery (H915) 10000 9000
Income received in Advance 7000 6000
(@1 & T 31m)

Profit & Loss A/c (m—g1f+ wren) 1,10,000 2,20,000

15




3. From the following balance sheet of Sun Ltd. As on 31.12.2016 you are required to
calculate the following.

31.12.2016 &I W9 foo & e faser & e f=faRad @t o o |
(a) are] ergurd  (Current Ratio)

(b) =or AT rgurd  (Debit Equity Ratio)

(c) faf=raifsra goit &1 I (Capital Employed)

(d) =me e®ar U (Solvency Ratio)

Balance sheet of Sun Ltd as on 31.12.2016

Liabilities Amount Assets Amount
Share Capital 3 10,00,000 Fixed Assets 9,00,000
Sl et At
Long-term Debit 5,00,000 Current Assets 8,00,000
GreleBTatiat 5807 e e
Current Liabilities 2,00,000
CUGRAPr]

17,00,000 17,00,000

16



4- frforRaa gaamsll | e JAMAFTIH 1995 B &RT 211 & =< VI 91T 1 & AR
T 3R o0 @1 ReIfd fdavor 31 A€ 2016 BT TIR BIFoH |

Prepare a balance sheet of M/S Amber Ltd. As on 31* March 2016 as per provision of
Part —I schedule VI, Under Section 211 of the companies Act 1956 from the given
information.

= Had (General Reserve) Rs. 4000
0T U= (Debenture) Rs. 3000
AT —gT @Tar ST (Profit & Loss A/C Cr. Rs. 1200
T il o) g™ (Depreciation fixed Asset) Rs. 700
Gl W AHREAT (Total Fixed Assets) Rs. 9000
=fTe] &1 (Current Liabilities) Rs. 2500
YR[¥dh <Y (Preliminary Expenses) Rs. 300
gaifere 39 Yol (Preference share)) Rs. 4000
9Te] AT (Current Assets) Rs. 6100

5- 3T U9 I Wl bl UT™T dIN DY |

Draw the format of income and expenditure account.
6- HFT Bl Uh i Afdd HET ST & 59 HAT Pl WK BN |

Company is known as an artificial person. Explain this statement.

17



ANSWER :

1. (B)

6. (C)

11.(A)

16.(A)

21. (A)

26. (A)

31. (B)

36. (C)

2. (A)

7.(A)

12.(B)

17. (B)

22.(A)

27. (D)

32. (A)

37.(A)

MODEL PAPER

SET — 11

RIS gl &1 SR

3.(A)

8(C)

13.(B)

18. (A)

23. (B)

28. (A)

33.(A)

38. (A)
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4. (B)

9.(A)

14.(B)

19. (C)

24 (D)

29. (C)

34. (A)

39.(B)

5.(B)

10.(C)

15. (B)

20.(C)

25. (B)

30 (A)

35.(C)

40. (D)



MODEL PAPER
SET —1I

g TR YTl & IR

Answer of Short Answer Type Questions

Q.No. 1:

UIT Qd AT @I T AF—ag 1l § o Frfalad R § —

®) U Ud I @dr H A G YOiTd g AGl Bl o fhar S §

STafh MI—TF WTdT § Bael AT Fel Bl a1 i@ fhar rdr 2 |

(@) wiftg vd grae @ar | URMe Ud Sifam AW &l forar Srem & e
AI—Tg AT H Pl YRMAG FdT 3ff~q9 Y 87 g ¢ |

(M Uit Td A @A § Ui Bl Sfde g H 9R a’% dT @d Bl hisc
e ¥ SR IR for@y 9T 8 St Su—agg 9rdr ¥ W Bl Sfae 9eT §
IR X% AT 3T BT Hiec YT & SR ¥t fordr Sidr 2 |

Three different between receipt and payment account and Income
and Expediture Account is following.

(1) Receipt and payment account records revenue and capital
transaction both where as income and Expenditure Account
records only revenue transaction.

(i)  There is opening and closing Balance is receipts and payment
account where as the income and expenditure account, threr is
no opening and closing balance.

(111))  In receipt and payment account receipt are recorded in debit side
and payment are recorded in credit side where as income and
expenditure account, Income are recorded in credit side and
expenses are recorded in debit side.

19



Q.No. 2 :

Calculation of Medicines communed during 2016.

Particulars Amount
(Rs.)

Opening stock of Medicine 5000

Add : Cash Purchase of Medicine 15000

Add : Closing creditor of Medicine 6500 |21500
26500

Less : Closing stock of Medicine 7500

Less : Opening creditor of Medicine 4500 | 12000

Medicine Consumed during the year 14500

Q.No. 3:

g qeih] @Il Yeb JfaRA(dh Wil & Sl ANl & FHAYT O 7 A8ER &
UdY, WER & AABIY TSV P Al WER B g 84 bl Reafd # qwufeai vd

Sl & el H§ 8 dTel uRadd & $HRT 8 dlel o™ 3far 81 S & folg a+m
ST 2wkl & gl H gedrell HH duT SRl & Jed # OB arell ghg Bl
J-Hedi Gl & Sfde ueT H T |9t & Jed H sHdrell ghg dom il & Jea 4
P DI JHHAIDT WA & Disc Uel H @ SIdm & | YHqedia WAl & sfde eI

DISC UE BT R 9 AAdT B Bl 2 e 9o ¥l R deieRl & 4

IS AM—I 3rgurd # fovar Srar 2|

Revaluation Account is a nominal account which is prepared to calculating the
profit or loss on revaluation of assets and liabilities in the case of dissolution of

partnership such as admission, retirement or death of partner. Revaluation account is
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debited with the decrease in the value of assets. The difference between debit and credit
side of revaluation account shows profit or loss which is distributed among the old

partner in the profit sharing ratio.

Q.No. 4 :

Date | Particulars L.F.| Amount | Amount
Bank Alc.........oooooiiil . Dr. 22,000
To C’s capital A/c 12,000
To premium (Goodwill) 10,000

(Being cash brought in an capital as

goodwill for 1/4™ share)

Premium Goodwill Ac............. Dr. 10,000
To A/’s capital A/c 6,000
To B’S capital A/C 4,000

(Being the amount of goodwill
transferred to old partner capital A/c
A’s Capital A/C......cooeniil .l Dr. 6000
B’S Capital A/C................... Dr. 4000
To Bank 10,000

(Being the amount of goodwill

withdrawn by A and B)

Q.No.5:
9 fHAl B @ gon @ U Aiftgd IfY & Bic-Bic s&13 a1 2wl # faviora
BRI A § AT 3Rl gHIg AT R Pl Y BEd & | SAERT B fory FR fhil v
# 10 AT BT Yofl BT 1,00,000 SHIEAT 7 dfc & ST A UH IHIE B HIHFT 90 10 SFT
ST Y HEARAT |
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U HHAl &I UHR & A SIRT B Gl © | USell FHAT 3T g8 & (o1l Bl
FHOE H @I B Wt Bl @ 97 98 HEAl @ 9 fharaeral § W o T g |
HAAT TR B HF BT aRAID W BTl 2 |
aTEeR oY 98 2 RTe Har & F9aT AR | Ugel o™iy dm goil &l ar«l ur<
TR BT JHR BT & | 39D Y @) &% gd FeiRa gar g

The capital of a company in divided into units of small denomination.

Each unit is called a share. For example the capital of a company is Rs.
10,00,000 and is divided into 1,00,000 units of Rs. 10 each will be called a
share of the company.

A company can issue two type of shares : One is equity share and other
is preference share. Equity shares are those shares which are generally issued
by the company for providing ownership of the purchases. The purchaser of
these shares are the real owner of the company. Preference shares are those
shares on which there in a preferential right as to the payment of dividend and
repayment of capital before equity shareholders. The rate of dividend is
always fixed in the case of preference shares.

Q.No. 6 :
fvg—awq iR Usfd SMI & F= d 91vs RU-UAl & HAM B & | AHI:
JI08 WRPHR gRT IfHd fd S € oifdT EiRaN 3R IR—WReRI ey W ol
B Wipfd B W H Fvs AT s ol 81§08 3R RU-u3 H eyl A<k I8 ©
f6 wo—ua qd FeiRa &9 &) & 9y g 5 o € Sefe gvs o gd
iR &9 R @ W AT 5 ST 9ad € S-S0 Sersve 91ve | 31 Fu—u3
qAT §Tv TQT BT YANT et & w7 H fHar S @7 2 |

Bond is similar to that of debenture, both is term of content and texture, Bond

are generally issued by the Government. But there days bond are being issued
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by the semi-government and non-government organization as an
acknowledgement of debt.

The significant difference between bonds and debenture is with regard to
the issue without pre-determined rate of interest as in the case of deep
discount bonds. The term debenture and bonds are now being used
interchangeably.

Q.No. 7 :

g Udrg faaRor U T fAaRor @ O b & SAIAl Td TANT Bl [ila v
fodl 7Y fIuY & JAdhs B IYAKAT Bl I & S A (IR fhar o 21 I8 Ud
AGiET ay B o # fhll R Eied 9 # Awe @ Refay # gRadw @ gular 2
9 UBR UHs YaE TR U afy favy # fafe=1 foharwardl gRT Jdbs dem Idhs
AAdl BT T<IaiE Yd difedis Pl USNd IRal & | I8 Adbs UK T Jiad & faf=
Aeg|l & 9] H fIRId SIFeN SUSTe] BRIAT & | I8 s Y BT Y Hecayul deb-ild

2| I GIHA GHO—3 & AR IR Sl 2 |

Cash flow statement is a statement which is prepared by any business firm to
know the availability of cash during a particular period by analyzing the
sources and application of cash. It shows the change in cash position from one
accounting period to another. Thus cash flow statement is a statement which
summarises sources of cash in flows are uses of cash outflows during a

particular period of time. It is prepared as per As — 3.
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Q.No. 8 :

Stock turnover ratio =

Sales = Rs. 4, 00, 000
Gross Loss

= Rs. 40,000

= 10 % of Rs. 4,00,000

Cost of Goods sold = Sales + Gross loss

= Rs. 4,00,000 + 40,000

= Rs. 4,40,000

Cost of Goods sold

Average stock

= 4.,40,000
55,000
= § times.
Q.No. 9
Date Particulars LLF. | Amount | Amount
Share capital A/c.............. Dr. 10,000
To share first find call A/c 5000
To Share for feiture A/C 5000
(Being 100 share forfeited)
Bank A/c ......ooivininnnnn. Dr. 7000
Share forfeiture A/C......... Dr.. 3000
To share capital A/C 10,000
(Being share re-issued)
Share forfeiture A/C........... Dr. 2000
To capital reserve A/c 2000

(Being balance transferred )
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Q.No. 10 ;
fa<irr faeror fawmwor & &9 e feafolea & -
1. I8 YAIgAM B H H8q T8l HRal © |
2. T TUNCHE T BT ST HaT 2 |
3. I foRT faavol @1 Ammel 3 ywIfad eram € |

Three limitation of financial statement analysis in following.

1. It is not helpful in forecasting
2. It ignores qualitative factors.

3. It is affected by limitation of financial statement.
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MODEL PAPER
SET —1I

e ST gl @ SN

Answer of Long Answer Type Questions

Q.No. 1.
(1) Current Ratio =  Current Assets
Current Liabilities
= Rs. 54000
Rs. 2700
= 2:1
(11) Liquid Ratio = Liquid Assets
Current Liabilities
= Rs. 21000
Rs. 27000
= 0.78:1
Working Notes
(1) Current Assets Rs.
Cash 2000
Short term Investment 3000
Bill Receivable 4000
Book-Debts 12,000
Stock 32,000
Prepaid Expenses 1000
Rs. 54000
Current Liabilities Rs.
Creditors 16,000

Bill Payable 4,000

26



Provision for Tax

(11) Liquid Assets = Current Assets-(Stock+Prepaid Ex)
= Rs. 54,000 — (32000+1000)

7,000
27.000__

= Rs. 54000 - 33000
=Rs. 21000

Q. No. 2:

Calculation of cash from operation

Profit and Loss Balance on 31.12.2016
Add. Appropriation of Profit

Less P & L Balance on 31.12.2015
Net Profit for the year

Add : Non-cash Debit in P/L A/c
Depreciation on Machinery

Goodwill written off.

Add Decrease in current Assets.

B/R 2000
Debtove 10,000
Prepaid Expenses 1,000 |

Add — Increase in current liabilities
Credit 2000

Less : Increase in current Assets
Stock 5000
Accrued Income 1500

27

2,20,000
Nil

2,20,000
1,10,000

1.10.000

1,000
200

1.11.200

13,000

2000

1.26,200

6,500

1.19.700



Less : Decrease in current liabilities

Bills payable 600
Income received in Adv. 1000 1600
Cash from operation 1,18.100
Q.No. 3:
(@) Current Ratio = Current Assets
Current Liabilities
= Rs. 800000 =4.1
Rs. 200000
(b) Solving Ratio = Outside Liabilities
Total Assets
= Rs. 700000 7
1700000 = 17 =0.41:1

(c) Debit equity Ratio = Long term Debit
Equity
= 500,000 = 0.5:1
1000000

(d) Capital employed= Fixed Assets + (Current Asset-Current Liabilities
=Rs. 9,00,000 + (Rs. 8,00,000 — 2,00,000)
=Rs. 9,00,000 + 6,00,000
= Rs. 15,00,000
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Q.No. 4 :

Horizontal form
M/S Amber Ltd. Of
Balance Sheet as on 31% March 2016

Liabilities Amount | Assets Amount
(Rs.) (Rs.)
1 Share Capital : 1 Fixed Asset : Rs.
Authorized Issued & Subscribed Gross Asset : 9000
Nil
Less Depreciation : 700 8300
Preference Share Capital 4000 2.Investment Nil
2. Reserve & Surplus : 3.Current Assets, Loan and
General Reserve 4000 Advance
Profit and Loss A/C 1200 (a) Current Assets- 6100
(b) Loans and Advance Nil
3 Secured Loans : 4. Miscellaneous Expenditure
Debentures 3000 preliminary expenses
300
4. Unsecured Loan Nil
5 Current Liabilities & provision :
(a) Current Liabilities
(b)Provision 2500
Nil
14700 14700

29




Q.No.5:

Income and Expenditure Account for the

year ending .... 31* December 2016

Expenditure Amount Income Amount
(Rs.) (Rs.)
To Rent, Rates, Tax Add : X By Sales cription X X
Outstanding X Add : Dues attheend - X
To salaries and wages paid X X Less : Received in advance for the
(1)Add : Outstanding X next year X
(i1) Less : Prepaid X Add : Advance reeived in the
(ii1) Add : Prepaid at the beginingX beginning of the Year X
To Insurance X X Less : Due in the beginning of the X
Less Prepaid X year
To Depreciation on fixed assets X By Entrance fees (Only the revenue X
part)
By Life membership X
(Only the revenue part)
By admission fees X
(only the revenue part)
To audit fees X By contribution for any special X
function
To Printing & Stationery X Less : Expense in curred on fuction X
X
To honorarium X By Receipts for tournament X
To postage X Less Expenses X
To electricity and worker X By gain from canteen X
To converyance X By gain from canteen X
To upkeep and maintenance X By Rent of hall/ground X
To loss on sale & any assets X By interest & dividends X
To Miscellaneous expenses X By sales of sports material (old) X
To loss from canteen X
To surplus or excess & income over X By deficit or excess of expenditure X

Expenditure (Carried & Capital)

on income (carried to capital fund)
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Q.No. 6 :

AT BT A AT FHeT a1 © 1 o I8 @ ¥Rl H IE U g™ ATt
AT & ST 37U IHEETRAT I 3T Tl fi=1 BT 8 3R {B 94 H P ARG
2 BRI T 7 & fagq grr AT 89 & SR S0 o1l fdd U &1 ST
g O S Al I UARElee]] & Afdd | fde@a =1 21T 8, AEEN @
Rafd g9 fdeqma 1 8l 21 9EieN) &1 IRaa JeRl | (el =181 8lal ©
FAER DI it I JAIRAT 3R BRI IT TT—3TelT A B © | U Afhd dl
WE & HH b IR BRI 3R ITRSIIE A= 81 & | HF gRT B S ared
BT B B G IHD SH b AT B FRG—UF gRI [ftad w & Sl 2|
Jfe TR W O B I Rda fear g1 e 39 dunfe afad
srerar faam—fia R @fdq serar frm ) wga €
HAT B [ AT B FI H Wad IR U W &1 EfaRad
U4 I B |
1. BT gRT fby 10 wraf & U DI Vel W fddiTd w9 ¥ REER T8
I © |
2. HFE B AT FEI HHN B TS B Fh & |
3. AfFTd ©T ¥ &R AMURY Ud TR | (e Bl § a1 9@ Refa dwa &
Toe & w9 H T8 el |
4. ISl GRT IOAT IR 99 <F IT 3@ Aid, UnTedd, Rarferamas onfe &
HROT HFAT BT Ffdeded YWTfId T8l 8rar |

A Company is called anartificial person : in the words of W.A. wood, “It is

person created by law, separate and district from its stockholders and in a certain
senseit 1s citizen “Bening created by law it assumer and entity separate from its
members. In a partnership business the existence of the firm is not separate from it
members. But the shareholders and the company are two different persons. The
company being and artificial person, hs many of the rights of a mutual person. It

can sue and sued in its own name. Similarly, it was th right to own and transfer the
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proparty. The assets of the company are not the assets of the shareholders. A
shareholar being an entity distinet form that 8" company, can sue the company and
be sued by it by as a company is not a natural person. It cannot sign documents for
itself. So, it was a common real wight the name & the company engraved on it as a
sulitite to be for its. Signatures.

The effect of having the separate existences of the company in the
form of an artificial person, are the following. —
1. No shareholder is personally liable for any act done by the company.
2. A company can enter into contracts will its own members.
3. Personally each shareholder is separate from the other and the shareholders are

not the agents of the company.

4. Death, insolvency or insanity of an individual shareholder does not affect the

existence of the company.
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Model Paper
GECIMIES | (Accountancy)
Set -l

gvg—1 (Section — 1)
q&gf~iss 9z (Objective Type Question) 1 x40 =40

frder : ysa =T 1 9 40 99 ¥ IR fadeu fau v & RFA 4 e 9 2
|3l fd@ey 31 g4 vd SR uFS H fafea a1 |

Instructions : For Question Nos. 1 to 40 there are four alternative of which only
one is correct choose the correct alternative and mark it in the answer sheet.

1. I[ATIHNI HeH §1d 8 ?
( Not for profit organization prepare)
(a) sma—=ra @ (Income and expenditure)
(b) Ao @ ar (Manufacturing A/c)
(c) emg—ertr @rar (Profit & Loss A/c)
(d) =muiRe @rar (Trading All)
2. U |IT BT A BT YIar © °
( Payment of honorarium of secretary is treated on)
(a) Ysimra =@ (Capital Expenditure)
(b) smTd =@ (Revenue Expenditure)
(c) he =g (Cash Expenses)

(d) SerR =7 (Credit Expenses)
3. M 9 HHM dTell AR H & B 3T W ARYHAT BT Hal Sfral g 2
( In not-for-profit organization, excess of expenditure over income is called)
(a) 811 (Loss  (b) @™ (Profit) (c) @41 (Deficit) (d) st (Surplus)
4. M T HAM & oI wfid Hem & 3MT BT AR § 2
( Source of income for a Not-for-profit organization is)
(a) W=l | urad =@aT (Subscription from Member)
(b) < (Donation)
(c) uaw giew (Entrance Fee)
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(d) Swja w1 (All of above)
5. U dcd g1 °19 & A | YT 0¥ DI AMT ST 12 2
( Amount receivd from sale of grass by a club should be tracted on)
(a) goirra i (Capital Receipt)
(b) smard ufed (Revenue Receipt)
(c) THfa (Asset’s)
(d) Surfsia o (Earned Profit)
6. TTe] QI & ?
(Current Account is)
(a) eafaerd @rar (Personal Account)
(b) ar<fds @rar (Real Account)
(c) smET= w@rar (Nominal Account)
(d) 3 & &g "8 (None of these)
7. TN U © ?
(Sacrificing Ratio)
(a) a1 srgurd—yzr=r Ut (New Ratio —Old Ratio)
(b) grrT 3rguTa—=ar 3rgurd (Old Ratio — New Ratio)
(c) grmT 3rgura—yria rgurd (Old Ratio — Gaining Ratio)
(d) sH & @15 781 (None of these)
8. WISl HHSIICT B Hehell & ?
(Partnership agreement can be)
(a) #ig® (Oral)
(b) farRaa (Written)
(c) Hige a1 fetRaa (Oral or written)
(d) 3 & &8 A8 (None of these)
9. Tcal H &HI © ?
(Decrease in the liabilities is )
(a) o (Profit) (b) =1t (Loss) (c) urfd (Gain) (d) = (Expenses)
10. Tl ARIAR & BT T80T B RIS #, T & I69 &1 goll @rdil # fhfse faan
ST B ?
(In case of retirement of a partner, for goodwill amount is credited to the capital account
of )
(a) 9T AEIGR (All Partner)
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(b) 3TThIY TBUT HY+ dTcll ArsiaR (Retiring Partner)
(c) % AEER (Remaining Partner)
(d) 9% AR (Dececred Partner)
11,37, § 3R T UP BH ¥ WEER & | § T AREER & © 4 BF § YJ¥ Il & ?
(A.B. and C are partner in a firm. D is admitted as a new partner in firm)
(a) RFT ®H @1 fqgesT 8 (Old firm is dissolved)
(b) grr= HH ql ORI ATSER &7 fdged &M (Old firm and old partnership disssolved)
(c) QR AR gRifed 81 (Old partnership is reconstituted)
(d) 7% & @13 &1 (None of these)
12, IEIEN] B & fdged 0R, |iger & goil @il o< fbd S| 8 2
(On dissolution of the partnership firm, partner’s capital Account are closed through)
(a) T @ & AFH A (Through Realisation Account)
(b) 3mExvr @i & ARIH H (Through drawing Account)
(c) 9@ @ @& #emH | (Through Bank Account)

(d) 7 & @13 &1 (None of these)
13. il & fasa § urd Y | wdued fHat JFraE 8rm ?

(Which of the following will be paid first time out of sale proceeds of assets)
(a) AMUTR® TR (Trade Liabilities)
(b) YST (Capital)
(c) ATSIeR &1 0T (Partner’s loan)
(d) 37 & @13 &1 (None of these)
14. 99l W & o™ /I BT §CaRT AEIARI & deg 8Idl 87
(Profit / loss on realization account is shared by the partners.)
(a) SIM—fa\TST 3quTd H (Profit sharing Ratio)
(b) ST Ut # (Capital Ratio)
(c) TTaR—a1eR (Equally)
(d) 37 & @13 &1 (None of these)
15. fafder S<R 10,000 W0 & & S8 10 UMY B UR YA B AT 73T | 9Gell W Bl
Sfae faar s ?

un creditor amounted to Rs. 10, there more paid a discount o o realization
(Sundry credi d to Rs. 10,000 th paid a di f 10% realizati

account will be debited to.)
(a) 0 900 (Rs.900) (b) w0 10,000 (Rs. 10,000)
(c) w0 1000 (Rs. 1000) (d) 0 11,000 (Rs. 11,000)
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16. %% @ oY SATEROT WX TSl © ?
(For the firm, interst on drawing in)
(a) T (Expenses)
(b) 3ma (Income)
(c) =11 (Loss)
(d) 377 & @13 &1 (None of these)
17. fHHl AR Il & aWma H, fedl 1 & o gd 81 &l died © 2
(In the absence of any partnership agreement the profit or loss of the firm are divide)
(a) goit & 3rurd H (In capital Ratio)
(b) |AT U # (In equal Ratio)
(c) 37 aFI % 9 4T U ¥ (In any of there two ratio)
(d) 37 & @13 &1 (None of these)
18.TH & fdFc & T9I ARIERI & Yoil WAl & HIST qral BT I fhar Sar & ?

(Payment of credit balance of partner’s capital accounts at the time of dissolve of a firm

1s made to)
(a) ATSIGRI @ (Partner) (b) ®H @I (Firm)
(c) gt @1 (Wife) (d) 37 & @13 &1 (None of these)

19. 371 BT 3Mded @Tar & ? (Allotment of share Account is)
(a) e @rem  (Personal A/C)
(b) ardifde w@Tar (Real Alc)
(c) | @TdT (Nominal A/c)
(d) 77 & @13 &1 (None of these)
20. AT F0 10 T FHAAT AT WO 12 TR AT far Sram € o S el Sfar & 2
(If equity share of Rs. 10 each is issued at Rs. 12 each it is called)
(a) ¥ W A (Issued at Par)
(b) 1feed wR A (Issued at premium)
(c) Ferd W He (Issued at discount)
(d) 37 & @13 &1 (None of these)
21. T8 | AT B Uoigd goll dE—1 § 2
(Which one of the following is the registered capital of the company)
(a) ga<T Yoil (Paid up capital) (b) sramfard Yoit (Uncalled capital)
(c) o1& Yol (Authorised Capital) (d) S5 & @ig &l (None of these)
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(Dividend are usually paid on)
(a) 31ferepd Yol (Authorised Capital) (b) #RTY I8 Yol (Called up capital)
(c) FtfAa goit (Issued capital) (d) ued goil (Paid up capital)
23. Jf¢ fashdrail Bl w0 1,20,000 BT g TR & Ufdhel H W0 1,00,000 & Yolad 3y
R {5 SR 1 919 %0 20,000 ST b SIRAT 2

(If vendors are issued fully paid shares of Rs. 1,00,000 in consideration of net assets of
Rs. 1,20,000 the balance of Rs. 20,000 will be credited to)

(a) wIfer @Tar # (Capital Reserve A/C)
(b) emi—=aT @Td # (Profit-Loss A/C)
(c) 9ot H=ra @ # (Capital Reserve A/C)
(d) 377 & @13 &1 (None of these)
24. 7 H0 10 AT 3fY, FTHBT W0 8 AMAT & 3R W0 6 Yax &, &l DR [ofd] SIar & ol
31y Yol @rar & Sfde famar S =nfey ?
(It a share of Rs. 10 on which Rs 8 has been called and Rs. 6 is paid is forfeited, the share
capital account should be debited with)
(a) 0 08 (Rs. 08) (b) w0 10 (Rs. 10)

(c) %0 06 (Rs. 06) (d) w0 02 (Rs. 02)
25. 19 3Nl BT ST far Sar g O Y Yol @rdr & Sfde f&ar smar g ?

(When shares are forfeited, the share capital account is bedited with)
(a) 39T & 2ifdhd gea | (Nominal Value of Shares)
(b) 38 & IR Hea ¥ (Market value of shares)
(c) 3iuT & arfaa Hea ¥ (Called-up value of shares)
(d) o & ued Jed | (Paid up capital of shares)

26. 3191 & BT & URUTAW®T ¥¢ Sl © ?
(Forfeiture of shares results in the reduction of)
(a) FeparT Yol (Paid-up capital)

(b) stferpd Yoil (Authorised Capital)

(c) T wHfa (Fixed Asset)

(d) 7 & @13 &1 (Paid up capital of shares)
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27. 319 &1 Frar &f faes # fe@m oar g °?

(Share forfeiture account is shown in the balance sheet)

(a) @Te] <RI & A1 (With current liabilities)

(b) IR—=mel <T@ & |t (With not current liabilities)

(c) | |9 & AT (With general reserve)

(d) gear golt & Arer (With paid-up capital)
28. FU-UF &1 Y% © ?

(Consideration of debenture is)

(a) <Y (Profit) (b) ¥ (Dividend)

(c) =T (Interest) (d) 7 & @13 &1 (None of these)
29, FU-TF Sl A1 GY& IR o7 W SWIRT & W § g o & 7

(Debentures which are transferred by mere delivery are called)
(a) dsilpa sU—ua (Registered debentures)

(b) wo™ = (First debenture)

(c) a8 uI—u= (Bearer debentures)

(d) 7 & @13 &1 (None of these)
30.Uh S & e faes # mo—ual & ... e & ravia fewmar Sar § ?

(In the balance sheet of a company, debentures are shown under the head.....)
(a) argRferd &or (Unsecured Loan)
(b) <reiTet™ vl (Long term Loan)
(c) =re] <Tfaa (Current Liablilities)
(d) 37 & @13 &1 (None of these)
31. 0T YAl BT AR fHar S Fdar § 2
(Debenture can be redeemed out of)
(a) o H ¥ (Profit)
(b) s & (Capital)
(c) wraam™ & (Provision)
(d) S | | (All of the above)
32. FU-UAT & e TR WIFRE 2 °?
(Premium on redemption of debentures is a)
(a) e @rem  (Personal A/C) (b) arifd® w@rar (Capital)
(c) = #|r= @rar (Nominal A/c) (d) S==l @rar (Suspence A/c)
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33. Gol IR H 3 Y T FO—U=] BT e I € Aol (HaT S 2 df I8 8 2
(If debenture purchased in open market are not immediatedly cancelled, they are)
(a) dre] FHfcr (Current Assets) (b) =] <1 (Current Liablilities)
(c) 79w (Investment) (d) goit (Capital)
34. 701 UAT & ARH & forg EAT © 2
(Sources of finance for the redemption of debentures are)
(a) o™l § ¥ @A (Redemption out of profit)
(b) goir # & e (Redemption out of capital)
(c) T Wi /FoI—u=AT & 9 | UT 0¥ (The proceeds from fresh issue of
share/debentue)
(d) SR |4 (All the above)
35. A7) AHf # emfde =18 & ?
(The term current assets don’t include)
(a) X&fcr@m  (Stock)
(b) <R (Debtor)
(c) @R (Car)
(d) 37 & @13 781 (None of these)
36. B & R faavor wroet rfafae 2013 @ fhd gRT & U9 & d8d IR 6
Sd g ?
(Under which section of the company Act 2013, the financial statement of a company in
prepared)
(a) 128 (b) 129 (c) 209 (d) 212
37. 99 JATHR IR0 # 3 fAaRo1 & b Ha &1 gfawd H T & Sl & 2
(In common size statement which item of income statement is calculated is percentage)
(a) BT oY (Total Profit) (b) g& T (Net Profit)
(c) faspa (Sales) (d) g€ 33 (Net Income)
38. o< Tqsetwor & forg Iuaver AH=I: UG © ?

(The most commonly used tools for financial analysis are)
(a) Jor-redep fdavor (Comparative Statement)
(b) M JMHR fdaroT (Common-Size-statement)

)

(c) o™i guTd (Accounting Ratios)

(d) SudaT F+T (All the above)
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39. TICTIH Yae YoTlell § 2
(Date base management system is a)
(a) BTSIWR g (Hardware system)
(b) IHedIR Tgha (Software System)
(c) 4 (Both)
(d) 37 & @I &1 (None of these)

40. TRIA ddhgd AT & 7

(Excel workbook is collection of)
(a) =S (Work book)

(b) g®gd (Workbook)

(c) a®ue (Worksheet)

(d) 7% & @13 &1 (None of these)
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Model Paper
Set — 111

Short Answer Type Questions
(org S yE)
fder - ye IR 1 9 10 TF dY SN U 2 dAT yAS @ forg 3 3w fFeiRa 2

Instructions : For Questions Nos. 1 to 10 are Short answer type and each question
carries 3 marks.

1. IMI—TY QraT R A—8I W H T4 3R ford |

(Write three differences between income and expenditure account and profit and loss

account.)

2. TP I 7 I WAl Bl e YR W WM 7 3R Td a9 & 3Mdhs Ay g & a¥
2015—16 & foIq U1t iR T @il 9918Y |

(A club has keep its accounts on cash basis and figures for the last year are given below.

Prepare the receipt and payment account for the year 2015-16.)

Uaer gedh dI U1 (Entrance fees received) Rs. 25,000
99 & SI9 9a- garn (Salary paid during the year) Rs. 20,000
39 9¥ & 31qd da (Outstanding salary of this year) Rs. 2,500

TEIRY UPHS 99 & YA H (Cash in hand in the begining) Rs. 2,500

QAlhR T fobrar ured ot (Loker’s rent received) Rs. 1,500

3. 9EEN BH & fdhal 9 fauyamll ol ford |
(Write any three features of a partnership firm)

4. ¥, 9 3R 9 (P IIEI P AEIGR © ora! Yol 1 AUl 2015 DI HAT: 2,00,000, H0
1,80,000 TAT WO 1,60,000 & | AHERI H &M &7 9o 324 # foar Smar g1 ay
2015—16 & foIg @ &1 A W0 2,40,000 T | 5 YT A &I R ¥ Yoll WR ATl Bl
O BHITY |
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(A, B and C are partners in a business having capital of Rs. 2,00,000, Rs. 1,80,000 and

Rs. 1,60,000 respectively as on April 1, 2015. The profit are distributed among partners
in the ratio at 3:2:1. The total profit for the year 2015-16 amounts to Rs. 2,40,000.
Calculate the interest on capital @ 5% P.A.)

5. 31 3R d Udb BH ¥ HAPER & Sl o™i Bl 32 & JJUd H died & o1 Ar—sI-1ai &l
FAF w9 H died b1 Aoy f&ar| o faure U | uRdds &1 fafy & awM—a1
G H W0 40,000 HT SfdT Y 3R HO 10,000 HT AHRI Herd AT | A faWTe S ard
H gRade & gd AM—8IN Wl & UV Ud GG G9d $ AR B AEad ST
yfafte HIfo |

(A and B are partners in a firm sharing profits in the ratio of 3:2 they decided to share
profits and losses equally on the date of change in the profit-shariti ratio, profit & loss
account showed a debit balance of Rs. 40,000 and a general reserve of Rs. 10,000.
Record the necessary journal entry for the distribution of the balance in the profit and loss
account and general reserve before the change in the profit-sharing & ration.)

6. RUIYA FT &7 fb=sl &1 UU & M T |
(What is debenture? Name any two kinds of debenture.)

7. 3, 9 3R ¥ Uh BH H AEER I IR Ml Bl 5:4:3 & U A 9Iord &)d 9| g 7
BT B fhar IR IFHT 21 31 AR I & dd aRIR—aRER (Ao far wam| o
IR T & T AH—TINTS IUTT @ TOFT DY |

(A, B and C were partners in a firm sharing profits in the ratio of 4:3. B retired and his

share was divided equally between A and C. Calculate the new profit-sharing ratio of A
and C.

8. 31U faseiyor & fehegl o sl &l qaetrd |
(State any three limitations of Ratio Analysis.)

9. U W b FATADl 4 W0 100 Ul Y aTel 5000 W Bl G IR w0 80 IrAAT bl
T ofl, S BR o7 BT 0T fBAr| 39 iUl &1 gRS ULH IrEET W W0 30 U 3y
3R SIfTH AT IR [0 20 UM Y BT YA el [HAT| AU Bl STil BT ASTAH]

gfafee T |

(The Direction of a company decided to forfeit 5,000 shares of Rs. 100 per share on
which called-up more, were Rs. 80. The bearer of these shares did not pay Rs. 30 per
share on first call and Rs. 20 per share on final call. Make journal entry for forfeiture of
the shares.

10. F=IfaRaa @ a1l Fwfadr gd & |
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(Calculate current assets from the following.)

fafder @FeR (Sundry creditors) Rs. 32,000
<7 faa (Bills payable) Rs. 12,000
HIINTS Yol Working Capital) Rs. 6,000

a4



Long Answer Type Question

FHEEGGRE R LS|
Ay . U7 ST 1 9 6 I Y SO UST § JAT Udd b fIU 5 3 fRaffRa 2

Instructions : For Questions No. 1 to 6 are Long answer type and each question carries 5 marks.

1. Balance sheet of Bijay Ltd as at 31.12.2016 was as follow.
31.12.2016 &1 fasra oo @1 anfdfa facer 59 UaR & —

Liabilities Amount Assets Amount
(%0) (%0)
Share capital (3wgsi) 1,60,000 Goodwill (zfa) 20,000
Capital Reserve (ol @=r) 3,000 Fixed Assets 1,50,000
(Rl \Hfa)

8% debentures () 40,000 Stock (Ffaan) 20,000
Bank overdraft 30,000 Debtors (GgR) 75,000
(d& srffae)
Creditors (dgR) 37,000 Cash [Ri&s) 30,000
Profit and loss (am—21) 45,000

320,000 320,000
Calculate the
(1) Current Ratio (i1) Liquid Ratio (1i1) Absolute liquidity Ratio

2. FrfaRad o & a¥ 2016 @ fOIQ UeAT dofd &1 SFH AT WEH @Il
FAGU—RIHE Y (1.01.2016) WO 2000 YT I, YdY Yo WO 400, Tl YT %0 800,

0ol 9 B gHraT UTd wo 80, fowraT fear wo 60, fohbe b TSl BT HI WO 25,
fehpc b docll BT HT W0 80 Y AT T w0 10 YN WIS ®0 5, dd- feaT

X0 100.

(From the following particulars prepare receipt and payment account of a club for the

year 2016 Rs 800, last years arrears received rs. 80, rent paid rs. 60, purchase of

cricket balls Rs. 25, parchase of cricket bats Rs 80, miscellaneous expenses Rs. 10,

purchase of stationery Rs5 ; salary paid Rs.100.)
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3. 3fa® folo 1 W0 500,000 & 8 % ZOMYAl Bl FRIHAT fbam RSIEH w0 1,50,000 BT
T & [Ty FA9ed W /O 1,50,000 BT 10% UIHAIH R T w0 2,00,000 HI I A
fy 7T w0 1,50,000 & FT & forg WifTe uferfd & w9 & A | <7 fafy &1
@1 AW T e fear |

el glaftedl gfafted! faxgersy |
(Alok Ltd. Issued Rs. 5,00,000 8% debenture, of which Rs. 1,50,000 were issued for
cash at par, another Rs. 1,50,000 at a premium of 10% and remaining Rs. 2,00,000 were
given to the Bank as collateral security of a loan of Rs. 1,50,000. The company did not
pay the loan on due date and the company transferred the collateral security as debenture
the bank.
Show the journal entries.

4. GG YOIl HFAT T 87 $HD [AUNArstl BT guiE Y |

(What is Joint Stock Company? Discuss its features.)

5. frfaRaa nfdfe facer x iR y &1 & Sif %1 & 9 AEIER 28—

IR IR WO | gHfa IHT W0
fafde oFeR 3250 NETS 2250
gsil x - 20000 40,000 fafqer a1eR 5000
Y = 20000 i 10,000
ey 6,000
T 20,000
43250 43250

I/ 2 BT 1,/3 2R R WEER H§ Yy =1 giHAfead fear| Z 51 w0 20,000 Yol iR
w0 5000 MG & forg ofFm giiftaa fear war| g ¢ ey gon o wdfevg sromed
AR & foy SeRI W 5% @ FaRT @I G| WTIdH 10% qAT U< I 25% A
T HR o S| a9 &1 oI I W0 22500 B faIT S | RIS @l
gfafeedl BTy |

(Following is the balance sheet & equal partners x and y.)

Liabilities

Amount (Rs.)

Assets

Amount (Rs.)

Sundry Creditors

3250

Cash

2250
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Capital — 40,000 Sundry debtors 5000
X —20,000 Stock 10000
Y —20,000 Patents 6000
Premises 20,000
43250 43250

They agreed to admit Z into partnership on 1/3 share. 2 agreed to bring Rs. 20000 for
capital and Rs. 5000 for goodwill. Goodwill money was to be retained in the business. It
was also agreed to provide reserve 65% for doubtful debts. Stock 10% and patents 25%
were to be depreciated. Premies were to be appreciated to Rs. 22,500. Make general
Entries.
6. Balance sheet of Bijay Ltd as at 31.12.2016 was as follows.
31.12.2016 &1 fasma foto &1 anfdie fuesT 39 UaR & —

Liabilities Amount (Rs.) | Assets Amount (Rs.)
Share Capital (39 gsi) 1,60,000 Goodwill (=) 20,000
Capital reserve 3,000 Fixed Assets (R wwufa) | 1,50,000
CSIRSER)
8% debentures 40,000 Stock (F&fcrm) 20,000
(8% ZRUT—7A)
Bank overdraft d® | 30,000 Debtors (9gR) 75,000
arfarfae)
Creditors (9gR) 37,000 Investment (fafe=im) 25,000
Taxation Reserve 5,000 Cash &) 30,000
CRESER)
Profit and Loss(cm—gT) 45,000

3,20,000 3,20,000

Calculate the

(1) Debt-equit Ratio (11) Solvency Ratio (i11) Proprietary Ratio
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Model Set — I11
Answer
Answer objective Qusestion.

1.(a) 2. (b) 3.(¢) 4.(d) 5. (b) 6.(a) 7. (b)
8.(c) 9.(c) 10.(b) 11(c) 12(c) 13.(a) 14.(a)
15.(a) 16. (b) 17.(b)  18.(a) 19.(a) 20.(b) 21.(c)
22.(c) 23.(b) 24.(a) 25. (c) 26.(a)  27.d) 28.(a)
29.(c) 30.(b) 31.(d) 32.(a)  33.c) 34.(d) 35 (c)

36(b) 37(a) 38 (d) 39(b)  40(c)

48



MODEL PAPER
SET —1I

g TR YTl & IR

Answer of Short Answer Type Questions

1. 3MY—FY WMl AR ™ BN @rel H i TG 3R & ?

L.

II.

I1I.

M- Gl IR—AYIRG AR §RT IR fHAT ST € Sidid A —gr
GrdT ARG U™l & gRT dIR fbar Sirar 8 |

M- Gl BT Iqe™ U Aftad @fy & fog ifeomy a1 &+ sha &= @
Safh AM—8TH @Il BT Iqa™ Yg o™ IT Yg BN A1 BRAT & |

JAI—Y WIAT WIS TG I Sar 9T SAfARad ol & AER IR dIR
BT SITaT © Safeh Av—8TH @Ml dede & JMER R GIR fHar ST ¢ |

Three main difference between Income and Expenditure Account and profit &

Loss as follow :-

L

II.

I1I.

Income and Expenditure account in prepared by Non-trading concern where
as profit and Loss Account is prepared by trading concern.

Income and expenditure is prepared for finding out the surplus’ or deficit of
a particular period where as P/L Ac it is prepared for finding out the net
profit and net lost.

Income and expenditure Account is prepared for receipts and payment

Account where as profit and loss account is prepared from Trial balance.
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2. P 33X —
In the Books of club
Receipt and Payments Account
(For the year 2015-16)

Receipts Amount Payment Amount
(rs) (Rs.)
To Balance b/d 2500 By salaries 20,000
To Entrance fee 25000 By Balanced 9,000
To Loker’s Rent 1500
29000 29000
3. Dl 3I<IX—

IRATT AR AR 1932 BT ORT 4 & IR, ARIGNT Afddal & §ra VT

T 2 S ol eI @& ol @7 dfes @ foly 9911 17T © a9 e el @

gRT 1 {5l U & §RT FIrT STl 2 |

ARER P 39 IRITYT & MR R 9GB! (9 eyl favyary € —

1. ARIEN a9 § $F ¥ &F & Al &7 8T TS ¢ |

2. WIRERI H a1 A7 31 9 1fde @fdqal & 9= srgewy a1 |wsiiar sF1 ey S
foRaa, #iRaw a1 <=1 81 Fdar 2|

3. Rl # wsiar Aftgd w9 o™ gd g1l & dfes @ ol g1 Aniey |

( As Per section 4 of the partnership Act 1932 “partnership is the relation between

persons who have agreed to share the profits of business on by all or any of them
acting for all”.

On the basis of above definition we find three following features of partnerships
business.

1. There should be two or more persons to form a partnership.

2. There should be an agreement between the partner which may be oral, written or

both.
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3. The agreement between the partner must be with the object of sharing profits

among all the partners.

. I 3TN —
Interest Payable to A = Rs. 2,00,000 x 5/100
=Rs. 10,000
Interest Payable to B = Rs. 1,80,000 x 5 /100
=Rs. 9,000
Interest Payable to C = Rs. 1,60,000 x 5/100
= Rs. 8,000
. Pl 3N —
Journal Entries.
Date | Particulars L.F. | Dr.(Rs.) | Cr(Rs.)
Ascapital A/c ...l Dr 24000
Bscapital A/C.......ooviiiinl. Dr 16000
To Profit & loss A/C 40,000

(Being undistributed loss
transferred to partners capital A/C
in their old ratio i.e. 3:2)

General Reserve A/c............. Dr 10,000
To A’s capital A/C
To B’S Capital A/C 6000
(Being transfer of general reserve 4000
to partner’s capital A/C in the old
ratio 3:2
. [ ITN —

FU—UF SHBIel AT I Yl BRI Bl Y He@aqul WA © | -5 B
MY 3 YIS H B S KT &I A0 oxar &1 R oIl H 89 &g Adhd & b

FO-UF Udh Yoid T Sl ST & §RT U 8RS §RT UTG K0T & YA & wC H
e ST 2 iR W= Ud UMR §IRT JRIT 8IaT © | RU-UF &I UHR & B 2 |
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1. RES FUT—uA
2. dled RU-UA
Debentues are one of the important sources of raising long term capital of fixed

capital. In common sense, by debentures we mean that document which creates loans. In
other words we an say that debentures a document given by a company as evidence of
debt to the holder usually arising out of a loan and most commonly secured by a charge.
Two types of debenture

1. Registered Debenture

2. Bearer Debenture

7. DI 37X —
Since B was taking 4/12" share in the profits, on his retirement his share will be

divided between A and C equally (i.e.1:1) then,
When A takes 2 of 4/12
1.e. 1/6 from B, his new share become
15/12+1/6 =5+2/12="7/12
When c takes 2 of 4/12 1.e.
1/6 from B, his new share becomes
3/12 + 1/6 = 3+2/12 = 5/12
(A and C’s) men profit-sharing Ratio is
7/12 :5/12
Or7:5
8. Pl I<IX —
3ruTa faeryor @t e W ffofad & -

1. T EIHhA 3ldhs Tefd U aald o |

2. IE TONHAS AQI BT el BT & |
3. o WR # uRade ¥ Ig HH J9d! B I ¢ |

Three limitation of accounting ratios are following.

1. False accounting date gives false ratio.
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2. Itignores qualitative factors.

3. Ratio analysis become less effective due to price level charge.

9. dl 3N —
Journal Entry
Date Particulars LF | Amount | Amount
Share capital A/C................ Dr 4,00,000
To Share forfeiture A/C 1,50,000
(5000 x Rs. 30)
To Share First Call A/C 1,50,000
(5000 x Rs. 20)
To Share Final A/c 1,00,000
(Being forfeiture of 5,000 shares
for non-payment of first call and
final call money)
10. T 3N —
Current Liabilities =32,000+12000
(=rme]. <TiI) = 44000

(=mel #fcT), Current Assets = Working Capital + Current Liabilites
Current Assets = 6,000 + 44,000

IS = 50,000
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MODEL PAPER
SET — I

e ST gl @ SN

Answer of Long Answer Type Questions

Long Questioin Answer

1. Current Ratio = Current Assets
Current Liabilities

= Rs. 1,50,000
Rs. 72,000 =2.08%

Working Note
Current Assets = Stock + debtor + Investment + Cash)
=20,000+75000+25,000 + 30,000 = Rs. 1,50,000

Current liabilities = Bank overedraft + Creditors + Taxation Reserve.

2. Liquid or quick Ratio = = Liquid Assets
Current Liabilities

= 130000
72000

Working note

Liquid Ratio + Current Assets-stock stick)

1.80:1

=1,50,000 — 20,000

=Rs. 1,30,000
3. Absolute Liquidity Ratio = Absolute Liquid Assets
Current Liabilities
= 55,000 =0.76%
72000

Working Note
Absolute Liquid Assets = Investment + Cash
= 25,000 + 30,000 = 55000

54



2. Receipts and payments accounts for the year ended 3157 December 2016

55

Receipts Amount | Payment Amount
(Rs.)
To Balance b/d 2000 By Rent 60
To Entrance Fee 400 By cricket Balls 25
To Subseription 800 By cricket bats 80
To arrears 80 By stationery 5
By salaries 100
By miscellneous Expenses | 10
By Balance C/d 3000
Rs. 3280 Rs. 3280
3. Amber Ltd
Journal Entries Dr. Cr.
Particulars L.F. | Amount | Amount
(Rs. (Rs.)
Bank A/c .cooiiiii Dr 1,50,000
To 8% Debentare A/C
Being Debenture issued at Par 1,50,000
Bank A/C........ooooil Dr 1,65,000
To 8% debenture A/C 1,50,000
To premium on debenture A/C 15,000
Being debenture issued at premium
Bank A/ Dr 1,50,000
To Bank Loan A/C
Being Loan taken from Bank 1,50,000
Debentures suspense A/C ......... Dr. 2,00,000
To 8% debentures A/C 2,00,000
Being debentures issued as collateral
security
Bank Loan A/c................ Dr. 1,50,000
8% debenture A/C.................... Dr. 50,000
To Debenture suspense A/C 2,00,000
Being collateral security is converted
into debentures for Non-payment &
Loan




4. BT IR —
HIHRT Yoll B B BT 9 THid! AR AEERT AUR 6 QN F qidd 9 &

UIT BT Wl 2, ATSIQIRT ARyl H 31 QN & ATF—1ef 31 AT # Yol ghear aret
D AT el BT AAT AT ITRQIAT I T UH IV & T9d RO 98 TAF W)
IR HRAT AT T8l BIaT | ARERI & d Aifd 89 & &R goll e A fauy
TH B s O Fadll © 3R IS AeRR &1f¥d A& § goil oo H wwed o §
IRNFAfY SRR S TRIA & HRU S I U< 8] &_d | Tl BT § 3
S ATTANIS SHISAl B T TS+ ol Al AIad Yoil bl S &I =R R
& femmT # eman |

JET Hel Ol & 6 Fa gl 6Iad Yol ] HH Sl TIIAT qrexdl erareal |
Scoll H HASld 0T 9 & I ¥ s Al W] SHGT dRddd B 1641 Al |
Y% BT 8 99 1568 H gl @l ASRMI YRTY & BRA A Udh |Igad Yol B Ha
& 0T B3 AT | 3T TAd] X SISAT HHAI BT TAT - I db 3E Zeivs
fe &1 1 i emEl BRAE gy b |

BAR JBI $70lve Bl PRl UR AT SR arell HHal BT JIR¥ 1850 A gal
AR F&I BT HHA—(II 1 STefe & & R W 2| 1866 # 30 IR H Tdh (I
UTH B3 AT | 99 A SOH F9I—97d TR 3Fd §uIed R gRads gU | idel g9 Il
IRAR BFAT STAIH 1956 © RTHH §RT HHAMAT & WRIYAT Tl FHATed &I FRIF0
BT 21 faw & Wl <Ol # o/ Wyad doh @ wEfal &1 o 't & ween faue
ERT I € |
fafr=r <9 & ST BT A W) ST & O IMRPBT H IadTId HRURYTA, 370iS
IR P Jool, <Nl H AIad Yol &l HFIT HEd & | offdh 3HdT Ry 3R fauwdg
Tl STTE T B B |

fagmt = 3ol gRMTYT 39 UBR &
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w0 B 7 AR WA Yol DI Al M B oY I8 TS AfdTAl B Th URed

AT & gt goll el Rl # favrford <&t & e Wi Jewdar & e

Bl B 1

IR Y A ® IR BRUNTA b D3 g 3R 3RYY Id & e

JRTIT D B DI C ¥ BT 2| BIA S IU 8 & BRUT 39 ddel dal v

YT YA & Ol §9 o F & 910 8] 99 = eRT Jodel IT gRiel ot ¥ 3fdeq 2idr ¢ |

Sudad aRwTErsil & HrE @ T ol fONvdd e g1 S 7 | 9@ JMER W
g9 B8 Adhd § & “Hgad Yo arell HFHl JadE—HITe &l 98 UTed © S faum gwT

T v g @fad 2 &k e w@rfia o saaidreiy ot § ¢ e 2 |

faersarg ar «eror

3T TRHTIIRH & AR TR HHT &l fINdY §9 ISR 2 —

1. Tt &1 YRoF FY — HUH WG HeAad gU Afdadl BT A9 By 8 | Aol
HAT H BH Y BH Gl SR FEGe ST H A Afdd B9 SasId & | Aol
AT H JffAhdH F&AT 50 AR AES D BT H IR D T N D H&T
ERT AT 8l ©

2. [qg™ @7 IUST — FAARIGH & 918 IARIE H 3M & BRI B DI [ B U
HBI ST € |

3. HFF AT — FHAT & TS HFIAT Bl T Afdd @ Wt H duTie A A
TR FHA 2| AN D AT S B A ¢ | q2F T WS- Fh! © | T8
TRl R U AH ¥ GHSHAT eIl Fahell © 3R ORI A IH W GHaH Il Adhd ©
9 UHR HHAI U Ffdd B ORE a9 B Faell o | b $H BRUT A FHEA
AT el ST & b Urepfies Afddl &I dRe ST BT 9 Al P ®9 BT & 3R
SEH 31T €1 BIT € |

The origin of Joint stock Company is the result or the efforts made to remove the

defect of sole trading and partnership in partnership, besides other deficiencies
liability to raise large amount & Capital and unlimited liability of members are two

suel defects because of which it is not possible to conduct a business on a lage scale.
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The number of partner’s being limited, capital can be raised up to a limited amount
and even if a partner is in a position to invest large amount of capital he does not like
to do soduce to the roks of unlimited liability in such a situation when treade and
commerce started develipin and when the need for large scale units was felt to run the
business. The idia of joint Company came to the mind businessman.

It is said that first the joint stock company was estellished in Italy in the 12"
century in order of Provide public loans but its actual development started form on the
basis of an order from the Queen Elizabeth of England. Lateron, East Idnia Company,
Hudson Bay Company, Banks of England etc. was formed by the Royal elirter.

In our country the first act for the registration of companien was passen in 1850.
This Act did not give based on England Company Low was passed in 1866. Since
then several amendments and changes has been invoduced in it from time to time. At
present in our county we thave the Indian Companies Act, 1956 by which the
establishment and working of companies is regulated.

In different country countries the company has different name 1.e. in United
Sated of America it is called Business Corporation and In England and Common
Wealth Countries, it is known as Joint Stock Company. Whatever its name may be, ito
form and characteristies are foundamentally the same in all places.

Eminent persons given own difination as the follows.

According to Prof Hancy “ A joint stock company is a votunary association of
individuals for profit having a capital divided into transferable shares, the ownership
of which is the condition of membership” In the words of Chief Justice Marshall “ A
corporation is an artificial being invisible, intangible and existing only in
contemplation of law. Being the mere creature of law it possesses only those
properties which the character of its cretion confers upon it, either expressly or as
incidentally to its very eistenes.

Though name of the above memtioned difinitions is complete in self yet they
together have indicated almost all the important characteristics we can define a joint

stock Company as a Voluntary Organisation will is an artificial person created by law.
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Having limited liability of its members and a perpeties succession with its capital

devided into transfevable share and which has a comman seel.

Charateristics

On him baises of various definitions the characterisatics of Company may be

described as follows.

1. Voluntary Association of Persons. — A Company is a voluntary association of
persons. At least two persons must come together to form a private company. A
public Company can be formed at least by recien persons. Thus, a single
individual cinmat constitute a company the maximum number of members is
fifty in case of a Private Company and there is no maximum limit to the
membershipof public Company.

2. Creature of Law : A a Company comes into existence only after incorporation
which requires observance of certain legal formalities, it may will be called a
creature of low.

3. Artificial Person — A Company has a personality of its own. Like a natural
person it can own property, conduct a law ful business, enter into contracts with
others and buy and sell property, all in tis own name. Again, it can sue others
and be used by others. But as it has nobody no soul and no conscience, it is

regarded as aftificial person.
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5. Answer —

Journal Entries.

Date Particulars Amount Amount
(Dr.) (Cr)
Bank A/C.................. Dr. 5,000 20,000
To Z’s capital
To Goodwill A/C 5000
(Being the amount of capital and goodwill
brought by Z.)
Goodwill A/C............... Dr 5,000
To x ‘s capital A/C 2500
To Y’s Capital A/C 2500
(Being goodwill credited to old partner’s
capital A/Cs)
Profit and loss adjustment ......Dr Rs. 2750 | 250
To Reserve for bad debts A/C 1000
To Stock A/C
To Patents A/C 1500
(Being assets depreciated and reserve for
boutful debt created)
Premises A/c .................. Dr 2500
To profit and loss Adjustment A/C 2500
(Being the amount of Appreciation on
premises)
X’s Capital A/C.........o.e.ete Dr 125
Y’s Capital A/C................... Dr 125
To profit and loss Adjustment A/C
(Being the amount of loss an adjustment 250
debited to old partners)
Working Note
Profit and Loss Adjustment A/C
To Reserve for|250 By Premises A/C 2500
D.D. 1000 By x’s Capital A/C 125 250
To Stock A/C 1500 By y’s capital A/C 125
To Patents A/C (Loss)
2750 2750
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Q.No. 6 . Answer

(1) Debt — Equit Ratio = Long terms debt
Propprietors fund ( Equita)

= 40,000 = S =0.19:1
2,08,000 26

Working Note

Proprietors fund = Share Capital + Capital Reserve + P & L A/c
=1,60,000 + 3000 + 45,000
= Rs. 2,08,000

If g9 AU B TUFT & TG Debt @1 1ef g FoT (Total Debt) ¥ oW TAT ST 2 o
CRUT—HHAT AJUTd 29 UThR 8NIT |

Debt + Equit Ratio = Total Debts
Equity

= 1,12.,000 =17 =0.54%
2,08,000 3

(i1) Solvency Ratio = Outside Liabilities (Total Debts)
Total Assets

= 1,12.000
3,20,000

= 7 =0.35:1
10

(i11) Proprietary Ratio = proprietors Funds
Total Assets

= 208000
320000

= 13 =0.65:1
20
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Model Paper
GECIMIES | (Accountancy)
Set -1V

gvg—1 (Section — 1)
q¥f’ss Y (Objective Type Question) 1 x 40 =40

fder - gy g=a1 1 9@ 40 9@ ¥ IR fAdew iy 1w 9 @ e 9 2| 9 e & g9
Ud SR yAa H faftga av |

Instructions : For Question Nos. 1 to 40 there are four alternative of which only one is correct choose
the correct alternative and mark it in the answer sheet.

Life membership fees received by a club is shown in.

(a) (Income-expenditure A/C)

(b) (Balance sheet)

(c) (Receipt and payment A/C)
(d) (None ot these)

All receipts of capital nature are shown in
(a) (Income-expenditure A/C)
(b) (Receipt and payment A/C)

(c) (Trading A/C)
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(d) (Balance sheet)

Unrecorded liability is shwon in new balance sheet seperately.

(a) (liabilites side)

(b) (Assets side)

(c) (Both side)

(d) (None of these)

Profit and loss on revaluation at eh time of retilement is shared by.

(a) (Remaining parthern)
(b) (All partern)

(c) (New parther)

(d) (None of these)

On the death of a partern in a firm payment are made to.

(a) (capital A/C)
(b) (executor's A/C)
(c) (Current A/C)

d) = (loan A/C)

In the event of death of a partner, the accumulated profits and losses are shered by the
partner in their.

(a) (old profit sharing ratio)
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(b) (New profit sharing ratio)

(c) (capital ratio)
(d) (None of these)
g

On dissolution of a firm, partner’s loan A/C in transfer to.

(a) (realisation A/C)

(b) (Partner’s capital A/C)
(c) (Partner current A/C)
(d) (None of these)

Expenses on dissolution of a firm are called.

(a) (realisation expena)
(b) (Legal expense)

(c) (Loss expense)

(d) (None of these)

On dissolution of a firm, redisation account is debited with.

(a) (All assets to be realised)

(b) (All liabilities of the firm)

(c) (Chash received on sale of assets)
(d)- (None of these)

On dissolution of the firm, parthern capital Accounts are closed through.

65



(a) (Realisation account)

(b) (Drawing account)
(c) (Bank account
(d) (None of these)

Which of the following is not transferred to realization account.

(a) (Balance of reserve)

(b) (Balance of reserve)

(c) (Balance of profit and loss account)
(d) (All of the above)

Discount on issue of shares is a

(a) (capital Gain)
(b) (capital Loss)

(c) (Revenue Gain)
(d) (Revenue Loss)

Dividend for the share holders are.

(a) (Payable tax amount)
(b) (Tax-free amount)
(c) (Interest)

(d) (None of these)
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Equity shareholder are

(a) (veditors of the company)
(b) (owner of the company)

(c) (Customers of the company)
(d) (None of these)

A company issues its shares at a premium under which section of the Indian company Act 2013.

(@) 78 (b) 52 c) 79 (d) 80

Balance of forfeited share Account after re-issue of forfeited share is tranferred to.

(a) (Profit & loss A/C)

(b) (Capital reserve A/C)

(c) (General reserve account)
(d) (None of these)

Shares can be forfeited.

(a) (For failure to attend meeting)

(b) (For non-payment of call money)

(c) (For failure to repay the loan to the bank)

(d) (For which share are pleged an a security)

Balance of share forfeiture Account is shown in the balance sheet under the item.

(a) (Reserves and surplur)
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(b) (Current liabilities and provision)
(c) (Share capital Account)

(d) (None of these)

Premium on redemption of debentures A/C is.

(a) (Asset) (b) (Liability)

(c) (Expense) (d) (Revenu)

Discount on issue of debentures.

(a) (Fixed Asset)
(b) (Current Asset)
(c) (Real Asset)
(d) (Fictitious Asset)

Debentures represent.

(a) (Director share in a company)

(b) (Investments by equity shareholder)
(c) (Long-term debt of the business

(d) (None of these)

Interest on debentures is paid.
(a) (At a variable rate)

(b) (At fixed rate)
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have
face

(c) (At diminishing rate)

(d) (None of these)

Generally debentures are.

(a) (Secured)
(b) (Unsecured)
(c) (Partly secured)
(d) (None of these)
Rs. 100 1000, 12% 10% 12%

A company issued 1000, 12% debentures of Rs. 100 each at 10% premium 12% stand for.

(a) (Rate of dividend)
(b) (Rate of tax)

(c) (Rate of interest)
(d) (None of these)

According to companies (share capital and debentures) rules, 2014 a company will

to create debenture redemption reserve equivalent to at least what percentage of
value of debentures that are redeemable.
(@) 10% (b) 25% (c) 70% (d) 100%

When debentures are redeemed out of profits, an equivalent amount is transferred to.
(a) (General reserv)

(b) (Debenture redemption reserve)
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(c) (Capital reserve)

(d) (None of these)

Under which heading of balancesheet is general reserve shown.

(a) (Miscellaneous expenditure)
(b) (Share capital)

(c) (Reserve and surplus)
(d) (None of these)

Current assets on the asset side of balancesheet of a company includes.
(a) (Sundry debtors) (b) (Cash in hard)

(c) (Stock) (d) (All of these)

Debit balance of profit and loss statement will be shown on.

(a) (Assets side of balancesheet)
(b) (Libilities side of balancesheet)
(c)

(Under the head reserves and surplus as a negative item)

(d) (None of these)

Patents and copyrights fall under the category of.
(a) (Current assets)

(b) (Liquid assets)
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(c) (Intargible asset)

(d) (None of these)

The most commonly used tools for financial analysis are.

(a) (Horizontal analysis)
(b) (vertical analysis)
(c) (Ratio analysis

(d) (All the above)

Short term financial & position will improve with.

(a) (Increase in current assets)
(b) (Increase in current liabilities)
(c) (Decrease in current liabilities)
(d) (None of these)

The main object of analysis of financial statement is.

(a) (to knowledge of profitability)

(b) (To check financial statements)
(c) (To statisfy beneficiary)

(d) (None of these)

Rs. 10,00,000
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If total assets of a firm are Rs. 10,00,000 and its non-current assets are Rs. 6,00,000
what will be the percentage of current assets on total asset?

(@) 60% (b)  50% c) 40% d) 30%

Which of there are not the method of financial statement analysis?

(a) (Ration analysis)

(b) (Comparative analysis)

(c) (Trend analysis)

(d) (Capitalisation method)
Liquidity ratios.

(a) (Activity ratio)

(b) (Profitability ratio)

(c) (Liquidity ratio)

(d) (None of these)

The term current assets include.

(a) (Long term investment)
(b) (Short term investment)
(c) (Furniture)

(d) (Preliminary Expensa)

Which of the following item is considered as cash equivalent?
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(a) (Bank overdraft)

(b) (Bills receivable)
(c) (Debtors)
(d) (Short term investment)

Which of the following item is not considered on cas equivalent?

(a) (Bank overdraf)

(b) (Commercial paper)
(c) (Treasury bill)

(d) (Investment)

Which of the following is helpful in decision making.

(a) (Accounting information system)
(b) (Management information system)
(c) (Pay roll)

(d) (General ledger)
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Model Paper
Set — IV

Short Answer Type Questions
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Instructions : For Questions Nos. 1 to 10 are Short answer type and each question
carries 3 marks.

What do you mean by capital payment and revenue payments.

How would you treat the following items in the case of a not for porfit organisation

Rs.
(Tournament fund) 40,000
(Tournament Exapenser) 14,000
(Receipts from tournament) 16,000

What is profitability Ratio?

Rs. 40,000, Rs. 50,000, Rs. 60,000, Rs. 50,000, Rs. 60,000

74



Compute the value of goodwill on the basis of 4 years purchase of the average
profit of the last five years. The profit for the last five years were an follow!

Rs. 40,000, Rs. 50,000, Rs. 60,000, Rs. 50,000, Rs. 60,000

State three difference between sacrificing ratio and Gaining Ratio.

A B 3:2 c 1/3

A and B who share prfit in the ratio of 3:2 admit c to given him 1/3rd share. Calculate
the new profit sharing ratio.

What is different steps involved in the analysis of accounting ratio.

A company issued 1,00,000 equity share of Rs. 10 each to the public. All amount have
been received in lump-sum. Pass the Journal.

From the following particular, calculate cash flow from inventing activities.

(fixed assets at the beginning of the year) 2,00,000
(Fixed asset at the end of year) 3,00,000
B
Rs. 100 200, 7% 5%

Rs. 100 200, 7% 4%
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Pass the necessary journal entrities in the books of B Ltd. in the following case.

(@) 2000, 7% debentures of Rs. 100 each have been issued at 5% discount and are
redecmable at per.

(b) 2000, 7% debentures of Rs. 100 each have been issued at 4% premium and are
redeemable at per.
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Long Answer Type Question
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Instructions : For Questions No. 1 to 6 are Long answer type and each question carries 5 marks.

1. From the receipt and payment account given below prepare the income and
expenditate account of clean Arwal club for the year ended march 31, 2016.

Receipt and payment account for the year ending march 31 2016

2.  Ram and Sohan are partners in a firm sharing profits and losses in the ratio of 3:2.
Rahul is admitted into partnership for 1/3 share in profits. He lerings in Rs. 10,000 as
capital but is not in a position to liring any amount for his share of goodwill which has
been valued at Rs. 30,000. Give necessary journal entries under each of the
following situations:

(@) When there is no good will appearing in the books of the firm.ation analysis)
(b)  When the good will appears at Rs. 15,000 in the looks & the firm.

(c) When the good will appears at the Rs. 6,000 in the looks & the firm.
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Rs.

10,000

(a)

(b) Rs. 15,000
(c) Rs. 6,000

3. Amber King India Limited issued 1,00,000 equity shares of Rs. 10 each at a discount of
Rs. 1 per share payable as follows.

Rs. 1 1,00,000 Rs. 1
On Application ... 2 Including Discount
On Allotment ... 3
OnFirstCall ... 3
On Applicaton ... 2

All shares offered were subscribed by publilic and cash duly received.

make the necessary journal entries.

4. ABC Rs. 100 10,000, 6% Rs. 40
9000

ABC Ltd issues 10,000, 6% dilienture of Rs. 100 each payable as Rs. 40 on application
and remaining amount on allotment. The public applied for 900 delienture which were fully
allolted and all the relevant allotment money duly received. Give journal entries in the looks of
ABC Ltd. and show the position in the balance heet.

5. For the following balance sheets as on 31st December 2016 you are required to
prepare a cash flow statement.
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Ans 1.

Short Answer type Questions

Capital Payment:—The payments made to purchase of permanent assets or to improve

them with a view to increase the earning capacity are known as capital payments. They are

shown on the assets side of the balance sheet. Example purchase of plant and machinery,

purchare of building.

Revenue payment:—All the payments which are of recurring nature and of small amount

are known as revenue payment, e.g. payment of rent, salary, postage and stamp, stationary

etc.
Ans.2.
Balance sheet (as on...............
Liabilities Amount Assets Amount (Rs.)
(Rs.)

Tournament Fund 40,000
Add. Receipt from
Tournament Expeses 16,000

56000
Les Tournament

Expenses 14000 | 42,000
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Ans. 3.

Profitability ratio measure the various aspects of the profitability of a company. Such as
what is the rate of profit on revenue from co-operation? Whether the profit are increasing or
decreasing and if decreasing the causes of then decrease.

Ans. 4.

Total Profit:

Rs. 40,000 + 50,000 + 60,000 + 50,000 + 60,000

=Rs. 2,60,000

Average profit = Total profits/No of years.
= 2,60,000/5=Rs. 52,000

Goodwill = Average profit x No of years purchase
= 52,000 x 4
= Rs. 2,08,000 Ans.

Ans. 5.
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Three difference between sacrificing ratio and gaining. Ratio on follows.

(1)  Meaning:—Sacrificing ratio is the ratio in which the old parthers surrender their
share of profit is the ratio in which the old parthern surrender their share of profit in
favour of the new parther where as gaining ratio is the ratio in which the remaining
parthern as here the retiring parther’s share of profit.

(2) When calculated:—Sacrificing ratio is calculated at the time of retirement or death
of a parther.

(3) Method of Calculation:—Sacrificing ratio is calculated by deducting new ratio from
the old ratio where as Gaining ratio is calculated by deducting old ratio from the new
ratio.
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Ans. 6.
Calculation of new profit sharing Ration.
Profit sharing ratio of A and B = 3:2 =3/5 x 2/5
Let total profit of the new firm be 1.
share givento C = 1/3
Now 1-1/3=3-1/3=2/3 (A+B)
A’ s share = 2/3 x 3/5 = 6/15
B’ s share = 2/3 x 2/5 — 4/15
C’ s share = 1/3 or 5/15
Therefor New profit sharing
ratio of A, Band C
=6/15: 4/15: 5/15
=6:4:5

Ans 7.

Steps involved in the analysis of account ratio.

(1)  Selection of relevent date from the financial statement depending upon the
objective of the analysis.

(2) Calculation of appropriate ratio from the above data.

84



(3) Comparision of the calculated ratios with the ratios of the same firm the pantor

the ratio of same other firm.

(4) Interpretation of the ratios.

Ans. Q.No. 8.

Journal entries

Dr. Cr
Date Particulars L.F. | Amount Amount
Bank A/C .., Dr 10,00,000
To equity share application A/C) 10,00,000
(Being application money receive) on
1,00,000 Share Rs. 10 each)
Equity share Application A/c .................. Dr 10,00,000
To equity Share capital A/C 10,00,000
(Being transfer of application Money to
share cap Alc
Ans 9. Calcuation of cash flow from investing activities.
Particulars Amount
Fixed assets at the end of the year 3,00,000
Less : Fixed Assets at the beginning of the year 2,00,000
Ner cash used in Inventry Activities 1,00,000
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Ans. 10

Journal Entries.

Dr. Cr.
Date Particulars L.F. | Amount Amount
(a) Bank A/C ..o Dr 1,90,000
Discount on Issue of 7%
Debenture A/C ... Dr 10,000
To 7% Debentures A/C 2,00,000
(Being 2,000, 7% debentures at 5%,
discount and redeemable at par
(b) Bank A/C ... Dr 2,08,000
To 7% debentures A/C 2,00,000
To Premium on issue of debenture A/c 8000

(Being 2000, 7% deb. Issued at 4 %
premium and redeemable at par)
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MODEL PAPER
SET — IV
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Answer of Long Answer Type Questions

Ans. 1
Book of Clean Arwal Club
Income and expenditure account
For the year ending March 31, 2016
Dr. Cr

Expenditure Amount(Rs.) | Income Amount (Rs.)
Salary 1500 | Subscriptions 22500
Rent 800 | Entrance Fee 1250
Electricity 3500 | Donation 2500
Taxes 1700 | Rent of hall 750
Printing $ Stationary 380
Sundry Expenses 920
Surplus 18200
(Excess of Income over
Expenditure)

27000 27000
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Ans. 2

(a) When No. goodwill appears in the books

Books of Ram & Sohan

Journal Entries.

Dr. Cr.
Date Particulars L.F. | Amount Amount
CashA/C.......cccoiviiiiiins Dr 10,000
To Rahul Capital A/C 10,000
(Being Amount brought by Rahul as a
capital)
GoodWill A/C..oeiiii . Dr 30,000
To Ram’s Capital
To Sohan Capital 18,000
(Being goodwill raised at full value in 12,000
the old profit sharing Ratio
Working
30,000 x 3/5 = 18000 30,000 x 2/5 =12000
(b) Whe goodwill appears in the book at Rs. 15,000
Journal Entries.
Dr. Cr.
Date Particulars L.F. | Amount Amount
CashA/C.......coooeiiiiiin, Dr 10,000
To Rahul Capital A/C 10,000

(Being Amount brought by Rahul as a
capital)
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Goodwill A/C....ccoeviiiiiii Dr
To Ram’s Capital
To Sohan Capital

(Being goodwill raised at full value in
the old profit sharing Ratio

15,000

9000
6000

Working —

15,000 x 3/5 = 9000

15,000 x 2/5 =6000

(c) When the goodwill appears in the books at Rs. 6000

Journal Entries.

Dr.

Cr.

Date

Particulars

L.F.

Amount

Amount

CashA/C.......ccoeiiiiiinl. Dr
To Rahul Capital A/C

(Being Amount brought by Rahul as a
capital)

10,000

10,000

Ram Capital Alc........c.ccoeo.. .. Dr
Sohan Capital a/c..................... Dr
To goodwill A/C

(Being goodwill brought drawn to its
agreed values)

3600
2400

6000

Working

6000 x 3/5 = 3600
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Ans. 3
Book of Amber King India Ltd.

Journal Entries.

Dr.

Cr.

Date

Particulars

L.F.

Amount

Amount

Bank A/C. ... Dr.
To Equity Share Application A/C

(Being Application money received on
1,00,000 shares @ Rs. 2 each

2,00,000

2,00,000

Equity share application A/C......... Dr.
To Equity share Capital A/C

(Being Application money transferd to
share capital a/c on 1,00,000 shares @
Rs. 2 vide Board’s resolustion No....dt.)

2,00,000

2,00,000

Equity share allotment A/C......... Dr
Discount on shares A/C
To Equity Share Capital A/C

(Being Allotment money Rs. 2 per share

due on 1,00,000 share and discount @ Rs.

1 per share allowed vide Boards resolution
No....Dt.....)

2,00,000
1,00,000

3,00,000

Bank A/C.......ccoiiiiin Dr
To Equity Share Allotment A/C

(Being allotment money received on
1,00,000 shares @ 2 per share

2,00,000

2,00,000

Equity share first call Alc.............. Dr.
To equity share capital A/C

(Bieng share first calls @ 2 each due on

3,00,000

3,00,000
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1,00,000 shares vide resolution
no....dt......... )

To Equity shares first call A/C

(Being first call money @ 3 each received
on 1,00,000 shares)

3,00,000

3,00,000

Equity shares second & Final call A/c....Dr
To equity shares capital A/C

(Being share final call money @ Rs 2 due
on 1,00,000 shares vide resolution

2,00,000

2,00,000

Bank A/C ..o Dr.
To Equity share second & Final Call Ac

(Being share final call money received on
1,00,000 shares @ Rs. 2 per share

2,00,000

2,00,000

Ans. 4

In The Books of ABC Limited

Journal Entries.

Dr.

Cr.

Date

Particulars

L.F.

Amount

Amount

Bank A/C......ccooiiiiiiii Dr
To 6% debenture Application A/C

(Being debenture application money
receied on 9000 debenture @ Rs 40 each

36,000

36,000
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6% Debenture Application A/IC ............ Dr 36,000
To 6% debenture A/C 36,000
(Being debenture application money
received on 9000 debentures @ Rs. 40
each transferred to debenture A/c
6% debenture allotment A/C........... Dr 54000
To 6% debenture A/C 54,000
Being debenture allotment money received
9000 debentures @ Rs. 60 each
BanK A/C.....ooiiii i Dr. 54,000
To 6% debenture allotment A/C 54,000
(Being debenture allotment money
received on 9000 debentures @ Rs. 60
each
Balance Sheet of ABC Ltd
AsSON......cccovviiiiiiinnnnn.
Capital and Liabilities Amount Assets and | Amount (Rs.)
RS. Properties
Secured Loan : Current Assets
6% debentures 9,00,000 | Cash at Bank 9,00,000
(9000 denemtires @ 100 each)
9,00,000 9,00,000
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Ans. 5

Cash from operation

Profit & Loss A/C Balance on 31.12.2016 90,000
Add Increase in general reserve being appropriation of profit 10,000
in 2016

1,00,000
Less profit loss A/C balance on 31.12.2015 50,000
Net profit for the year 2016 50,000
Add non-cash item in P&L A/C 10,000
Goodwill written of (560,000-40,000)
Cash from operations 60,000

Ans. 6.

Goodwill is that amount which is taken from business point of view in lew as profit
object and properly known as non-refundable amount “Pagari or Salami” According to Eldon —
“Goodwill is the profitblity tha old customer wil resort to the old place”. According to Dicksee “
When a man pays for goodwill be pays for something which places him in the position of
being able to earn more money than he would be able to due by his own unaided efforts.”

According to Machnagthtern “ Goodwill is the benefit and advantage of the goodwill name,
reputation and connetion of the business”.

Valuation of Goodwill

(i)  Admission of a new partner
(i)  Retirement or Death of a partner
(iii) Change of profit and loss distribution
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(iv)
(v)

Dissoluation of partnership
Sale of conversion.
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Model Paper
Set-V

Accountancy

Instruction:—In the following questions there are four option of which only one is correct. You
have to choose the correct option and mark in the answersheet.

(The excess of assets over liabilities in non-trading concern is treated as)
(a) (Capital fund) (b) (Capital)

(c) (Profit) (d) (Deficit)

(In non trading concern excess of income over expenditure is called.)

(a) (Profit) (b) (Surplus) (c) (loss) (d) (Deficit)

(For the firm, interest on drawing is a.)
(a) (Gain) (b) (Expenses)

(c) (Loss) (d) (None of these)

(In the absence of partnership deed, partners are not entitled to receive.)
(a) (salaries) (b) (Commission)

(c) (Interest on capital)(d) (All of these)
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(Interest on partner’s capital is calculated on.)

(a) (Capital in the beginning)
(b) (Capital at the end)

(c) (Average capital)

(d) (None of these)

(Share application account is)

(a) (Personal A/C)
(b) (Real A/C)

(c) (Nominal Account)
(d) (None of these)

(Under the provision of companies act, a company can issue.)

(a) (Only equity share)

(b) (Only preference share)

(c) (Preference share and equity share)
(d) (None of these)

(A company can not issue its share at discount under the provision of which section of
companies act 2013.)

(@) 78 (b) 53 (c) 52 (d) 53

(Shares may be issued.)

97



(a) (At par value)

(b) (At premium)
(c) (At discount)
(d) (All the above)

(Capital included in the liabilities of a company is called.)

(a) (Authorised capital)
(b) (Issued capital)

(c) (Paid up capital)

(d) (All of these)

(Sacrificing ratio.)

(a) (New ratio—old ratio)
(b) (Old ratio—New ratio)
(c) (Gaining ratio—old ratio)
(d) (old ratio—gaining ratio)

(Gaining ratio)

(a) (New ratio—old ratio)
(b) (Old ratio—secrificing ratio)
(c) (Old ratio—secrificing ratio)

(d) (None of these)
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(What do you mean by super profit)

(a) (Total profit/no of years)

(b) (Average profit/Normal profit)

(c) (Weighted profit/no of year purchase)
(d) (None of these)

(An asset which is not fictitious but intangible in nature, having realisable value is.)
(a) (Machinery) (b) (Building)
(c) (Goodwill) (d) (Furniture)

Rs. 4,000,
Rs. 5,000 Rs. 6,000

(What will be the value of goodwill at two the average of last three years profit years
were Rs. 4,000, Rs. 5,000 and Rs. 6,000.)

(a) Rs.5000 (b) Rs.10,000 (c) Rs.8,000 (d) Rs.15,000

(The excess of actual profit over the normal profit is called.)
(a) (Super profit) (b) (Fixed profit)

(c) (Net profit) (d) (None of these)

(Goodwill means)
(a) (Famous name)
(b) (Famous product)

(c) (Good reputation of business)
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(d) (None of these)

(Which of the following asset is compusorily revalued at the time of admission of a new

partners.)
(a) (stock) (b) (Goodwiill)
(c) (Intestment) (d) (Building)

(At the time of admission oa a new partner, general reserve appearing in the old
balance sheet is transferred to.)

(a) (All partner’s capital account)
(b) (New partners capital account)
(c) (Old partner’s capital account)
(d) (None of these)

(A, B and C are partner in a firm D is admitted as a new partner.)

(a) (Old firm is dissolved)

(b) (Old firm and old partnership is dissolved)
(c) (Old partnership reconstituted)

(d) (None of these)

(A the time of admission of a new partner, undistributed profits appearing in the balance
sheet of the old firm is transferred to the capital account of.)

(a) (old partner in old profit sharing ratio)
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(b) (old partner in new profit sharing)

(c) (All the partners in the new profit sharing ratio)
(d) (None of these)
A B 3:1 C 1/4

A B

(A and B share profit and loss in the ratio of 3:1. C is admitted into partneshp for 1/4
share. The scrificing ratio of Aand B is.)

(a) (equal) (b) 31 (c) 21 (d)y 3:2

X, Y z 3:4:3 y X

y X y

(x, y and z are partners sharing profit in the ratio of 3:4:3. y rentires and x and z share
his profit in equal ratio final the new ratio of x and y.)

(@ 1:2 (b) 21 (c) 31 (d)y 11

A, B C 5:3:2

(A, B and C are partner with profit sharing ratio an 5:3:2 a retires. Find the gaining
ratio.)

(@) 3:2 (b) 5:3 (c) 52 (d)y 2:2

(Which of the following is transferred to realisation account.)

(a) (Balance of cash A/C)
(b) (Balance of profit and loss A/C)
(c) (Amount realised on sale of assets)

(d) (Reserve)
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(On dissolution of firm, loss calculate in realisation account in debited/credited to which

account.)

(a) (Cash account credit)

(b) (Partners capital account debit)
(c) (Partners capital account credit)
(d) (None of these)

(On dissolution of a firm, Bank overdraft is transferred to.)

(a) (Cash account)

(b) (Bank Account)

(c) (Realization Account)
(d) (None of these)

(On dissolution of a firm, partner’s loan account is transferred to.)

(a) (Realisation A/C)

(b) (Partner’s capital A/C)
(c) (Partner’s current A/C)
(d) (None of these)

Rs. 10 2000

(Diwakar hold 2,000 shares of Rs. 10 each of a company on othe these he paid
application and allotment money of Rs. 6 per share but failed to pay the first and final
call of Rs. 4 per share. His shares will be transferred to.)

(a) (share capital A/C)
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(b) (First and final call A/C)
(c) (Share for teiture A/C)

(d) (None of these)

(Premium on issue of debenture is)

(a) (Revenue receipt)
(b) (Profit)

(c) (Capital receipt)
(d) (None of these)

(The balance of sinking fund account after the redemption of debenture is transferred
to.)

(a) (Profit & loss account)

(b) (Profit & loss appropriation A/C)
(c) (Reserve A/C)

(d) (None of these)

(Profit on cancellation of own debentures is transferred to.)
(a) (Profit & loss A/C)
(b) (Profit & loss appropriation A/C)

(c) (Capital reserve account)
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(d) (None of these)

(The form of balance sheet is.)
(a) (Horizantal) (b) (Horizontal or vertical)

(c) (Vertical) (d) (None of these)

(Which section of the companies act 2013 makes compulsory for every company to
keep proper books of accounts.)

(a) (Section) 128
(b) (Section) 129
(c) (Section) 212
(d) (Section) 213

(Dividend is usually paid.)

(a) (on Authorised capital)
(b) (on issued capital)

(c) (on paid up capital)

(d) (on called up capital)

(Interpretation of financial statements includes.)
(a) (criticisms and analysis)
(b) (comparison and trend analysis)

(c) (Drawing conclusion)
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(d) (All the above)

(Financial analysis is useful.)

(a) (For investors)

(b) (For share holder)

(c) (For debentureholder)
(d) (All the above)

(Comparative statements are also known as.)

(a) (Dynamic analysis)
(b) (Horizontal analysis)
(c) (Vertical analysis)
(d) (None of these)
Rs. 12,000 Rs. 9,000

(If total asset of a firm are Rs. 12,000 and its non-current assets are Rs. 9,000. What
will be percentabe of non-current assets to total asset.)

(@) 50% (b) 75% (c) 25% (d) 80%

(Cash sales is)

(a) (operating activity)
(b) (Investing activity)
(c) (Financing activity)

(d) (None of these)
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Model Paper
Set-V

Short Answer Type Questions

(org, S ye)

fder - ye IR 1 9 10 TF dY SN U 2 dAT yAS @ forg 3 3w fFeiRa 2

Instructions : For Questions Nos. 1 to 10 are Short answer type and each question
carries 3 marks.

State three limitation of receipt and payment account.

How would you treat the following items in the case of a non for profit organisation.

(i) (Match fund) 1-4-16 40,000
(i) (Sale of match tickets) 15,000
(iii) (Expenses on match events) 60,000
A B 3:2
10% Rs.

24,000 Rs. 16,000

A and B are partners in a firm. They share profit and losses in the ratio of 3:2 As per
their prartnership agreement interest on drawing is to be charged @ 10% p.a. Their
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drawing during 2016 were Rs. 24,000 and Rs. 16,000 respectively. Calculate interest
on drawing based on the assumption that the amounts withdrawn evenly, throught the
year.

X,y z 4:3:2

X, y and z are partners sharing profit and losses 4:3:2. Now they decided to share profit
equally in future caculate their sacrificing or gaining ratio.

X y 2/3 1/3 2
Rs 30,000 Rs. 9,000 1/6

On 1st Jan 2016 x and y sharing profit in the ratio of 2/3 and 1/3 respectively, agree to
admit 2 in to partnership on condition that he pay Rs. 30,000 as capital and Rs. 9,000
for 1/6 the share of goodwill which he acquires equally form x and y. Give necessory
journal entries in the received these transction.

Explain the uses of cash flow statement.

Make Journal

What journal entries would you pass for the following transction on the dissolution of a
firm of partner A and B dissolution of a firm of partner A and B.

(i) (Dissolution expense amounnted to Rs. 500)
(i) (Unrecorded asset realised Rs. 2,500)

(iif) Rs 4,000 3:1
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(Profit on realisation Rs. 4,000 is to be distributed be these partners A and B in
the ratio of 3:1.

3:1 Rs. 30,000 Rs. 60,000

Suresh Ltd has current ration of 3:1. It its stock is Rs. 30,000 and total current liabilities
are Rs. 60,000. Find out its quick ratio.

What entries are dove in case forfeiture and re-issue of share.

Radha Ltd purchased machiner worm Rs. 4,00,000 from Krishna Ltd. on 01-01-2016

Rs. 1,00,000 were paid immediately and the balance was paid by issue of Rs. 2,80,000

12% debentures in Radha Ltd. Pass the necessary Journal entries for recording the
transctions in the books of Radha Ltd.
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Long Answer Type Question
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Instructions : For Questions No. 1 to 6 are Long answer type and each question carries 5 marks.

1. The following is the balance sheet of Bhara Manufacturing co. Ltd. as on 31st Dec.
2016

From the above data calculate the current ratio and quick or acid test ratio.

2. Journalise the following transactions:

(i) Issued 10000, 6% debenture of Rs. 100 each at par, repayable after 5 year at
par.

Rs. 100 10,000, 6%

(i)  Issued 10000, 7 1/2% debenture of Rs. 100 each at a discount of 10% repayable
at par after 5 years.

Rs. 100 10000, 7 1/2% 10%

(iii)  Issued 10,000, 6% debenture of Rs. 100 each at a premium of 10% repayble at
par after 5 years.
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Rs.100 10000, 6% 10%

Sanny and Hanny are partners in a business sharing profits and losses in the ratio of
3:2. Their capital are Rs. 20,000 and Rs. 15,000 respectively.

On 18th January 2015 they admit chintu for onefifth share in the business who beings
in Rs. 16,000 as his capital. As Chintu is unable to bring any thing more. It is agreed to
raise Rs. 8000 for goodwill to he credited to the old partners capital accounts.

Prepare Journal entries and show the partner’s capital accounts and goodwill account
when goodwill is to be maintained in the books.

3:2 Rs. 20,000
Rs. 15,000 1/5th Rs. 16,000
Rs. 8,000

Singh and Sinha are partners in a business sharing profit and losses in proporation of

2/3 to Singh and 1/3 to sinha. They agree to dissolue the partnership on 31st
December 2016, when their balance sheet showed the following position.

Liabilities Amount Assets Amount
Rs. Rs.
Sundry creditors 4100 Cash in hand 1200
Bills payable 4100 Delifors 7030
Singh’s loan A/C 4600 Stock 4400
Capital 10,400 Building 10,620
Singh—7600
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Sinha-2800

23250 23250

The assets were realised as following:—

(a)
(b)
(c)

The Debtors realised Rs. 6000
The stock realised Rs. 3620

The building realised Rs. 2210 less than its Book value

The expenses of liquidation amout to Rs. 660. Rs. 660
Creditior were paid Rs. 4,000 only. Rs. 4,000

Given the neccessary journal entries.

From the information given below, draft receipt and payments account of Patna Lion
club, Bihar for the year ended 31 march 2016.

Cash on April 1st 2015 Rs. 4,400, Subscribtion, Rs. 37,600 Donation Rs. 8000,
entrance fees Rs. 4300, Rent realised from club hall Rs. 5250, electric charges Rs.
3440, Taxes Rs. 500, Salaries and wages Rs. 21,500, Honoriarium to secretory Rs.

2500 intrest received on investment Rs. 2950 printing and stationary Rs. 350 pettycash

payments Rs. 900 Insurence premium paid Rs. 310.

What is partnership. Discuss its elements.
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Model paper
Set-V

Accountancy

Ans Q.No. 1.

(1)

(2)

(3)
Three following are the limitatiion of receipt and payment account.

(i) It does not provide information about income and expenses of the accounting
period. It only reveals the amount of income and expenses in cash.

(i) It does not help in judging the financial position of the organisation as it shows
cash and benk transctions only. It does not show other assets and liabilities.

(iii) It does not show surplus deficit.

Ans Q.No. 2.
Match fund 40000
Add: sale of match tickets 15000
55000
Less. expenses of match events (60000)

Amount to be showns on the

debit side of income & exp. A/C. 5000
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Income & expenditure account.

Expenditure Rs. Income Rs.
To match expense 5,000
Ans Q.No. 3.
Calculation of interest on drawings
A B
Drawings Rs. 24,000 Rs. 16,000
Rate of interest on drawing 10% p.a. 10% p.a.
Interest on Drawing 24,000x10/100x6/12 | 16,000x10/100x6/12
=Rs. 1200 = Rs. 800
Ans Q.No. 4.
X:4:2

oldrato=4:3:20r4/9:3/9:2/9

New ratio = equally =1/3:1/3: 1/3

Sacrifice or gain = old Ratio — New Ratio
x’s gain or sacrifice = 4/9 — 1/3 = 4 — 3/9 = 1/9 (sacriface)
y’s gain or sacrifice = 3/9 — 1/3 = 3 — 3/9 = 0 (No change)
Z’s gain or sacrifice = 2/9 — 1/3 = 2 — 3/9 = 1/9 (gain)

Ans Q.No. 5.

Journal entries

Date Particulars L.F | Amount | Amount
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(Being old partner capital A/C credited with
goodwill in sacrificing ratio)

Rs. Rs.
Cash A/C.....cooeiiiiii, Dr 39,000
To 2’s capital A/C 30,000
To premium A/C 9,000
(Being cash brought in the capital and one sixth
share to goodwill.)
Premium A/C......oooiiii . Dr 9,000
To x’s capital A/IC 4,500
To y’s capital A/C 4,500

Ans Q.No. 6.

Uses of cash flow statement are followings.

It helps in preparing the cash budget.
It helps in comparision with the cash budget.
It is useful for short term financial planning.

It is helpful in making dividend decisioun.
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Ans Q.No. 7.

Journal entries

(Being profit on realization transferred to partner
capitl A/C in the ratio of 3:1)

Date Particular L.F | Amount | Amount
Rs. Rs.
(1) | Realisation A/C...........ccvviiiinnnnn. Dr 500
To Bank A/C 500
(Being redisation expence paid)
(2) |BankA/C....c.coiviiiiiiiiiii, Dr 2,500
To realization A/C 2,500
(Being unrecorded assets realised)
(3) | Realisation A/C.........ccocviiiiiiiiin.. Dr 4,000
To A’s capital A/IC 3,000
To B’s capital A/IC 1,000

Ans Q.No. 8.
Current assets = Current liabilities x 3
= Rs. 60,000 x 3
= Rs. 1,80,000
Quick ratio = Current assets — stock

= Rs. 1,80,000 — 30,000

= Rs. 1,50,000
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Quick ratio = Quick asset = 1,50,000 = 2.5:1 Ans.
Ans Q.No. 9.
(foreteiture of share)
share capital A/C........ccccoeeeeiiiiiinnn... Dr
To calls in arrear A/C.
To share forfeiture A/C.
(Being share for feited)
(Re-issue of share)
(a) (At profit)
Bank A/C.....cccceveeiiiiii Dr
To share capital A/C.
To sec. Pre. reserve A/C.
(Being share re-issued at pre)
(b) (At loss)
Bank A/C.......cccviiiiiiiiieeeen. Dr
share forefeiture A/C. .................. Dr
To share capital A/C.
(Being share re-issued at loss)
(c) (Transfer of balance)
Share forfeiture A/C..........cccooviviiiinnen. Dr

To capital reserve A/C.

(Being balance transferred to capital reserve A/C)

Ans Q.No. 10.
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Journal entreis of Radha Ltd.

Date Particular L.F | Amount | Amount
Rs. Rs.
Machinery AIC.........c.ccooiiiiiiinn.. Dr 4,00,000
To bank A/C 1,00,000
To Krishna Ltd. 3,00,000
(For machinery purchased from Krishna Ltd and
part payment made)
Krishna Ltd........coovveveiiii, Dr 3,00,000
To 12% debenture A/C 2,80,000
To securities premium A/C 20,000

(For the blance of Rs. 3,00,000 settled by the
issued Rs. 2,80,000 debenture)

118




Model paper
Set-V

Accountancy

Ans.1:
(i) Current ratio = current assets/current liabilities
= 48,000/48,000 = 1:1
Working
Currents assets = debtor + stock + cash at bank + prepaid insurance
= (18000 + 24000 + 460 + 1440) = 48,000
current liabilities = (Sundry creditor + Taxation provision)
= (46,800 + 1,200) = 48,000
(i)  Liquid/quick/acid Test ratio = Liquid assets/current liquilition
= 22,560/48,000
=0.47:1
Working/liquid asset = current assets — (stock + prepaid inssurence)
= 48000 — (24000 + 1440)
= 48000
22560 = 48006 — 25440
= 22560
Ans. 2.:

Journal entries
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Particulars Dr Cr
Amount Rs. | Amount Rs.
I Bank A/C.................. Dr |10,000
To 6% debentures Ac 10,000
Being 10,000 6% debenture of Rs. 100 each were
issued at par per board’s resolution.
Il Bank A/C........cooviiiiin.. Dr |9,00,000
Discount on issue of debentures A/C 1,00,000
To 7 2% debenture A/C 10,00,000
(Being 10,000 7 2% debenture of Rs. 100 each
issued at discount of 10% as per board’s
resolution.)
[l Bank A/C.....ccovveiiiiii. 11,00,000
To 6% Debentures A/C 10,00,000
To premium on issue of delientures A/C 1,00,000
(Being 10,000 6% debenture of Rs. 100 issued at
premium of 10% as board’s resolution.)
Ans .3:
Date Particulars Dr Cr
Amount Rs. | Amount Rs.
1%t Jan | Bank A/C.......cooveeeieeeeeeinn Dr 16,000
2015 _ .
To Chintu capital A/C 16,000
(Being the amount of cash brought by
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chintu as his capital.
GoodWill AIC..... i, Dr 8,000
To Sunny’s capital A/C 4,800
To Hanny’s capital A/C 3,200
Being the amount of goodwill credited to old
partners capital accounts.
Sunny’s Capital A/C
Particulars Amount Particulars Amount
To balance c/d 24,800 By balance b/d 20,000
By goodwill 4,800
24,800 24,800
Hanny’s Capital A/C
Particulars Amount Particulars Amount
To balance c/d 18,200 By balance old 15,000
By goodwill 3,200
18,200 18,200

Chintu’s Capital A/C
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Particulars Amount Particulars Amount
To balance c/d 16,000 By bank 16,000
16,000 16,000
Goodwill A/C
Particulars Amount Particulars Amount
To Sunny’s capital A/C 4,800 By balance old 8,000
To Hanny’s capital A/C 3,200
8,000 8,000

Ans.4 :

When the goodwill is to be written back:—

Journal entries

Date Particulars L.F Amount Amount
Rs. Rs.
1t Jan|Bank A/C.............. Dr 16,000
2015 . :
To Chintu’s Capital A/C 16,000
Being the amount of capital brought in by
the new partner
Goodwill A/IC.....viiii Dr 8,000
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To Sunny’s capital A/IC............... Dr 4800
To Hanny’s capital A/C............... Dr 3200
Being the amount of goodwill raised and
credited to the old partner’s capital A/C
Sunny’s capital A/C....................... 3840
Hunny’s capital A/C....................... 2560
Chintu’s capital A/C..................... 1600
To Goodwill A/C 8000

Being the amount of goodwill written back
to the partner's capital A/C in the new
sharing ratio.

Working

New sharing ratio:—

Chintu’s share = 1/5

sharing of goodwill:—
Sunny’s = 12/25 x 8000 = 3840
Hanny’s = 8/25 x 8000 = 2560

Chintu’s = 1/5 x 8000 = 1600
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Sanny’s capital A/C

Particulars Amount Particulars Amount

To Goodwill A/C 3840 By balance B/d 20,000
To Balance A/C 20960 4800
24800 24800

Hanny’s capital A/C

Particulars Amount Particulars Amount
To Goodwill A/C 2560 By balance B/d 15000
To Balance A/C 15640 By Goodwill A/C 3200

18200 18200

Chintu’s capital A/C

Particulars Amount Particulars Amount
To Goodwill A/C 1600 By balance B/d 16000
To Balance A/C 14400 By Goodwill A/C

16000 16000

Goodwill's capital A/C

Particulars Amount Particulars Amount

124



To Sunny’s capital A/C 4800 By Sunny’s capital A/C 3840
To Hanny’s capital A/C 3200 By Hanny’s capital A/C 2560
By Chintu’s capital A/C 1600
8000 8,000
Balance A/C
Particulars Amount Particulars Amount
To Chintu’s Capital A/C 16000 By Balance old 16000
16000 16000
Journal entries
Date Particulars L.F | Amount | Amount
Rs. Rs.
Relisation A/C.......c.ooooiiiiii Dr 22050
To Sundry Debtors 7030
To Stock 4400
To Building 10620
(Being the amount of assets transferred to
realisation A/C at their book value)
Sundry creditors..............ooiiinl. Dr 4100
B/P. e, Dr 4100 8200

To realization A/C

(Being the amount of liabilities transferred to the
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realisation A/C)

Realisation A/IC......coooneiiiii i, Dr 660 660
To Bank

Being the amount of expenses

Bank A/C......coiiiiiii Dr 18030 18030
To realization A/C
Being the amount of assets realized as under

Delitors 6000

Stock 3620
Building 8410
Realisation A/C........cccoviiiiiiiiin. Dr 8100 8100
To Bank A/C

Being the creditor & bill paid

Singh’sloan A/IC.........cooiiiiiiiiinn, Dr 4650 4650
To Bank

Being the loan of singh paid

Singh’s capital A/C...............ooiin . Dr 1526.6
Sinha’s capital A/C.................ol. Dr 3053.4
To realization A/C 4580

Being the amount of realization loss transferred to
capital A/C

Ans.5 :
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Patna lion’s club Bihar

Receipt and payments Account

For the year ended 31% March 2016

Receipts Amount Payment Amount
Rs. Rs.
To balance on 1-4-2015 4400 By electric charges 3440
To subscriptions 37600 By taxes 500
To donations 8000 By salaries and wages 21500
To entrance fees 4300 By honorarium to seeretary 2500
To rent 5250 By printing and stationary 350
To intrest on Investment 2950 By petty cash payments 900
By insurance premium 310
By balance on 31% march
2016 cash in hand 33000
62500 62500

Ans.6 :
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Partnership as a form a business organisation grew essentially out of the failures and
limitation of the individual proprietorship. Expansion of sole trading business called for more
capital enhanced the risk and required more managrial alility that could be expeeted of a
single individud. Therefore matter is fact partnership has been defined in following wags
partneship is the first such a man and association of businessmen which represents the
second stage in the evolution of the form of business organisation.

According to prof me naught age. “Partnership results from the desires of businessmen
to take advantge of complementary abilities and to have more capital.” According to Dr.
William R.Sprigel.” Partnership has two or more member, each of whom is responsible for
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obligation of the partnership, each of the partners may find the other and the assets of partner
may he taken for the debt of the partnership.”

According to section 4 of the Indian partnership Act which governs the formation and
managment of partnership organisation “Partnership is the relationship between persons who
have agreed to share profit of business carried on the all or any of them acting for all.”

In this regard definition give in Indian partnership Act is most appropriate we find the
following as essention element which constituse a partnership:—

(1)  Atlast two person must join together to form partnership.

(2) There must be an agreement between person desirous of forming partnership.
(3) The agreement must be business.

(4) The agreement must be to earn profit.

(5) Profit divided between all partner.

(6) The business must be carried on by all or one or more of them acting for all.

Thus we may define partnership as that “form of business organisation who agree to
share the profits of a lawful business which is managed and carried on on either by all or by
any or some of them acting for all”.
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Model Paper
Set - VI

Accountancy

Instruction:—In the following questions there are four option of which only one is correct. You
have to choose the correct option and mark in the answersheet.

(Income and expenditure A/C is.)

(a) (Personal A/C)
(b) (Real A/C)

(c) (Nominal A/C)

(d) (None of these)

(Income and expenditure account is prepared by.)

(a) (Not-for profit organisation)
(b) (Business entiry)

(c) (Industrial entity)

(d) (None of these)

(Withdrawals are not mentioned interest on drawing is charged.)
(@) 61/2 (For 6 1/2 month)

(b) (For 6 month)
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(c) (For 5 month)

(d) (For 12 month)

(In the absence of an agreement between partners, the interest to be alloned on
partner’s capital.)

(@ 8% (b) 6% (c) 9% (d) (None of these)

(The current account of the partners will always have.)

(a) (Debit balance)

(b) (Credit balance)

(c) (Either of the two)
(d) (None of these)

(Change in the partnership agreement results in)

(a) (Reconstitution of firm)
(b) (Dissolution of firm)

(c) (Analgamation of firm)
(d) (None of these)

(On reconstitution of the partnership firm, increase in the value of assets will result

into.)
(a) (Gain to the existing into)
(b) (Loss to the existing partner)

(c) (Neither gain nor loss to the existing partner)
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(d) (None of these)

Rs. 6000, Rs. 13000 Rs. 8000

(Profit of the last three years were Rs. 6000, Rs. 13000 and Rs. 8000 respectively.
Goodwill at two years purchase of the average net profit will be.)

(a) Rs.81000 (b) Rs.27000 (c) Rs.18000 (d) Rs. 9000

(The monetary value of reputation of the business is called.)
(a) (Goodwill)  (b) (Super profit)

(c) (Surplus) (d) (Profit)

(The excess of actual profit over the normal profit is called.)

(a) (super profit) (b) (Abnormal profit)

(c) (Fixed profit)  (d) (Capital profit)

(The excess of actual profit over the normal profit is called.)

(a) (Death of partner)

(b) (Retirement of a partner)
(c) (Admission of a partner)

(d) (None of these)

(Share of goodwill brought in cash by the new partner is called.)
(a) (Assets) (b) (Profit)

(c) (Premium) (d) (None of these)
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A B 5:3 cC 1/4

(A and B divide profit in ratio 5:3. C become new partners by share V4 . calculate new
profit sharing ratio.)

(@) 5:3:2 (b) 5:3:1 (c) 10:6:4 d) 15:9:8

5:3:2

(Ram, Shayam and Mohan are partners sharing profits in the ratio of 5:3:2. If Mohan
retira, the new profit sharing ratio between Ram and Shyam will be.)

(@) 3:2 (b) 5:3 (c) 52 (d) 55

X, Y,z 343 y X z
X z

(x, y, z are partner sharing profits in the ratio of 3:4:3. y retires and x and y share their
profits in equal ratio. New ratio of x and z will be:-)

(@) 1:2 (b) 21 (c) 23 (d)y 44

X, Y z 1/2, 1/3 1/6 z X y

(x, y and z share profits in the ratio of 1/2, 1/3 and 1/6 z dies. New ratio of x and y will
be.)

(@ 3:2 (b) 2:1 c) 2:3 d) 4:4

(The executors will be paid interest on the amount from the date of death of the
partners.)

(@) 4%p.a (b) 5%p.a (c) 6%p.a (d) 8%p.a
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(On dissolution of firm, out of the proced received from the sale of assets will be paid

first of all.)

(a) (Partner’s capital)

(b) (Partner’s loan to firm)
(c) (Partner’s additional capital)
(d) (Outside creditors)

(In the event of dissolution of a partnership firm, the provision for doubtful debts is
transferred to.)

(a) (Realisation A/C)

(b) (Partner’s capital A/C)
(c) (Sundry debtors A/C)

(d) (None of these)

(On dissolution goodwill account is transferred to.)

(a) (In the capital accounts of partners)
(b) (On the credit of cash account)

(c) (On the debit of realisation account)
(d) (None of these)

(When a company issues shares at a premium amount of premium may be received by
the company.)

(a) (Along with application money)

(b) (Along with allotment money)
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(c) (Allong with calls)

(d) (None of these)

(What are the condition of buy back of shares?)
(a)
(All the buy back share should be fully paid up)
(d)
(The buy back of should not exceed 25% of the total paid-up capital and
free reserve of the company)
(c)
(Articles of association of the company authorise it to do so)

(d) (All of the above)

(The amount of discount on re-issued of shares cannot exceed.)

(a) (10% of the capital re-issued)

(b) (5% of the paid-up capital)

(c) (The amount received on forfeited share)
(d) (None of these)

(Discount allowed on re-issued of forfeited shared is debited to.)
(a) (Profit and loss A/C)
(b) (General reserve A/C)

(c) (share capital A/C)
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(d) (Share forfeiture A/C)

(In case of issue of debentures as a colleteral security for loan from the bank which
account will be debited.)

(a) (Bank Account)

(b) (Debentures suspense A/C)
(c) (Bank loan A/C)

(d) (None of these)

(Discount on debentures is shown in the balance sheet on.)
(a) (Assets side)

(b) (Liabilities side)

() (a (b (Both (a) & (b))

(d) (None of these)

(When all debentures are redeemed, balance in the debentures are redemption fund
account is transferred to.)

(i) (Capital reserve)
(i) (General reserve)
(i) (Profit and loss appropriation A/C)

(iv) (None of these)
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(A sinking fund is a part of)

(a) (fixed liabilities)

(b) (Current liabilities)

(c) (Reserve and surplus)
(d) (None of these)

(Premium on redemption of debentures A/C is.)
(a) (assets) (b) (expenses)

(c) (Liability)  (d) (Revenue)

(The term financial statements includes.)

(a) (Statement of profit & loss)

(b) (Balance sheet)

(c) (Statement of profit & loss and balance sheet)
(d) (None of these)

(Financial statements disclose)

(a) (Monetary information)
(b) (Qualitative information)
(c) (Qualitative information)
(d) (None of these)

(Profit and loss account is also called........... )
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(a) (Operating profit)

(b) (Balance Sheet)
(c) (Income statement)
(d) (Trading account)

(Objectives of analysis of financial statement are.)

(a) (To assess solvency of the firm)

(b) (Rearrangement of financial statements)
(c) (Dividend decision)

(d) (None of these)

(Financial analysis is useful)

(a) (For investor’s)

(b) (For share holders)

(c) (For debenture holder)
(d) (All the above)

(Which of the following shows the actual fianacial postion of an enterprise.)

(a) (fund flow)
(b) (Balance sheet)
(c) (Profit & loss A/C)

(d) (None of these)
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(Annual report is issued by campany its.)

(a) (Directors)

(b) (Anditors)

(©) (Share holders)
(d) (None of these)

(Liquid assets include.)

(a) (Prills receivable)
(b) (Debtors)

(c) (Cash balance)
(d) (All the above)

(Which of the following items is not taken into consideration while computing current

ratio?)
(a) (Creditors)

(b) (Debtors)

(c) (Furniture)

(d) (Bank overdraft)

(Debt-equity ratio is)
(a) (Liquidity ratio)
(b) (Activity ratio)

(c) (Solvency ratio)
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(Operating ratio)
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Instructions : For Questions Nos. 1 to 10 are Short answer type and each question
carries 3 marks.

State three features of no-for-profit organisation.

From the following information calculate the amount of salaries chargeable to income
and expenditure account for the year ended 31st december 2016.

(i) Rs. 2,00,000
(Salaries paid during the years)

(ii) Rs. 10,000
(Outstanding salaries on 31st Dec. 2015)

(iii) Rs. 15,000
(Outstanding salaries on 31st dec 1916)

(iv) Rs. 20,000

(Salaries paid in advance on 31 st dec 2016)
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Explain any three differences between dissolution of partnership and dissolution of firm.

Rs. 40,000 Rs.
60,000 Rs. 5,000 Rs. 6000

Rejendra Singh and Radhey Singh are partner and they had Rs. 40,000 and Rs.
60,000 in capital accounts on 1st April 2015 respectively. Rajendra Singh paid in further
Rs. 5,000 on 1/11/2015 and another Rs. 6,000 on 15/02/2016. Compute the interest on
capital to be allowed to partners assuming the rate of interest to be 6% p.a.

L, M and N are partners. Their profit sharing ratio were 7:6:2 respectively. The admit O
as a partner and give him 1/6 the share. Calculate the new profit sharing ratio.

(i) Rs. 50,000

(ii) Rs. 15,000

Rs. 35,000 Rs. 60,000

How will you deal with the realisation expenses of the firm of Ramesh and Binod with
following cases?

(i) Realisation expenses amount to Rs. 50,000.
(i)  Realisation expenses amounting to Rs. 15,000 are paid by Ramesh, a partner.

(iii)  Realisation expenses are to be borne by Ramesh for which she will be paid Rs.
35,000 as remuneration for completing the dissolution process. The return expenses
incurred by Ramesh were Rs. 60,000.
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Write three difference between preference share and equity share.

A company invited application for 1,000, 6%. Preference share of Rs. 100 each,
payable an follows 20% on application, 30% on allotment, 50% on first and final call. All
the shares were subscribed and fully paid. Pass entries in the cash Book and Jounnal
of the company.

What are the methods of redemption of debentures?

Sonu Ltd has a current ratio of 3:1. It its stock is Rs. 40,000 and its total current
liabilities are Rs. 75,000 findout its quick ratio.
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Instructions : For Questions No. 1 to 6 are Long answer type and each question carries 5 marks.

Q. 1. The lion’s club, Arwal prepared the following receipts and payment account of the club
and prepare the income and expenditure account and balancesheet for the year ended
31st march 2016.

Receipts Amout | Payments Amount
Rs. Rs.
To cash balance from last| 1800 | By prize and completion expenses 1200
year
By printing and stationery 250
To subscriptions
3250
To competion fees
1600 | By rent 500
By salaries 1000
To entrance fee
350 | Bywase 1800
To intrest on investments _
50 | By purchase of furniture 500

By investment 1000

145



To sudry receipts 75 By Balance of cash carried forward 875

7125 7125
(i) Investment Rs. 1000
(i)  Farniture Rs. 1100
(iii)  Shliscribtion outstanding current year is Rs. 350) Rs. 350

(iv) Trades men’s full outstanding Rs. 350 paid during the year

(v)  Atthe end of the year, subscription outsanding came to Rs. 225 and printing and
stationary outsanding amount to Rs. 50. Rs. 50

Q. 2. Arun and chintu are equal partners in the firm. they decided to dissolve the partnership
on 31st Dec. 2016 when the statement of affears was as follows:—

Liabilities Amout Assets Amount

Rs. Rs.

Sundry creditors 2700 | Cash at Bank 3000

Reserve fund 3000

Hari’s loan A/C 3000 | Sundry delitor’s 850

Capital

Arun 12000 | Plant 4700

Chintu 12000 | Stock 15150

Lease 6000
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Furniture and fitting 3000

32700 32700

The lease was solde for Rs. 6300 furniture and fitting for Rs. 3300 and stock for Rs.
13800. The book debts realised only Rs. 800, whereas plant realised Rs. 4800. The
creditor were paid Rs. 3600 in full statement. Ecpenses of realised Rs. 500. Pass the
necessary journial entries to closs the book of the firm.

Rs. 100 100 Rs. 30 Rs. 30
Rs. 40

Rs. 1500

Tata company issued 1000 shares of Rs. 100 each payable Rs. 30 on application Rs.
30 on allotment and Rs. 40 on 1st and final call. All the shares were subscribed for and
dully allotted and the call in made. All cash were duly received except the call money
on 20 shares these shares were subsequently for feitel by the directors and resold as
fully paid for Rs. 1500 pass necessary journal entries.

. From the following details calculate the debtor turnover ratio.

Rs.

Total sales for the year 1,75,000

Cash sales 20% of total sales
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Sales return out of credit sales 10,000

Sundry dector
opening balance 8000
Closing balance 12000

Q. 5. Complete the gross profit ratio based on the following information:

Sales Rs. 600000
Gross profit 25% on cost.
Q. 6.

Discuss the characteristics or features of partnership.
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Set - VI

Accountancy

Ans 1.

Three features of not for profit organisation is followings.

(i) Not for profit organisation are established for the welfare and service of the
society and their members.

(i)  They promote art, culture, religion, education, sports etc.

(i)  They do not operate with the objective of earning profit.

Ans. 2.:
Calculatation of salary for 2016.
Rs.
Salaries paid during the year 2,00,000
Add:Outstanding salaries on 31/12/2016 15,000
2,15,000
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Less:Outstanding salaries on 31/12/2015 10,000
Prepaid salaries on 31/12/2016 20,000 30,000
Salaries chargeable to income expenditure A/C 1,85,000

Ans. 3:

Any change in the relations of the partners is called the dissolution of partnership.
Thus, when a new partner is admitted or an old partner retires or dies, a partnership is
reconsituted in all these cases where a partnership is reconstituted. Difference between

dissolution of partnership and dissolution of firm as follows:—

(i) Dissolution of firm necessarily implies dissolution of partnership but dissolution of
does not necessarily mean dissolution of firm.

(i)  In case of dissolution of firm, the business comes to an end but in case of

dissolution of partnership business goes to continue.

(iii)  Dissolution of partnership is voluntary where as dissolution of firm is voluntary

and compulsory.
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Ans.4 :

Interest allowed to Rajendra Singh

Rs.
Interest on Rs. 40,000 for one year 40,000 x 6/100 = 2,400
Interest on Rs. 5,000 for 5 month 5000 x 6/100 x 5/12 = 125

(1/11/2015 to 31/03/2016)
Interest on Rs. 6,000 for 1 1/2 months 6000 x 6/100 x 3/24 = 45
(1/11/2015 to 31/03/2016)
Total interest = 2570
Interest allowed to Radhey Singh

Interest on Rs. 60,000 for one year 60,000 x 6/100 = 36,600

Ans.5: Calculation of new profit sharing ratio.
Profit sharing ratio of L, M and N = 7:6:2
New partner O, O gets 1 1/6th share.
Now, let the profit be 1
Then1-1/6 =5/6 (L+ M+ N)
L's new share = 7/15 of 5/6 = 35/60
M’s new share = 6/15 of 5/6 = 30/90
N’s new share = 1/6 or 15/90
New profit sharing ratio of L, M, N and O
= 35/90 : 30/90/ 10/90 : 15/90

=7:6:2:3 Ans.
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Ans. 6.:

Journal entries

(Being realisation expenses agreed to be paid by
Ramesh)

Date Particular L.F | Amount | Amount
Rs. Rs.
(i) Realisation A/C.............coioieil. Dr 50,000
To Bank A/C 50,000
(Being realisation expenses paid)
(i) | Realisation A/IC............ccceiiiinini. Dr 15,000
To Ramesh’s capital A/C 15,000
(Being realisation expenses paid by Ramesh)
(iii) | Realisation A/IC...........coviiiiiini, Dr 35,000
To Ramesh’s capital A/C 35,000

Note:—Amount of realisation expensa Rs. 60,000 will be paid by Ramesh personally.

Ans.7.:
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Three difference between preference shares and equity shares as follows:

(i)

(ii)

(iiif)

Ans.8 :

Right of Dividend:—Preference shares have preferential right to get dividend.
They get dividend before any dividend is paid. To equity shares where as
dividend on equity shares is paid after the payment of preference dividend and

that too, if there is surplus.

Rate of Dividend:—The rate of dividend on preference shares is fixed where as

the rate of dividend is not fixed in case of equity shares.

Refund of Capital:-In case of winding up of the company preference

shareholders enjoy the right to get their capital back before the capital is requred

to equity share holder where as in case of winding up of the company equity

share capital is refunded only after the payment of the preference share capital.

Journal entries

Date Particular L.F | Amount | Amount
Rs. Rs.
6% preference share application A/C............ Dr 20,000
To 6% preference share capital A/C 20,000
(Being application money transferred to 6%
preference share capital A/C)
6% preference share Allotment A/C.............. Dr 30,000
To 6% preference share capital A/C 30,000
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(Being allotment money due)

6% preference share first & final call A/C

To 6% preference share capital A/C

(Being first and final call money due)

50,000

50,000

Cash Book

Date

Particular

Amount

Rs.

Date

Particular

Amount

Rs.

To 6% preference share
application A/C

(1000 x 20)

To 6% preference share
allotment A/C

(1000 x 30)

To 6% preference share
first & final call A/C

(1000 x 50)

20,000

30,000

50,000

By balance C/D

1,00,000

1,00,000

1,00,000

Ans. 9 :
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Important methods of redemption of debentures are as follows:—
(i) Redemption by the payment of total amount of debenture after a certain period.
(i)  Redemption by conversion of debentures into shares.
(i)  Redemption by purchase of own debentures in open market.
Q.No. 10. . Ans.:
Current assets = Current liabilities x 3
=Rs. 75,000 x 3
= Rs. Rs. 2,25,000
Quick assets = Current assets — Stock
= Rs. 2,25,000 - 40,000
= Rs. 1,85,000
Quick assets = Quick assets/Current liabilities
= Rs. 1,85,000/Rs. 75,000

= 185/75 = 37/35 = 2.47:1
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Long Answer type question

Ans.1:

Income and expenditure account of

lion’s club Arwal for the year ending 31st March 2016.

Particulars Amount Particulars Amount
Rs. Rs.
To prizes and competition expenses 1200 By subscriptions 3475
To printing and stationary 300 By competition fees 1600
To rent 500 By entrance fees 350

To salaries 1000 | By intrest on
To wages 1800 | To investment 50
To excess of income over expenditure 750 To sundry receipts 75
5550 5550
Balancesheet of lion’s club Arwal as at 31st March 2016.

Particulars Amount Particulars Amount
Rs. Rs.
Capital 3900 Cash inhand 875
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Ans.2 :

Excess of income Furniture 1600
Over expenditure 750 Investments 2000
Outsting printing & stationary 50 Outstanding
Subscription 225
4700 4700
Journal Entries
Date Particulars L.F | Dr. Amount | Cr. Amount
Rs. Rs.
Realisation A/C............ccceeini Dr 29700
To sundry delitors 850
To plant 4700
To stock 15150
To lease 6000
To furniture and fittings 3000
(Being transfer of sundry assets to
realisation A/C)
Sundry creditor A/IC..................... Dr 2700
To realisation A/C 2700
(Being transferred to sundry creditor to
realisation A/C.)
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Bank A/C.......coiiiiiiiiii, Dr 29000
To realisation A/C 29000
(Being realisation of assets as under.)
Rs.
Lease 6300
Furniture 3300
Stock 13800
Book Delots 800
Plant 4800
Reserve fund A/C..........cooooiiiienn. Dr 3000
To Arun’s capital A/C 1500
To Chintu A/C 1500
(Being distribution of reserve fund and
transferred to partner’s capital A/C)
Chintuloan A/C...................... Dr 3000
To Bank A/C 3000
(Being payment of Hari’'s loan)
Realisation A/C............coooiiiininn. Dr 500
To bank A/C 500
(Being realisation expenses paid)
Realisation A/C..........coooviiiiiiiinn, Dr 2600
ToBank A/C.......cocoiiiiiiiiins Dr 2600

(Being payment of creditor)

159




Working Note

Ans.3:

Arun’s capital A/IC..............oooeel . Dr 550
Chintu’s capital A/IC...................... Dr 550
To realisation A/C 1100
(Being transfer of relisation loss to
partner’s capital A/C.)
Arun’s capital A/IC...........ccooeeel . Dr 12950
Chintu’s capital A/C...................... Dr 12950
To Bank A/C 25900
(Being final payment of cash to partners)
Arun — Rs. 12000 + Rs. 1500 + Rs.13500 — Rs.550 = Rs. 12950
Chintu — Rs. 12000 + Rs. 1500 + Rs.13500 — Rs.550 = Rs. 12950
Journal entries in the book of tata company
Date Particulars L.F | Dr. Amount | Cr. Amount
Rs. Rs.
Bank A/C......cccoiiiiii Dr 30000
To share application A/C 30000
(Being application money received)
Share application A/C...................... Dr 30000
To share capital A/C 30000

(Being application monery transferred to share
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capital A/C)

Share allotment............................ Dr 30000
To share capital 30000
(Being allotment money due)
Bank A/C.........cccoeeiinnnn, Dr 30000
To share allotment A/C 30000
(Being allotment money received)
Share first and final call A/C............... Dr 40000
To share capital 40000
(For amount due on first and final call)
Bank A/C.......coiviiiiiin Dr 39200
To share first and final call A/C 39200
(Being each received on first and final call.)
Share capital A/IC..........ccooiiiiin.. Dr 2000
To share first and final A/C 800
To share forfeited A/C 1200
(Being share forfeited.)
Bank A/C......ccoiiiiii Dr 1500
Share forfeited A/C..............oooiieni. Dr 500
To share capital 2000
(Being re-issue of 20 share of Rs. 100 each
and loss charged from share forfeited A/C)
Share forfeited A/C..............oooiieni. Dr 700
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To capital reserve A/C

(Being balance of share forfeited A/C
transferred to capital reserve A/C)

700

Ans.4 :

Calculation of debtors turnover ratio:—

Debtor turnover ratio = Net credit sales/average debtors

= Rs. 130000/Rs. 10000= 13 times

Working

Net credit sales = Total sales — cash sales — sale returns

= Rs. 175000 + Rs. 35,000 (175000 x 10/100=35000)

—Rs. 10000

= Rs. 175000 — 45000

= Rs. 130000

Average debtors = opening debtors + closing debtors/2

= Rs. 8000 + Rs. 12000/2 = 10,000

Ans.5 :

Gross profit ratio = Gross profit/net sales x 100

= Rs. 120000/Rs. 600000 x 100

=20%
Working
Let the cost be
Gross profit =Rs. 25

Sales =Rs 125

=Rs. 100
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Cost goods sold = 100/125 x 600000=120000
= Rs. 480000
Gross profit = sales — cost of goods sales
= Rs. 600000 — Rs. 480000
= Rs. 120000

Ans 6.:

(ii)

(iii)

The elements of partnership highlight charactriesties of a partnership business also.
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(i)

(iif)

No legal entity:—Legal formalities are not required to be observed for the
formation of partnership. Registration of partnership is not compulsory. So a
partnership firm has no legal entity.

Unlimited labliability:—Each partner has an unlimited liability in respect of the
firm’s debts. It means that if the assets of the firm are not sufficient to satisfy the
claims of the creditors of the firm, the private assets of the partners can also be
attached to meet such claims.

No separate existense:—A partnership is firms has no separate existence from its
members partner and the partnership firm are taken as the same. The rights and
liabilities of the firm constitute the rights and liabilities of the partners. According
to justice Desai, firm is the collectice short name of the individual partners and
unlike company it is not an artificial parson.

Individual as partner:—In partnership business only individual can be come a
partner, not an institution.

Certain Name:—The collective name of the partners is called firm, so a
partnership firm must have a specific name.

Democratic organisation:—In a partnership firm every partner has a right to take
part in its managment and important business dicisions are taken with the
consent of all the partners. Thus it is a democretic organsation.
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Model Paper
Set - VI

Accountancy

Instruction:—In the following questions there are four option of which only one is correct. You
have to choose the correct option and mark in the answersheet.

(Income and expenditure account generally indicates.)

(a) (suplus/Deficit)
(b) (Cash balance)

(c) (Capital fund)

(d) (None of these)

(Donation received for specific objective will be shown.)

(a) (In income and expenditure A/C)
(b) (On liability side of B/S)

(c) (On assets side of B/S)

(d) (None of these)

(Interest payable on the capital of the partners is charged to.)
(a) (Profit and loss A/C)

(b) (Profit and loss appropriation A/C)
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(c) (Profit and loss ajustment A/C)

(d) (None of these)

(In the absence of an agreement, partner are entitled to)

(a) (Salary)

(b) (Profit share in capital ratio)
(c) (Interest an loan and advance)
(d) (commission)

(Partner’s current account are opened when their capital is.)
(a) (Fixed)

(b) (Fluctuating)

(c) A B (Both A and B)

(d) (None of these)

(Increase in the value of assets on reconstiturion of the partnership firm results into.)

(a) (Gain to the existing partner)

(b) (Loss to the exiting partner)

(c) (Neither a gain nor a loss to the existing partner)
(d) (None of these)

Rs. 42,000, Rs. 39,000 Rs. 45,000

(The profit of the last three years are Rs. 42,000, Rs. 39,000 and Rs. 45,000 value of
goodwill at two years purchase of the average profit will be.)
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(@) Rs.42,000 (b) Rs.84,000 (c) Rs.1,26,000 (d) Rs. 36,000

(Under super profit basis goodwill is calculated by.)

(a) X (No of years purchase x average profit)
(b) X (No of years purchased x super profit)
(c) (Super profit + expected rate of return)

(d) (None of these)

(Excess of the credit side over the debit side of revaluation account.)

(a) (Profit) (b) (Loss) (c) (Gain) (d) (Expense)

(On the admission of a new partner the decrease in the value of assets is debited to.)

(a) (Profit and loss adtustment A/C)
(b) (Assets account)

(c) (Old partner’s capital Account)
(d) (None of these)

(Excess of the credit side over debit side in revaluation A/C is)
(a) (Profit) (b) (Loss) (c) (Gain) (d) (Expense)

X,y z z X y
3:2 X y

(x, y and z are partners sharing profit equally. On z’s retirement his share is acquired by
x and y int he ratio of 3:2. The new profit sharing ratio between x and y will be.)

(@) 87 (b) 4:6 ) 3:2 d) 2:2

168



(At the time of retirement of a partner, firm gets.......... from the insurance company
against joint life policy taken jointly by all the partners.)

(a) (Policy amount + bonus)
(b) (Surrender value)

(c) (Policy Amount)

(d) (None of these)

(Premium on issue of shares is a.)

(a) (Capital gain)
(b) (Capital loss)

(c) (General profit)

(d) (None of these)

(The portion of the authorised capital which can be called up only on the liquidation of
the company is called.)

(a) (Issued capital)

(b) (reserve capital)
(c) (Called up capital)
(d) (None of these)

(The difference between subscribed capital and called up capital is called.)

(a) (Uncalled up capital)
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(b) (calls in arrear)

(c) (Calls in advance)
(d) (None of these)
Rs. 10 Rs. 2 Rs. 7

(If a share of Rs. 10 issued at a premium of Rs. 2 on which the full amount has been
called and Rs. 7 (including premium) paid is forfeited, the share capital A/C account
should be debited with.)

(@) Rs.12 (b) Rs.10 (c) Rs.7 (d) Rs.5
Rs. 1000 Rs. 980 Rs. 20

(It debentures of Rs. 1000 purchased for Rs. 980 by the company then the difference of
Rs. 20 will be assumed to be.)

(a) (profit on redemption of debenture)
(b) (Loss on redemption of debenture)
(c) (Goodwiill)

(d) (None of these)

(Rate of interest on debentures is)

(@) 12%p.a (b) 20%p.a
(c) (fixed rate)
(d) (None of these)

(Premium on redemption of debentures is)

(a) (A real account)
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(b) (A nominal account income)
(c) (A personal account)

(d) (A nominal account expenditure)

(Profit on sale of sinking fund investments is transferred to.)

(a) (Profit and loss account)
(b) (General reserve)
(c) (Sinking fund account)
(d) (None of these)

(Premium on redemption of debentures A/C is in the nature of.)

(a) (Personal A/C)
(b) (Real A/C)

(c) (Nominal A/C)
(d) (None of these)

(SEBI guidelines in respect of redemption of debentures are to protect the interest of.)

(a) (Creditors)
(b) (Debenture holders)
(c) (Shareholder)

(d) (None of these)
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(Which section of the companies act, requires that the balance seet and statemnent of
profit and loss be prepared in prescribed for.)

(a) (section) 130
(b) (section) 131
(c) (section) 129
(d) (section) 135

(Financial statement are)

(a) (Anticipated facts)
(b) (Recorded facts)
(c) (Estimated facts)
(d) (None of these)
Rs. 45000, Rs. 30000, Rs. 10000,

(Equity Rs. 45000, liabilities Rs. 30000, Profit of the year Rs. 10000, then total assets will be.)

(@) Rs. 85000 (b) Rs. 100000 (c) 120000  (d) 150000

(According to companies Act, 1956 balance seet of a company is prepared as per.)

(a) Vi Il (Part Il of shedule VI)
(b) Vi | (Part | of shedule VI)
(c) VII [l (Part Il of shedule VII)
(d) (None of these)

(Advantages of financial analysis are)
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(a) (security analysis)

(b) (Credit analysis)
(c) (Mearurement of price level change)
(d) (None of these)

(What is shown by income statement.)

(a) Accuracy of book of accounts)

(b) (Profit or loss of a certian period)
(c) (Balance of cash book)

(d) (None of these)

(Balance sheet provides information about financial position of the enterprise.)

(a) (At a point of time)
(b) (over a period of time)
(c) (for a period of time)
(d) (None of these)

(Profit and loss account is also called........... )
(a) (Balance sheet)

(b) (Income statement)

(c) (operating profit)

(d) (None of these)

173



(In common size statements the item of assets in percentage is calcilated on.)

(a) (Total current assets)
(b) (Total fixed assets)
(b) (Total assets)

(c) (None of these)

(Break even point refers to that point where.)

(a) (Total costs are more than total sales)
(b) (Total cost are equal to sales)

(c) (Total costs are less than total sets)

(d) (None of these)

(Current ratio)

(a) (Current assets/current liabilities)
(b) (Liquid assets/Current liabilities)
(c) (Liquid assets/Current liabilities)
(d) (None of these)

(Liquid assets do not include)

(a) (debtors)
(b) (stock)
(c) (Bills receivable)

(d) (None of these)

174



(The ideal current ratio is)

@@ 2:1 (b) 1:2 c) 3:2 (d)

(Liquid ratio is also known as.)

(a) (Current ratio)
(b) (Quick ratio)

(c) (Capital ratio)

(d) (None of these)

(Cash flow statement is based upon.)

(a) (Accrual basis of accounting)
(b) (cash basis of accounting)
(c) (a) (b) (a and b both)

(d) (None of these)

(Which one of the following is not a non-cash item)

(a) (cash sales)
(b) (Goodwill written off)
(c) (Depreciation)

(d) (None of these)

(Cash flow statement is prepared from.)
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(Additional information)
(Profit and loss A/C)
(Balance sheet)

(All of these)
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Model Paper
Set — VII

Short Answer Type Questions
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Instructions : For Questions Nos. 1 to 10 are Short answer type and each question

carries 3 marks.

State three difference between receipts and payment account and cash book.

From the following information of a club show the amount of match expens and match

fund in the financial statements of the club for the year ended on 31st march 2015 and

31 march 2016.

received during the year 2015-16)

(Details) (Amount
Rs.)
(Match expense paid during the year 30000
2015-16)
(Match fund as on 31/03/2015)
17000
(Donation for match fund
9000
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(Proceeds from

the sale of match tickets received during the year 2015-16) 3000

State the provision applicable in the absence of partnership deed.

Rs. 60,000, Rs. 30000 Rs. 12000 5%
Rs. 34000

A, B and C have capitals of Rs. 60,000, Rs. 30000 and Rs. 12000 respectively on
which they are entitled to get interest at 5% p.a. The profit for the year before charging
interest on capital amounted to Rs. 34000. Prepare profit and loss appropriation
account, if the share profit and losses in the ratio of 6:3:1.

State the effect of admission of new partner in a business of partnership firm.

A, B and C are partner sharing profit in the ratio of 3:2:1. They agree to share profits in
equal proportion w.e.f. April 1 2016 you are required to calculate sacrificing ratio and
the gaining ratio.

Write journal entries are made in the books of a firm at the time of dissolution.

(i) When payment is made for a unrecorded liability.
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(i)  When a partner take over the responsibility to pay off an unrecorded liability.

(i)  When an unrecorded asset is taken over by a partner.

State three difference between share and debeture.

Satyam Ltd invited application for 50000 equity shares of Rs. 10 each. Money was

payable in full on application. Journal entries in the books of the company.

From the following information calculate current ratio.

Particular Amount Rs. Particular Amount Rs.
(Inventory) 12000 (Trade 4000
crediton)
(Debtors) 8000
Bills payable
(Cash & 2500 (Bills payable) 3000
Bank balance) (Provision)
3000
(fixed assets) (Long
10000 8000

term debt)
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Long Answer Type Question
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Instructions : For Questions No. 1 to 6 are Long answer type and each question carries 5 marks.

1. Following is the balance sheet of Sanjay, Sunny, Sudhir on the 31st December 2016
their profit sharing ratio on date in 3:2:1 respectively.

liabilities Amount Rs. Assets Amount Rs.
(Creditor) 18000 Cash in hand 1200
(Reserve fund) 6000 Cash at Bank 1500

(Capital Accounts) Debtor 13000

Sanjay — 30000 Less reserve 500 12500
Sanny — 20000 Stock 21000
Sudhir — 10000 60000 plant & machinery 23000
Building 24800
89000 89000
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Sunny retires from the business on 1st January 2016 on the basis of the following

adjustment.

(@) A reserve for bad and doulitful debts has to be made on sundry debtors @ 10%

(10%

(b)  Stock to be depreciation by 15%.

(c) Plant and machinery and building to be depreciation by 5%

Give necessary journal entries.

15% as

Q. 2. A company forefits 100 shares of Rs. 10 each orginally issued at a premium of Rs. 2

Q. 3.

per share. The share holder paid Rs. 4 share on application but did not pay the

allotment money of Rs. 4 per share (including premium) and call of Rs. 4 per share.

The shares are subsequently reissued at Rs. 11 per share fully paid up.

Pass Journal entries for. Forfeiture and reissue of shares.

From the following balance sheets as on 31st december 2016 you are required to

prepare a cash flow statement.

Liabilities 2015 2016 Assets 2015 2016
Share capital 100000 | 140000 | Fixed assets 100000 | 150000
Profit and loss A/C 50000 | 90000

Goodwill 50000 | 50000
General reserve 30000 | 40000 | Inventories 50000 | 80000
Debtors 50000 | 80000
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16% bond 50000 | 60000 | Bill Receivable 10000 | 20000
Sundry creditor 30000 | 40000
Bank 10000 | 15000
Outstanding exps 10000 | 15000
270000 | 385000 270000 | 385000

Q. 4. Current assets Rs. 1200000 current liabilities Rs. 240000 credit seles Rs. 2400000
cash sales Rs. 520000 sales return Rs. 40000. Calculate working capital turnover ratio.

Rs. 1200000 Rs. 240000 Rs. 2400000 Rs.
520000 Rs. 40000

Calculate operating ratio, net profit ratio.
Sales Rs. 420000
Cost of goods sold Rs. 250000
Operative exps Rs. 50000
Salas return Rs. 20000

Indirect exps Rs. 10000

What is goodwill. Explain the method of valuation of goodwill.
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1.
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13.

19.

25.

31.

37.

14.

20.

26.

32.

38.

15.

21.

27.

33.

39.

Model Paper

Set — VI
Accountancy

(b) 4. ()
(@) 10. (a)
(b) 16. (a)
() 22. (c)
(b) 28. (b)
(b) 34. (a)
(a) 40. (d)
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Model Paper
Set - VI

Accountancy

Ans 1.

Following are difference between receipt and payment account and cash book.

(i) Date:—Entries are not made datewise in receipt and payment account where as all
entries are made date wise in cash book.

(i) Period:—Receipt and payment account is prepared at the end of accounting year
where as cash book is recorded on daily basis.

(iii) Institution:(—Receipts and payment account is prepared by the not-for-profit
organisation where as cash book is prepared by all the organisation trading and
nontrading institution.

(iv) Side:—In receipt and payment account lift side is known as receipts and right side is
known as payment side where as in cash book left side is known as debit side and right
side is known as credit side.

Ans 2.:

Balance sheet
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Cash on 31st march 2015

& expenditure 1000

Liabilities Rs. Assets Rs.
Match fund 17000
Income and expenditure amount for the year ended 31% march 2016
Expenditure Rs. Assets Rs.
To match fund 1000
Balance sheet cash on 31% march 2016
Liabilities Rs. Assets Rs.
Match fund 17000
Add donation for
match fund 9000
Add proceeds
from sale of ticket 3000
29000
Less match exp. 30000
Transfer to income Nil
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Ans.3:

In the absence of partnership deed the following general rules provision applicable as

per partnership act 1932.

(i) Profit-loss sharing ratio:—Profit and losses are to be shared equally irrespective of

amount of capital distribution.

(i) Interest on capital:—If there is not mention regarding interest on capital in partnership

agreement then no interest will be allowed on capital.

(iii) Interest on drawing:—No interest is to be charged on drawings of partner.

Salary and commission to partners:—No salary commission is allowed for the conduct of

patnership business to any partner.

Ans. 4.:
Dr Profit and loss appropriation account Cr
Particulars Amount Particulars Amount
Rs. Rs.
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To interest on capital Rs. By profit and loss A/C 34000

A 3000 (Profit for the year)
B 1500
C 600 5100

To net profit transferred

To capital A/C

A 17340

B 8670

C 2880 28900

34000 34000

Ans.5:

Following are the effect of admission of new partner in a partnership business.

(i) The effect of admission of a new partner on the firm is that there is a change in the
relations of the partners and reconstitution of the partnership firm.

(i) The number of partners increases in the firm.

(iii) The effect of admission of a partner is that the capital base of the firm capital base
of the firm increases and the firm is in position to have experienced person for the
management or working of the firm.
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Ans.6 :

3/6
(Old ratio)

1/3
(New ratio)

3/6 —1/3
(old ratio)

3-21/6

1/6

(Sacrifice)

(By atternative methods)
A=3/6-1/6=3-2/6 =1/6
B=2/6-1/3=2-2/6=0
C=13-16=2-1/6=1/6
Ans 7.:

Journal entries.

B C

2/6 1/6

1/3 1/3

2/6 -1/3 16 —1/3

2-2/6 1-2/6

0 -1/6
(Zero)

(Negative result mean profit)

(Sacrific)
(No change)

(Profit)

Date Particulars

L.F Amount | Amount

To cash A/C

1 Realisation A/IC........oovvveiiii. ..

(Being the payment of unrecorded liability)

Dr ?
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2 Realisation A/C............cooiiiiiiinn. Dr ?
To partner’s capital A/C ?

(Being unrecorded liability taken over by
partner)

3 Partner’s capital A/C........................ Dr ?

To Realisation A/C ?

(Being unrecorded asset taken over by partner)

Ans 8.:

Following are difference between share and debenture.
(i) part:—Shares is a part of capital where as debenture is a part of loan.

(i) Ownership:—Shareholder become owner of the company where as debenture
become creditor of the company.

(iif) Power of management.—Shareholder have right/power to take part in all type of
management where as debenture holder have not right/power to take part in
management.

Ans. 9.:
In the books of satyam Ltd

Journal entries.
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(Being transfer of application money to share
capital A/C)

Date Particulars L.F | Amount | Amount
1 Bank A/C.......cocoviiiiiiiian. Dr 480000
To Equity share application A/C 480000
(Being application money received on 48000
shares @ 10 each)
2 Equity share application A/C................... Dr 480000
To equity share capital A/C 480000

Ans.10:

Current ratio = current assets/current liabilities

Curretn assets = stock + debtors + cash & bank
= Rs. 12000 + 8000 + 2500
= Rs. 22500

Current liabilities = trade creditors + Bills payable + provision
=Rs. 4000 + 3000 + 3000
=Rs. 10000

Current ratio =Rs. 22500/Rs. 10000

= 2.25:1
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Ans.1:

Model Paper
Set - VI

Accountancy

Long answer type question

Journal entries

Date Particulars L.F | Amount | Amount
Profitand loss A/IC...................... Dr 3640
To plant & machinery A/C 1150
To Building A/C.......cccooiiiiiii, Dr 1240
To reserve for bad & D. Delits 1250
(Being the amount of depreciation on assets
and reserve for Bad debts created.)
Stock A/IC.....oii Dr 3150
To P & L adjustment A/C 3150
(Being the amount of appreciation in the value
of this stock)
Sanjay’s capital A/C..............ooooieil. Dr 245
Sunny’s capital.........................L. Dr 163
Sudhir's capital........................... Dr 82
To P & L adjustment A/C 490
(Being the amount of loss transferred to capital
account of partners.)
Reserve fund A/C.........coooiiiiiiiinnn. Dr 2000
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To sunny’s capital 2000

(Being the share of reserve fund credited to
retiring partner’s capital.)

Working Notes

Profit and loss adjustment A/C

Particulars Amount Particular Amount
Rs. Rs.
To plant and machinery 1150 | By stock 3150
To building 1240 | By sanjay’s capital A/IC 245 490
To reserve for D.D 1250 | By Sunny’s capital A/C 163
By Sudhir’s capital A/IC 82
3640 3640

Sunny’s capital

Particulars Amount Particular Amount
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Rs. Rs.
To P & L adjustment A/C 163 By balance old 20000
To balance transferred By reserved fund 2000
To Sunny’s loan A/C 21837
22000 22000
Ans.2 :
Journal entries of ‘A’ company Dr Cr
Date Particulars L.F Amount | Amount
Rs. Rs.
Share capital A/IC...................... Dr 1000
Share premium A/C.................. Dr 200
To share allotment A/C 400
To share call A/C 400
To share forfeited A/C 400
(Being forfeiture of 100 shares on account
of non-payment of allotment and call
money.)
Bank A/C......cccoviiiiin Dr 1100
To share capital A/C 1000
To share premium A/C 100
(Being reissue of forfeited shares)
Share forfeited A/C................... Dr 400
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To capital reserve

(Being transfer of profit on share forfeited
to capital reserve.)

400

Ans.3:

Wroking notes

cash from operation

Profit and loss A/C balance on 31-12-2016 90000

Add increase in general reserve being appropriation of profit in 2016 10000
100000

Less P&L A/C balance on 31-12-2015 50000

Net profit for the year 2016 50000

Add non-cash item in P&L A/C

Goodwill written off (50000 — 40000) 10000

Cash from operations 60000

Cash flow statement for the year ended 31/12/2016
Inflow Amount Outflow Amount
Rs. Rs.
Opening cash at bank 10000 | Purchase of fixed assets 50000
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Cash from operations 60000 | Increase in inventories 30000
New issue of share capital 40000 | Increase in delitors 30000
New issue of 16% bond 10000 | Increase in bill receivable 10000
Increase in creditors 10000 | Closing cash at bank 15000
Increase in outstanding exps 5000

135000 135000

Ans.4 :

Working capital turnover ratio = net sales/working capital

= Rs. 2880000/Rs. 96000 = 3 times

Working

Net sales = cash sales + credit sales — sales returns

= Rs. 520000 + Rs. 24 00000 — Rs. 40000

= Rs. 28,80,000

Wroking capital = current assets — current liabilities

= Rs. 1200000 — Rs. 240000

= Rs. 960000
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Ans.5 :
(i) Operating ratio = cost of goods sold + operating exps/net sales
= 250000 + 50000/400000= 300000/400000 x 100 = 75%
Net profit ratio = Net profit/sales x100
= sale — cost of goods sold — indirect exps x 100/sales
= 400000 — 250000 — 10000 x 100 / 400000
= 400000 — 260000 x100/400000
= 140000 x 100 / 400000
= 140/4 = 35%

Ans.6 :

Rs. 1000, 3000, 4000, 5000 7000

= 1000 + 3000 + 4000 + 5000 + 7000/5 x 2

= 20000/2 x 5 = Rs. 4000 x 2 = 8000
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= Rs. 5000
@ 5%
80000 = 4000
= 1000

=1000 x 2 = Rs. 2000

Goodwill = profit x 100 / percentage norman return

Goodwill is the probability that the old customers will resort to the old place. Another
when a man pays for goodwill he pays for something which places him in the position of
being able to do by his own unaided efforts.

Lastly goodwill will is the benefit and advantage of the good name, reputation and
connection of a business.

Method of valuation of goodwiill.

(i) Average profit basis method—use of average method is average profit of years and
divide the number of year.
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Goodwill

Last five years profit respectivly 1000, 3000, 4000, 5000 and 7000 and average
profit of two years

Goodwill = 1000 + 3000 + 4000 + 5000 +7000 x 2/5
= 20000 x 2/5= Rs. 8000
Super profit basis

In this method add the profit and divided the years comprision the average profit
between. Intrest of investment hoe average profit more that this intrest is called supper
profit.

Example.

Average profit of last four years = 500
loss estimeted profit
@ 5% on 80000 (i.e capital) = 4000

Super profit = Rs. 1000
Goodwill = 1000 x 2 = Rs. 2000
(3) Capitalisation method — Aver.

Goodwill = profit x 100 / percentage of normal return — Net assets

Therefore the first method is simple and practically.
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MODEL PAPER
wem — Xl
a=zmem== (Accountancy)
set - VIII
Fvs—1  (Section-1)
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Instructions:- For Question Nos.| to 40 there are four alternative of which only one is correct. Choose

the correct alternative and mark it in the answer sheet.

1. Most transaction in non-trading concerns are:
(a) Cash (b) Credit
(c) Verbal (d) None of these

2. Life membership fee of non-trading concern is:
(a) Capital Receipt (b) Revenue Receipt
(c) Bothaandb (d) None of these
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Payment of honorarium to secretary is treated as:
(a) Capital Expenditure (b) Revenue Expenditure

(c) Cash expense (d) None of these

Donation received for specific purpose is:
(a) Assets (b) Receipt Revenue

(c) Capital receipt (d) None of these

Interest on partners capital is credited.
(a) Profit and Loss A/C (b) Interest A/IC

(c) Partners Capital Alc (d) None of these

For the firm, interest on drawing is a:
(a) Expenses (b) Income

(c) Loss (d) None of these
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7.

The relation of a partner will the firm is

(@) As amanager

(b) As an owner and an agent
(c) Asaservant
(d) As adirector

Flactuating Capital is credited.
(a) Interest on Capital (b) Profit of the year

(c) Remuneration of Partner (d) All of these

A, B and C are partner sharing profit and losses in the ratio of 10: 6: 4.
They decided to share future profit equally. The sacrificing gaining ratio of
A,BandCis

(@ 3:2:1 (b) 2:2:1

(c) 5:2:2 (d) None of these
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10.

11.

AB G
AB G

X and Y share profits in the ratio of 2 : 3. In future they decide to share

profit in equal ratio. Which partner will sacrifice in which ratio?
(@) X (Sacrifices) 1/10

(b) Y (Sacrifices) 1/5

(c) Y (Sacrifices) 1/10

(d) None of these

X y
y
Generally the interest on capital is considered as:
(@) An application of Profit (b) An asset

(c) An expense (d) None of these
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12. Profit of the last three years were Rs. 6,000; Rs. 13,000 and 8,000

respectively. Good wil at two years purchase of the average net profit will

be:
(@) Rs. 81,000 (b) Rs. 27,000
(c) Rs. 9,000 (d) Rs. 18,000

13. (An asset, which is not fictitious but intangible in nature, having its

realizable value)
(a) Machinery (b) Building

(c) Furniture (d) Good will

14. Before calculation of average profit, losses of previous year are:
(a) Added (b)  Subtracted
(c) Divided (d) None of these

204



15.

16.

17.

The amount of good will is paid by new partner.
(a) Forthe payment of capital

(b) For sharing the profit

(c) For purchase of asset

(d) None of these

A and B are partner sharing profit in the ratio of 6:2 they admit C for V4

share in future profits. The new profit sharing ratio will be:

9 3 4 8 4 4
@ A—,B— C— (b) A— B— C—
16 16 16 16° 16 16
10 2 4
(c) AE’B Te CE (d) None of these
4
() AB— C— () A,B—- C—
16" 16 16 16° 1 16
4
() AB C—
16 16 16

A and B share profits and losses in the ratio of 6 : 2. C is admitted into

partnership for ¥4 share. The sacrificing ratio of A and B is:

(a) Equal (b) 3:1
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(c) 2:1 (d) 6:4

A BbZ }

18. For effecting changes in the value of assets and liabilities, we open.
(a) Profit and Loss Appropriation A/C
(b) Revaluation A/C
(c) Profitand Loss Alc

(d) None of these

19. At the time of retirement of a partner, profit or loss on revaluation of assets

and liabilities is transferred to The Capital accounts of : -
(a) Retiring Partner (b) All Partner

(c) Remaining Partner (d) None of these
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20. At the time of retirement of a Partner, Profit or loss on revaluation of assets

and liabilities is transferred to all partner Capital account in:
(@) New Profit sharing ratio

(b) Old Profit sharing ratio

(c) Capital ratio

(d) None of these

21. Partnership Act provides that interest on amount left by the retiring partners

be paid at:
(a) 5% (b) 6% (c) 7% (d) 9%
0% b%

T% 1%
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22.

23.

24.

Abhishek, Shubham and Vivek are partner sharing profits in the ratio of 5 :
3 : 2. If Vivek retires, the new profit sharing ratio between Abhishek and
Shubham will be:

(@ 3:2 (b 5:3
(c) 5:2 (d) 5:4

The amount due to the deceased partner is paid to him.
(a) Father (b) Friends

(c) Wife (d) Executors

If premium is treated as business expenses it appear in:
(a) Profit and Loss A/c

(b) Balance sheet

(c) Trading Alc

(d) None of these
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25.

26.

27.

After the death of a partner, amount payable is received by:
(a) Government (b) Firm

(c) Executor (c) None o these

On dissolution of a firm, partner’s loan account is transferred to:
(a) Realisation Account

(b) Partner's Capital Account

(c) Partner's Current Account

(d) None of these

After transferring liabilities like creditors and bills payable in the Relalisation
Account, in the absence of any information regarding their payment, such

liabilities are treated as:
(@) Never Paid (b) Fully Paid

(c) Partly Paid (d) None of these
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28.

29.

30.

Expenses on dissolution of a firm is called.

(@)
(c)

Realisation Expenses (b)

Loss Expenses (d)

A Joint stock company is:

(@)
(b)
(c)
(d)

An artificial legal person
A natural person
A general person

None of these

Equity share holders are:

(a)

Customer of the Company
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31.

32.

33.

(b) Owner of the company
(c) Creditors of the Company

(d) None of these

Which statement is issued before the issue of shares:
(a) Prospectus (b) Memorandum of Association

(c) Articles of Association (d) None of these

Dividends are usually paid upon:
(a) Paid-up Capital (b) Called-up Capital

(c) Issued Capital (d) Reserve Capital

Voluntary returns of shares for cancellation by share holder is called:

(@) Surrender of shares
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(b) Forfeiture of shares
(c) Cancellation of shares

(d) None of theses

34. The amount received over and above the par value is credited to which
account?

(@) Share Capital Account
(b) Calls in at advance Account
(c) Securities premium Reserve A/c

(d) None of these

35. Forfeiture of shares results in the reduction of:
(a) Paid-up- capitals (b)  Authorised Capital

(c) Reserve Capital (d) None of these
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36. Consideration of debentures is:
(@) Profit (b) Dividend

(c) Interest (d) None of these

37. In contest of redemption of debenture safe by guidelines of SEBI.
(a) Creditors (b) Debenture Holders

(c) Share Holders (d) Bankers

38. Work men’s compensation fund is a:
(@) Surplus (b) Provision

(c) Current Liabilities (d) Fixed Assets

39. Issue of Debentures in cash is a:
(a) Financing activities (b) Operating Activates

(c) Investing Activities (d) None of these
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40. Which of the following is operating expenses:
(a) Advertisement (b) Salaries

(c) Loss or sale of car (d) Distribution
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2.
8.

14.
20.
26.
32.

Answer: -
1. (a)
7. (b)
13.  (d)
19. (b)
25. (c)
31. (a)
37. (b)

38.

(d)
(b)
(b)
(d)

(b)

15.
21.
27.
33.
39.

Model Paper

Set- VIII

(b)
(a)
(b)
(c)
(b)
(@)
(a)

10.
16.
22.
28.
34.
40.
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Model Paper
Set (VIII)

Short Answer Type Questions
g ITAT UL

forder geel JWT 1A 10 dF g ITIT WA & del s & fau 3
3icp fereriRa 21
Instructions : For Questions Nos. 1 to 10 are Short answer type and each

question carries 3 mark .

1. Distinguish between Receipts and payment Account and Cash book.

2.  Show how would you deal with the following items in the case of a Not-for-
profit or ganisation; Match fund Rs. 80,000; Match fund investment Rs.
80,000, Match expenses Rs. 1,50,000. Donation for Match fund received

during the year Rs. 26,000. Sale of Match Tickets Rs. 36,000.
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3.

5.

Bhashker is a partner in a firm. He withdrans Rs. 6,000 in the beginning of
each month for 12 months. The book of the firm closer on 31% Mach every

year, Calculate interest on drawing if the rate of interest is 10% P.a.

The capital of the firm Ram and Shyam is Rs. 1,00,000 and the market rate
of interest is 15% Annual salary to partners is Rs. 6,000 each. The profits
for the last 3 years were Rs. 30,000, Rs. 36,000 and Rs. 42,000
respectively Goodwill is to be valued at 2 years purchase of the last 3

years averge super profits, Calculate the goodwill of the firm.

State difference between preference shares and Equity shares.
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What Journal entries would be passed for the following transaction on
dissolution of a firm, after various assets (other than cash) and third party

liabilities have been transferred to Realisation Account.
(1) Bank Loan Rs. 12000 is paid

(2) Expenses on dissolution amount to Rs. 1500 and were paid by the

partner A.

(3) Loss on realization Rs. 14,000 was to be distributed between A and

B in the ratio of 5 : 2.

Bharat Ltd forfeited 200 shares of Rs. 10 each, fully called-up, held by
Naveen for nonpayment of allotment money of Rs. 3 per share and first call
of Rs. 4 per share. He paid the application money of Rs. 3 per share.

There shares were re-issued to Amit for Rs. 8 per share.

Give Journal entries for the forfeiture and re-issue of shares.
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8. Write nature of financial statement.

(Sundry Creditor)
(Bills Payable)

(Tax Payable)
(Working Capital)

10. The following is the position of current assets and Current liabilities of x

Ltd.
X
Particular 2015 2016
Rs. Rs.

Debtor 30,000 25,000
Credition 10,000 8,000

Bill & Receivable 6,000 8,000
Prepaid Expenses 8000 7,000
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The company incurred a loss of Rs. 50,000 during the year. Calculate cash from

operation.
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Long Answer type Question
dref ST uea
forder : UoaT JF3T 1 A 6 db el ITIT Ueel & deT Uk B U 5
3iep fereriRa 21

Instructions : For Questions Nos. 1 to 6 are Long answer type and each

question carries 5 mark .

Q(1) = T JQT TH B HA AR & G STl B TaATT B

3MRFF H I gRT RAferenfora got & 3rgura # died € o 6 waen
80,000 . 60,000 ;. il WA o 1 3UA 2015 DI TJTATT
3MRFH THAT|I ATFERT TEJT B IGgAR Yoil 3T 3ME0T UT TSl HHLT:
12% drdas 3T 10% arfties &1 IALA 3T JLM B FBHL: 2,000 .
3T 3,000 F». HAAG Adel T &l & |

SWRIFT AATTSIel Bt A gd 31 A 2016 bl
JAATT af B T 187 1,00,300 FH AT IR 3R JFIT B 3MEI0T

PHHT: 40,000 . 3T 50,000 . | IHST B 3MMSI0T UT 2,000

. TeT 3R JIQT & 3MME0T UT 2,500 F. Tl SIOMAT ITAT |

Ig A gu 5 giorat uRadereier 2, amer—aifer

FAATRIGIE AT 3R APERT B Yol JMd dIR BT |
Ramesh and Suresh were partners in a firm sharing profits in the

ratio of their capitals contributed on commencement of business which
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were Rs. 80,000 and Rs. 60,000 respectively. The firm started business

on April 1, 2015. According to the partnership agreement interest on
capital and drawings are 12% and 10% p.a. respectively. Ramesh and
Suresh are to get a monthly salary of Rs. 2,000 and Rs. 3,000
respectively.

The profits for year ended March 31, 2016 before making
above appropriation was Rs. 1,00,300. The drawings of Ramesh and
Suresh were Rs. 40,000 and Rs. 50,000, respectively. Interest on
drawings amounted to Rs. 2,000 for Ramesh and Rs. 2,500 for Suresh.

Prepare Profit and Loss Appropriation Account and
Partners Capital Accounts assuming that their capitals are fluctuating.

Q(2) 3r,d 3T A TP BH H AR & oIl clTH-&lfel BT 3:2 D

argura # fJenfora ®w=a 81 31HAT™E 2016 BI 3adbT TG
Rrer , s UohlT 2m:

A, B and C are Partners in a firm sharing profit and losses in the ratio
of 3:3:2 The Balance that as on 31 March 2016 an follows .

aterea (Liabilities) | Amount=50 FAara=r  (Assets) Amount 350
arererz (Creditors) 73,600 | 5 H Abs.(Cash at Bank) = 25,600
Joit za (Capital Alcs) eierz(Debtors) 90,000
a1 (A) 50,000 ST : YTdelTs 16,000
a (B) 50,000 (Less :Provision) 74,000

= (C) 36,000| 1,36,000| ==fcr=aim (Stock) 50,000
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sTaer (Building) 60,000

2,09,600 2,09,600

= Tafyr @r a8 e 5 sty & 1T & A © BT 1/5 feTT oo |
3eaiar Jg oft ferofewr s &6 etaer &1 AT %0 80,000 fHaT
ST 30T Adfeoer srull &b fIT Urdensal &bl 0 4,000 A BH ThaAT

GIT<T |

AFTTT B Yeldcdidbel & Aol H WH Bl GIahl H Islelrarn
gfaitesii BITSTE 3R gaadicdichel HATAT =T BHITSIU |

On this date they decided that in future C will get 1/5" share in profits. They further
decided that the building be valued at Rs.80,000, stock to be reduced by Rs. 6,000 and
provision for doubtful debts to be reduced by Rs.4,000.

Pass journal entries in the books of the firm regarding the revalution of assets and
prepare Revaluation Account.

Q (3) yeicicear Tma A ufafesit B3 s w1 ?
( How can make Journal entries in revaluation Account? )
Q. (4) ouier wauet fofdes & .10 U&®H dTcd 35,000 JAHAAT 3T H 2
3rferaTeT U o Y foter uw 2w i fereetaq &:
37dee U3 .3
3T U= .5 (3iferemer AfEd)
AW ygH Td 3ifeddA HioT Uz

3ielf ol Yol H»9 A 3iTHcre [ham o1 o dom JAHAIA AT bl uTd fhaim a1
T | yUler Hadel Toifdces &I gaddl H Joferadar yiaftea! wifso |

Jupiter Company Limited issued 35,00 equity shares of Rs. 10 each at a
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premium of Rs. 2 payable as follows :

On Application Rs.3

On Allotment Rs.5 (including Premium)
Balance on First and Final Call

The issue was fully subscribed and all the money was duly received. Record Journal
entries in the books of Jupiter Company Limited.

Q.(5) forger 3iffwsi A UHs golalcdd 3T fIaoT dIR &B3:

Prepare a Comparative Income Statement from the following data:

fara=zor (Particulars) 2015 2016
Rs. Rs.

war faasr (Gross Sales) 1,50,00 1,80,000
(-) ama=it (Less : Returns) 3,000 6,000
(-) T o HT B Ao 1,47,000 1,74,00
(Less: cost of Goods Sold) 87,000 1,04,000
Adber ot (Gross Profits) 60,000 70,000
(-) 3ter == (Less: Other Expenses) 25,000 30,000
olg oma (Net Profit) 35,000 40,000

Q. (6) foreer fAaRoll I U a¥ & foIu Sedvedt srgura oo -
From the following particulars , calculate the Inventory Ratio for each year :
2014 -15 2015 -16

Rs. Rs.
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Uit &fa=m (Opening Stock ) 40,000 65,000
a¥ @ dRrer = (Puechases during the year) 2,55,000 3,40,000
a¥ & cSRme fawwr (Sales during the year ) 3,00,000 4,00,000

sifeaar zafq=m (Closing Stock ) 65,000 50,000
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Ivs— |l ( section —ll)
Short Answer type Question

g 38T ged 3x10 =30
forder : Uea JFJIT 1A 10 dF &g ITAT UL & del Udd & i@ B

foe 3 siep TorgiRa &

Instructions : For Questions Nos. 1 to 10 are Short answer type and each

question carries 3 mark .

Ans.1 Following are difference between Receipt and payment A/C and cash

book:

1. It is based on cash book. 1. It is based on cash Receipts and cash

ayment.
2. It is receipts and payment sides bay

2. It has debit and credit sides.
3. It has no ledger folio | redit si

3. It has ledger folio.

226



Ans. 2

Rs.
Match Fund 80,000
Add : Donation for Match fund 26,000
Add : Sale of Match Ticket 36,000
1,42,000
Less: Match Expense. 1,50,000
To be shown in Income & 8,000
Expenditure Alc as Expense s
(Dr Side )
Match Expense = Rs. 8,000 Match Fund Investement  B/s  Assets

Ans.3. Drawing of Bhashkar per month = Rs. 6,000

Drawings for the year = Rs. 6000 x 12 = Rs. 72,000

. . Rate 6=
Interest on Drawings = Drawings x

100 12

10 13
= 72,000 x X

100 2x12

= Rs. 3,900
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Ans 4.

15
Interest on Capital = 1,00,000 x o = Rs. 15,000 (i)

Add : Parther’s Salary = Rs. 6,000 x 2 Rs. 12,000 (ii)

Normal Profit (i) + (ii) 27,000
. 30,000+36,000+42,000
Average Profit = 3
_1,08,000
~ 3
= 36,000

Super profit = Average profit — Normal Profit
Rs. 36,000 — 27,000
Rs. 9,000
Goodwill = Super profit x No. of year purchase
= Rs. 9000 x 2
= Rs. 18,000

Ans. 5. The difference between preference shares and Equity shares are as

under :-

(i) Rate of Dividend: - The rate of dividend on preference sharer is fixed

where on the rate of dividend is not fixed in case of equity sharer

228



(ii) Arrears of Dividend: - In case of cumulative preference share, arrears

of dividends are accumulated where as Accumulation of arrears of

Dividend on equity share does not arise.

(iii) Voting Right: - Preference share holders have not voting right in

meeting where as equity share holders have full right to vote in all

circumstances.

JatfRpR 3 iR |qHAT S ¥ Y R A afad & |

1.

AT B GR— YAIEHR 3fT TR MY U Jd HiRad av 9 & S

2 | Sidfd FHAT 3 W A9y @ e} Af¥Ed T8 Bt & |

2.

AT B BT ART— YAMEHR e R 6l a9 iy 181 f&ar irar
g Tl ™Y S FH1aT IR0 AT Biell ST Safds qHdm Sl uR e
1 IR A e B Hehell B |

are ST @l JMHR — Yaf¥ieR ieRal & ww e o | 7 de
ST &1 JAMHR T BT & STafdy T ALENAT DI B DI AT

q gIe STy Bl BN Brar 2 |
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Ans. 6

Journal Entries

Dr Cr
Date Particular Amount Amount
(i) Realisation Alc ........... Dr 12000
To Bank Alc 12000
(Being Bank Loan Paid)
(i) Realisation A/c............ Dr 1500
To A’s capital A/C 1500
(Being realization
expenses paid by A)
(iii) A’s capital Alc............ Dr 1000
B’s capital Alc............ Dr 4000
To Realisation A/c 14000
(Being loss on realization
transferred to partner
capital A/c in the ratio of
5:2
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Ans. 7.

Journal Entries

Dr.

Cr.

Date

Particular

Amount

Amount

Share capital Alc......... Dr
(200 x10)

To Share Allotment A/c
To share first call A/c

To forfeiture of shares Alc
(Being forfeiture 0f200

shares of Naveen

2,000

600

800

600

(ii)

Bank Alc ..o ... Dr.

Forfeiture of shares A/lc...... Dr.

To share capital A/c

Being re-issue of forfeited
share to Amit @ Rs. 8 per

share)

1600

400

2,000

(iif)

Forfeiture of shares Alc.......... Dr

To General Reserve Alc
(Being Transfer of
balance of Forfeiture of
shares A/c to capital

Reserve)

200

200
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Ans.8. Following are the nature of financial statements:
(i) Financial statements are the end product of accounting system.
(i) Financial statements relate to past period and thus, are historical
documents.

(iii) The financial statements are financial in nature, that is expressed in

term of money.

(iv) Financial statements are based on recorded facts.

T e A
1. o eRor oRaie gfdar &1 ifvaq aiRom & |
2. fadia fRRor &1 A g @i 9 BT 2 iR gafoy 3% VEiRie
Uog AT ST 7|
3. faciy faarol &1 yapf O & a1eria 3 &1 9 <Jad &1 S Heh arell

TI¢ UG B & |

4. fadg fQaror owifed dgeai w amalRa 2 |

Ans. 9.

Working capital = Current Assets — current Liabilities
where, working capital = Rs. 2,50,000

current Liabilities = Rs. 80,000+ 30,000 + 2,30,000
= Rs. 3,40,000
Working capital = current Assets — Current Liabilities
2,50,000 = Current Assets — 3,40,000
2,50,000 + 3,40,000 = Current Assets
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Current Assets = Rs. 5, 90, 000

Ans. 10.

Calculation of cash form operating Activities

Particular Amount Amount
Loss during the year (-) 50,000
Add: Decrease in Debtors 5,000
Decrease in Prepaid expense 1,000 6,000
(—=) 44000
Loss: Decrease in creditor 2000
Increase in Bills Receivable 2000
(—4000
Cash Loss from operating (—48000

Activities
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Zos— Il ( section -lil)

Long Answer type Question

e 3T uee
Ans:- PROFIT AND LOSS APPROPRIATION ACCOUNT
Dr. Cr.
Particulars Amount Particulars Amount
To Salary: Rs. Rs.
Ramesh (Rs. 2,000 X 12) 24,000 By Profit & Loss Alc
Suresh (Rs. 3,000 X 12) 36,000 60,000 (Net Profit as per
To Interest on Capital: Profit & Loss A/c) 1,00,300
Ramesh 9,600 By Interest on Drawings:
Ramesh 2,000
Suresh 7,200 16,800 Suresh 2,500 4,500
To Profit transferred to Capital A/cs:
R
Ramesh 16,000
r3 N
Suresh 12,000 28,000
Z
1,04,800 1,04,800
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PARTNER 'S CAPITAL ACCOUNTS

Dr. Cr.
Particulars Ramesh | Suresh Particulars Ramesh | Suresh
Rs. Rs. Rs. Rs.
To Drawings 40,000 50,000 ByBank 80,000 | 60,000
To Interest on 2,000 2,500 BySalary 24,000 36,000
Drawings
To Balance c/d | 87,600 62,700 By Interest on Capital 9,600 7,200
By Profit & Loss
Appropriation A/c 16,000 12,000
(Share of Profit)
1,29,600 |1,15,200 1,29,600 [1,15,200
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Ans. 2.

Journal Entries Dr. Cr
Date Particulars L.F. Amount . Amount
2016 Rs Rs.
Apri 1 Building A/C .o Dr. 20,000
Provison for Doubtful Debts A/c .........c..coevneal. Dr. 4,000
To Revaluation A/c 24,000

(Being value of building appreciated and

Provision for D.D. reduced)

Revaluation A/c Dr 6,000
To stock Alc 6,000

(Being value of stock reduced)

Revaluation A/c Dr. 18,000

To A’s Capital Alc 6,750
To B’s Capital Alc 6,750
To C’s Capital Alc 4,500

(Being profit on revaluation transferred to
Partners’ Capital Accounts in their old profit-sharing

ratio)
Revaluation Account
Dr. Cr.
Particulars Amount Rs. Particulars Amount Rs.
To Stock Alc 6,000 By Buildings Alc 20,000
To Capital A/lcs: Rs. By Provision Doubtful 4.000

Debts A/c
A 6,750
B 6,750
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C 4,500 18,00
24,000

Ans 3

geldicaichel JTd H foreaiaiRaa ufaiesi @5t et 2:

(1) JFaafea=ii &1 AT BHA Bt U
Revaluation A/c
To Assets A/IC
(Being decrease in the value of assets.)
(2) JFuafadt &1 AT o U
Assets Alc
To Revaluation A/c
(Being increase in the value of assets.)
@) =Rl w1 FeT T U=
Revaluation A/c
To Labilities A/C
(Being increase in the value of liabilities)
(4) e¥rE@t @1 eI "ed U=
Liabilities A/c
To Revaluation A/c

( Being decrease in the value of liabilities)

(5) Geldcideel JTd H cTH &l U2

Revaluation A/C. ...

To Old partners’s capital A/C

24,000

...Dr.

...Dr.

...Dr.

...Dr.

(Being profit on revaluation credited to old Partner’s Capital A/c)

(6) Geldicidbel JTAd & &lfel &t U2
Old Partner’s Capital A/c

To Revaluation A/c

...Dr.

(Being Loss on revaluation debited to old partner’s Capital A/c)
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Ans. 4.

Ans:- In the Books of Jupiter Company Ltd.

Journal Entries Dr. Dr.
Date Particulars L.F{ Amount Rs.| Amount Rs.
Bank A/c Dr. 1.05.000
To Equity Share Application A/c 1,05,000

(Being equity share application money
received on 35,000 equity shares

@ 3 per share)

Equity Share Application A/c Dr. 1,05,000
To Equity Share Capital A/c 1,05,000
(Being equity share application
money received on 35,000
equity shares @ Rs.3 per share

transferred to Equity Share Application A/c)

Equity Share Allotment A/c Dr. 1,75,000
To Equity Share Capital A/c 1,05,000
To Securities Premium Alc 70,000

(Being equity share allotment money

due on 35,00 equity shares @ Rs.5 per
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share including premium @2 per share)

Bank A/c Dr.
To Equity Share allotment A/c
(Being equity share allotment money
received on 35,000 equity shares @

Rs. 5 per share including premium)

1,75,000

1,75,000

Equity Share First and Final Call A/c Dr,

To Equity Share Capital A/c
(Being equity share first and final call money
due on 35,000 equity shares @ Rs. 4

per share)

1,40,000

1,40,000

Bank A/c Dr.

To Equity Share First and Final call A/c
(Being equity share first and final call
money received on 35,000 Shares @

Rs. 4 per share)

1,40,000

1,40,000
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Ans. 5

Comperative Income Statement

Particulars 2015 2016 Absolute |Percentage
Increase / | Increase /
Decrease | Decrease
Rs. Rs. Rs.
Gross Sales 1,50,000 | 1,80,000 30,000 20¢
Less : Returns 3,000 6,000 3,000 100**
Net Sales 1,47,000 | 1,74,000 27,000 18.37***
Less : Cost of Goods Sold 87,000 | 1,04,000 17,000 19.54
Gross : Profit 60,000 70,000 10,000 16.67
Less : Other Expenses 25,000 30,000 5,000 20.00
Net Profit 35,000 | 40,000 5,000 14.28

Working

*) 30,000 X100 = 20%,

1,50,000

3,000 X 100 = 100%,

3,000

*)y 27,000 X 100 =18.37% amarer: |

1,47,000
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Ans. 6 (i) Cost of Goods sold = Opening Stock + Purchase — Closing stock
For 2014 - 15 = Rs 40,000 + 2,55,000 — 65,000
= Rs 2,30,000
For (2015-2016) = Rs. (65,000+3,40,000 — 50,000) = Rs. 3,55,000

Opening Stock + Closing stock

(i) Average Stock = 2

40,000 + 65,000

For 2014 - 15 = 2 = Rs 52,500

65,000 + 50,000

For2015-16 = 2 = Rs 57,500

Cost of Sales

(iii)  Inventory Ratio = Average Stock
2,30,000
For 2014 - 15 = 52,500 = 4.38 Times
3,55,000

For2015-16 = 57,500 =6.17 Times
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Model Paper
e (Accountancy)

set-X
Ivs—1  (Section-1)
axgferss wear (objective type Question) 1x40=40
Rrden— ues JFTM 1 A 40 I H TR Awcu Re o 2 Bed JF v I 21 & oy
® gol Ud ud A Rafesa &2
Instructions:- For Question Nos.l to 40 there are four alternative of which only one is correct. Choose

the correct alternative and mark it in the answer sheet.

For a non trading concern, honorarium is:

(@) Income (b) Assets

(c) Expenses (d) None of these

A life membership fee received by a Club is shown in:

(@) Income and Expenditure Account
(b) Balance sheet
(c) Receipts and Payments A/c

(d) None of these
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Specific donation is:

(a) Capital Receipts (b) Revenue Receipts

(c) An assets (d) None of these

Income and Expenditure Account is prepared by

(@) Not for — profit Organisation (b) Business Entity

(c) Industrial Entity (d) None of these

Excess of expenditure over income is known as

(a) Profit (b) Loss

(c) Deficit (d) Surplus
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When fixed capital system is adopted, the accounts opened in the books of the

firm with respect of Partner’ s account

(@) Only capital account (b)  Only current accounts

(c) Capital and Current accounts (d) None of these

What should be minimum number of person to firm a partnership?

(@ 2 (b) S

c) 10 d) 20

Interest payable on the capital of the partner is charged to:

(a) Profit and Loss A/c

(b) Profit and Loss Appropriation A/c
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(c) Profit and Loss Appropriation A/c

(d) Trial Balance

Profit and Loss Appropriation Account is prepared:

(@) To find out divisible profit
(b) To find out net profit
(c) To create reserve fund

(d) None of these

Interest on Drawing is for firm.
(a) Expenses (b) Loss

(c) Profit (d) None of these

The interest on Partner’s drawings is debited to:
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(a) Partner’s Capital Account (b) Profit and Loss A/c

(c) Drawings Alc (d) None of these

The monetary value of reputation of the business is called:

(@) Super Profit (b)  Abhormal Profit

(c) Surplus (d) Goodwill

The balance of Revaluation Account is transferred to old partner’s Capital

Accounts in Their

(a) Old Profit Sharing Ratio
(b) New profit sharing ratio

(c) Equal ratio
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(d) None of these

Decrease in the value of fixed assets is termed as:

(a) Depreciation (b) Loss

(c) Profit (d) Expense

Due to admission of a new Partner in Partnership firm.

(a) A Partnership firm is reconstituted
(b) Partnership is reconstituted
(c) Business is reconstituted

(d) None of these

A life insurance policy taken on joint lives of all partners is called:
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(a) Joint Life Policy

(b) Single Life Policy

(c) Firm’s Life Policy

(d) None of these

X [ Y

X Y X I

(x, y and z are partners sharing profit in the ratio3: 4:3:4 Y retires, and x and Z

share his profit in equal ratio. New ratio of X and z is:

Joint Life Policy amount received by a firm is distributed in:

(@) Openinig Capital Ratio
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(b) Closing Capital Ratio

(c) Old profit sharing Ratio of perdan

(d) None of these

On taking responsibility of payment of a liability of Rs. 1,00,000 by a Partner,

the account credited will be:

(a) Realisation Alc (b) Cash Alc

(c) Partner's Capital A/c (d) None of these

On dissolution of the firm, Partner’s Capital accounts are closed through:

(a) Realisation Account (b) Drawings Account

(c) Bank Account (d) Loan Account

A firm can be voluntarily dissolved by the Partners.

(@) On Majority basis (b)  On % member decision
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(c) On 1/3 members decision (d) None of these

Which one of the following is the registered capital of the company:

(a) Paid-up Capital (b)  Uncalled Capital

(c) Authorised Capital (d) Issued Capital

The maximum capital beyond which a company is not allowed to raise fund by

issue of share is called:

(a) Issued Capital (b) Reserve Capital

(c) Authorised Capital (d) Subscribed Capital

Which of the following should be deducted from the share capital to find out paid

up capital of a company?
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(a) Call-in-advance (b) Calls in arrear

(c) Share forfeiture (d) None of these

When full amount is due on any call but it is not received then the short fall is

debited to:
(a) Calls in Advance Account (b) Calls in Arrear Account
(c) Share Capital Account (d) None of these

Loss on issue of debentures is generally written off on:

(@) 5Syears (b) 10 years

(c) 15years (d) Over the period of redemption

In the balance sheet of a company Debentures are shown under the head:
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(@) Long-term borrowings (b) Unsecured Loan

(c) Reserve and Surplus (d) None of these

The balance of sinking fund Investment Accout after the realization of

investments is transferred to:

(a) Profit and loss Alc (b) Debenture Alc

(c) Sinking fund A/c (d) None of these

The prescribed from of the balance sheet is given in which schedule of the

campanies act, 2013.

(@) Ml partl (b) Nl partll

(c) Ml partlil (d) None of these

The reserve which is created for a particular /specific purpose and which is a

charged against revenue is called :
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(a) Capital reserve (b) General reserve

(c) Specific reserve (d) None of these

In which meeting of company director’s report is presented :

(a) Director Meeting (b)  Annual general meeting

(c) Managers Meeting (d) None of these

On the basis of process, which of the following is the type of financial analysis

A B
(a) Horizontal Analysis (b) Vertical Analysis
(c) Ratio Analysis (d) Both aandb

Which of the following is not a cash in — flow
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(a) Sale of fixed asset

(b) Purchase of fixed asset

(c) Issue of debentures

(d) None of these

Which of the following is not application of cash

(@) Increase in debtors (b) Increse ib stock

(c) Increase in creditor (d) None of these

Which of the following is not an example of cash out flow:

(a) Repayment of Loan (b) decrease in creditors

(c) Issue of debentures (d) None of these

Which one of the following is non cash item:
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(a) Cashsale

(c) depreciation

Cash flow statements is related to:

(a) As-3

(c) As-9

(b)
(d)

(b)
(d)

Goodwill written off

None of these

As-6

As-12

Which one of the following ratio is most important in determining the long terms

solvency of a company .

(a) Profitability ratio

(c) stock turnover ratio
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(b)
(d)

Debt-equity ratio

Current ratio



The ideal of debt-equity ratio is:
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2.
8.

14.
20.
26.
32.
38.

Answer: -
1.  (¢)
7. (a)
13. (a)
19. (c)
25.  (b)
31. (c)
37. (a)

(b)
(c)
(a)

(b)
(b)

15.
21.
27.
33.
39.

Model Paper

Set-X

(@)
(a)

(d)
(d)
(b)

10.
16.
22.
28.
34.
40.
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fader

Model Paper
Set (x)

Short Answer Type Questions

?ITEB?I@HW
S Y AT 1 9 10 AP oY SR U © 9T AP & foy 3 oidp uiRa 2|

Instructiions : For Question Nos. 1 to 10 are Short answer type question and each question carries 3
marks.

11.

12.

13.

14.

15.

=T /7 2 ? I Fdra 31 (B o [ 31 9uie Sudad IQTER0T g§RT HIIY |
What is Goodwill? Explain any one method of calculating Goodwill by giving suitable example.
TP BH & FEIE B R H @ar &1 FuerT &9 fFar S &7

How accounts are settled in the case of dissolution of a firm ?

M AR T ARIER € S 35 & U # o™ g BN @l dfed €| d H6gd @ i
BIA T, S 9T o H 1 /4 TR U BT S 98 N9 QIR W ¥ aRIER U Rl
2 | AT AU T RT & AT Bl ITIMET DIFSTY |

Ram and Shyam are partners sharing profits and losses in the ration of 5:3. They admit Mohan who will
receive 1/4™ in future which he receives equally from Ram and Shyam. Calculate New ratio and

Sacrificing ratio.

2015 ¥ 3MTE Fold €T UTW TI< %00 40,900 & 798 2014 & foTT w0 500 d2AT 2016 &
foTg 1,000 =7 S 9T T8I §Y, W0 800 &, STafh I Y Bl 1H Ured T 0 1,800
S

In 2015 the subscriptions received by Azad Club were Rs. 40,900 including Rs. 500 for 2014 and Rs.
1,000 for 2016 at the end of 2015, the subscriptions outstanding for 2015 were Rs. 1,500. The

subscriptions due but not received at the end of the previous year, i.e. 31-12-2014 were Rs. 800 while

subscriptions received in advance on the same date were Rs. 1,800.

Uh a9 g7 fUsel uig auf # 1ifid o 799 IdR 9 — F0 12,000, 0 13,000, F0
14,000, 0 18000 Ud 0 2,000 (BT) | =TT &1 e avlet afs I fUoel auf & oia
AT & AT WX BT |
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The profits earned by a business over the last 5 yars are as follow Rs. 12,000, Rs. 13,000, Rs, 14000, Rs.
18000 and Rs. 2000 (loss), Find out the value of Goodwill if it is based on 2 years purchase of the

average profit of last 5 years.

16.1 I 2016 HI AU, ¥hex feAT fafices & IA® F0 10 dTel 500 AW & RS o |
I W0 4 YT Y B &R A YA fbar or | I Al &1 A1l & Tb qar § gH
Td JIfTH AT HAT: H0 2 AT W0 4 Ul 3T B &R F 7 gHR W & HRY Ib
39T T BROT B ol TAT| 1 Hg, 2016 DI U AY B HITeAlel Dl W0 4,500 H Yuiad wY
H g FRifd o) Q8 T | SR o gDl H B8RO Ud A PR & ol B ISl
gfafsedr S |
On 1% April, 2016 , Satyapal was the holder of 500 shares of Rs. 10 each of Scooter India Ltd. He has

paid Rs. 4 per share. At a meeting of the Directors held on that day his shares were forfeited for non-
payment of the first and final calls of Rs. 2 and Rs. 4 per share respectively. On 1% May 2016, these
shares were reissued fully paid to Maganlal for Rs. 4,500. Give the Journal entries for recording

forfeiture and reissue in the books of the company.

17 frelt et & anfées fag i frafafiaa w€i =) gwar g0 =ifae’ e & A ikl @ sr=ia vefd
f=n s ?
Under what heads the following items on the ‘Equity and Liabilities’ side of the Balance
Sheet of a Company will be shown ?

(i) 2 fa9s (Bills Payable)

(ii) AR 3791 4Si (Preference Share Capital)
(iii) 9 (Debentures) .

(iv) 3189 A= (Calls-in-arrears)

(v) 9= §=9 (General Reserve)

(vi) = = AU 9=9= (Provision for Tax)

FreAffEe fa=7oi J 39 =] A9 1 7T0H1 F441 © ¢
From the following particulars, you are required to calculate Current Ratio :

18.

T 3

TafaaT (Stock) 50,000 == %3 (Cash in hand) 30,000
=T (Debtors) | 40,000/ ¥R (Creditors) 60,000
e foret (B/R) 10,000, % 51 (B/P) 40,000
#firT 7 (Advance Tax) 4,000 | 5% wfufsd (Bank Overdraft) 4,000

19. AT fohamaeil | Jbs T AT fhd YR B Sl 27

How Cash from Opening Activities calculated?

20. 70T Ul & T & Sd Bl gdold |

State the sources of funds for redemption of debenturers.
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zus— Il ( section -lll)

Long Answer type Question
&l IT9T uea

forder : Uoel JASAT 1 A 6 deb Sl 3T U9 & dal e & iU 5 3 forerii=d 21

Instructions : For Questions Nos. 1 to 6 are Long answer type and each question carries 5 mark .

Long Question

QNo.l i, 5= T8 H< WERET B S @ 1 32 1: 173 I A Sfed ¥ 1 e o | SToemme W h
¥ | S e TRV 1 T T e UE e S gE # € 1,00,000 SifHd o1, T 80,000 W HEAHA
o 7T, TFER 2 20,000 % T g4 Y 2 2,000 FH W SR 2 1,00,000 F7 %&1% 1,25,000 | el
foran T | 3 oA & T 7 500 1 wEHH fEwm T
ST % fou Savas Sa o o I IR THeaT o s el
Rohan, Chandan and Kundan are partners sharing profits in the ratio of3:1:1 Rohan
retires from the firm. On the date of his retirement Plant & Machinery which stood in the books
at 7 1,00,000 was valued at ¥ 80,000, Debtors at ¥ 2,000 less than the book value of ¥ 20,000 a.md
building of ¥ 1,00,000 was valued at ¥ 1,25,000. A provision of ¥ 500 was made for outstanding

expenses. .
Pass the necessary Journal entries for the above and prepare Revaluation Account.

Q.No. 2 31 fewm, 2016 =1 §HE 91 a1 9 F faw J. 8. Club, T fEoe #1 Wi a9 A @
Frafafed & . '

Following is the Receipts and Payments Account of J. S. Club, New Delhi for the year
ending 31st December, 2016.

. S 3 | -? : e )‘Emai.a Cooi i
{3 ¥ (To Balance b/d on 1-1-2016) 2,300 | ¥ =719 (By Match Expenses) . 6,800
%12 (To Subscriptions) | 56,400 fFT (By Rent) 9,600
= (To Interest) | 300 & (By Salaries) " 24,000
- M (To Donation) 6,000 fafay =9 (By Sundry Expenses) 3,600
W9 %Y & 7T M (To Donations for | | fafim @R (By Investments !

Building Fund) 50,000/ Purchased) - 30,000
#= %19 (To Match Fund) - 10,000 ¥HMER-9H (By Newspapers) ! 750
fafay mfat (To Miscellaneous @d 1 WA (By Sports Equipments) 32,000
Receipts) | 430 %% 99 (By Balance¢/d on 31-12-2016) 18,780

ure F1 f&%7 (To Sale of Grass) 100 B
1,25,530 | _1,25,530

2015 & 37 | T 4,000 T4 2016 F 370 F T 6,000 T< o UG 4| 94 31 feg=w, 2015 3iw 31
feawai, 2016 1 FHIM: T 2,000 3 T 2,500 37T I |

31 feww=w, 2015 = Fora & 99 faf@m 7 12,000, $H=T 2 10,000 @& Bl 1 €EA T 20,000
AT

AR W 20% T WEll o WHR T 25% B9 o719 & 91 31 fedwar, 2016 &1 HHG 219 9161 99 &7
HE T4 = T q5C 90 31 femm, 2015 = IS w9 7 wifaw)
Subscriptions outstanding at the end of 2015 were ¥ 4,000 and at the end of 2016 were

. ¥6,000. Salaries outstanding on 31st December, 2015 and on 31st December, 2016 were Z 2,000
and T 2,500 respectively. '

.On 31st December, 2015 the Club had Investments worth Z 12,000; Furniture Z 10,000 and
Sports equipments valued at ¥ 20,000.

Prepare Income & Expenditure A/c for the year ended 31st Dec., 2016 and ascertain
Capital Fund on 31st December, 2015, depreciate furniture by 20% and sports equipments by 25%.



Q.No.3 < Td 3R &t Ao F 2 : 1% 9 ¥ afed 4, 3 vl & faged w = a3 3 fom
S o Wt wif | ffvm w (Y % 3w o a ot ) T @
TG el 1 T ¢

Pass the necessary Journal entries for the following transactions on the dissolution of the
firm of James and Haider who were sharing profits and losses in the ratio of 2 : 1. The various
assets (other than ¢ash) and outside liabilities have been transferred to Realisation Account :

(i) SR ¥9H 9E % T 10,000 S Y 1 YA FTH ¥G TG g (James agreed to pay off his

brother’s loan Z 10,000.) |

(i) TR & TgE & T 12,000 (Debtors realised 7 12,000.)

(i) & 7 frore 1 7 12,000 # feran (Haider took over all investments at Z 12,000.)

(iv) fafay TeR 2 20,000 1 5% H FHRA R A 1 70 (Sundry creditors 20,000 were
paid at 5% discount.)

v) el % 579 T 2,000 §U (Realisation expenses amounted to Z 2,000.)

(vi) e T &2 10,200 o (Loss on realisation was ¥ 10,200.)

Q.Nod & woat frmat arfera 57t 7 15,00,000 2 10 a1t 37wt § fyenfaa oft, st it ) 39 1,00,000
si Fertfira ) T o R 2 1 ST 3 foA, 7 2 oA 3 R, @ 8 werw it & 2 4 e b e 2 e
90,000 it 3 foFT e o iR S afw aTafea frd | Wt T i R firen T, P e fnd,
e a 200 31 9,3 aﬁnmﬁmﬁéuwﬁaaﬁaﬁmmfmmmmﬁﬂﬁﬂ%
3 8 9fd 39 & fewma & o= M

IYad T-o7 o fu I | e sifg |

A company was formed with a capital of ¥ 15,00,000 dmded in shares of ¥ 10 each. It
offered to the public 1,00,000 shares payable as Z 1 on application, ¥ 2 on allotment, ¥ 3 on first
call afd 4 on final call. Applications were received for 90,000 shares and the shares were
accordingly allotted. All the money was duly received except one shareholder holding 200,.
shares, who failed to pay final call money. These shares were subsequently forfelted and resold
for T 8 per share.

Give Journal entries for the above transactions.
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Q.No.S = = ¥ 2 f. 1 TF oo qo-Ta daR HiT

From the following information, prepare a Comparative Balance Sheet of Depth Ltd.:

T 91 91 (Equity Share Capital) ©20,00,000! 25,00,000
A AT (Fixed Assets) £ 30,00,000] 40,00000 <
H99 U3 #T49H (Reserves & Surplus) 500,000 10,00,000

JSIAW : TR Ed @M = 50,000

stga RfERE S = 4,00,000

T T B W = 10%

e Yy g =l & T 3R $ oaet & "@en 3 ad @y
uel, g oy = siwm ffaRe g x oA T @ =
= 4,00,000 x 10%

= 40,000
Q.Ni s = Safes offed oW - 9mE o
= 50,000 - 40,000
= 10,000 .
ol (A Rt g = s x #9 ael & den
= _10,000. x 3
‘= 30,000
Goodwill means the reputation earned by a firm through the hardwork and honesty of its owners.
Goodwill (By Super‘ Profit Method) = Super Profit x No. of Years Purchases
Actual Average Profit = 50,000
Average Capital Employed = 4,00,000
Normal Rate of Return = 10%
Here, Normal Profit = Average Cap. Employed x Normal Rate of Return
= 4,00,000 x 10%
= 40,000
Super Profit = Actual Average Profit - Normal Profit
= 50,000 - 40,000 = 10,000
Goodwill (By Super Proit Method) = Super Profit x No. of Years Purchases
= 10,000 x 3
= 30,000

2. B4 & §EOE R Fuert FEfiRad adie | fear omar @ —

1. FAULH T BT BT o™ 9 Q=T foham SIrar e, R AsieRl @ goil 9 iR R
AEIERI §-T S 37U A4 31UTd § ARG w9 ¥ g8 {har S 2 |

2. ARl & a¥gel o uT iy e ueR & vt Bl § —
() SHA FAULH Il IIRI@l BT YA BT |
(@) R AEERI & FO & I 8N |
() f= \ERRT @ Yol &1 a8 |
(&) 39d 918 UAY ANV g9 UR AR §H AU ATI—8T IUTT H I ol |

Settlement of Accounts of dissolution is following:
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1. First of all, All losses shall be paid out of profits, next out of Capital, if necessary
will be realized from the partners in their profit sharing ratio.

2. Amount realized from the sale of the assets of the girm, shallbe applied in the
following manner & order.
(a) First of all outside debts of the girm will be paid.
(b) Out of the remaining amount the loans by partners will be paid off.
(c) After that, partners Capital A/c will be refunded.
(d) It some amount remains, it will be divided among the partners in their profit

sharing ratio.

Q.No. 3 Ans. Ram & Shyam = 5: 3
Mohan zl
- 4
e 51U U9 F ¥ $ A T 96T =
Mohan acquired his share from Ram & Shyam = :l{x—;— =~:;
sufew, =& 399\ So, New Share of—
Ram _5 1_4
8 8 8
Shyam 3 1_2
"8 8 8
Mohan . i
4
4.2 1 4:2:2
8 8 4 8
7 AU So, New Ratio 4:2:2
AT IEOE = QO AW - T AW
Sacrificing Ratio of = Old - New
Ram _5 4_1
8 8 8
Shyam - =§_‘%=i
8 8 8
So, sacrificing ratio = 1:1
(Q.No.d ~ Calculation of Subscription for 2015
S 4
Total Subscription received 40,900
Add : Qutstanding Subscription (2015) 1,500
42,400
Less  Outstanding Subscription for 2014 received in 20135 . 500
41,900
Add : Subscriptions reccived in Advance (belonging to 2013 1,800
43,700
Less ; Subscription received in Advance (belonging to 2016) 1,000

Subscription for 2015to be credited to Income & Expenditure Al 42 700

A— s a_



Q.No.5 & &y = worT— 3
999 35 12,000
FSIREL] 13,000
FEIREEE] 14,000
o ad a9 1R 0NN
Q.No.6 Journal Entries Dr. Cr.
TR TP
2016 z z
April 1 |Share Capital A/c Dr. ; 5,000
To Forfeited Shares A/c 2,000
| To Share First Call A/e 1,000
To Share Final Call A/e 2,000
(Being forfeiture of 500 shares for non-payment of first and final call
of T 2 and T 4 per share) ¢
May 1 ([Bank A/c Dr. 4,500
Forfeited Shares A/c Dr. = 500
To Share Capital A/c | 5,000
(Being reissue of forfeited shares) 1
Forfeited Shares A/c Dr. | 1,500
To Capital Reserve A/c z 1,500
(Being balance of forfeited shares transferred to Capital 1
Reserve A/c) i
Q.No.7
SN | - dtems | = Heading | Subheoding (ifuny)
(i) | Bills Payable Current Liabilities Trade Payables
(i) | Preference Share Capital ' Shareholders’ Funds Share Capital
(iii)  Debentures ' Non-current Liabilities Long-term Borrowings
(iv) | Calls-in-arrears  This will be deducted from —
' Called-up Capital
(v) | General Reserve Shareholders’ Funds Reserves and Surplus
(vi) | Provision for Tax  Current Liabilittes | Short-term Provisions
Q.No.8 .
T | _ Tl (Current Assets)
=1e] A9 (Current Ratio) = il

1 ST (Current Liabilities)
Current Assets = Stock + Debtors + B/R + Advance Tax + Cash in hand
=% 50,000 + 40,000 + 10,000 + 4,000 + 30,000
=¥ 1,34,000
Current Liabilities = Creditors + B/P + Bank Overdraft

=% 60,000 + 40,000 + 4,000 =¥ 1,04,000

Current Ratio = %3@9% =134 :104 or 67 :520r1.29:1

Foreere — 1] ST W =1 ST 2+ 1 W A § | TR I T ¢ o EH e e g o
A TE 2



Q.No. 9 (Cash flow from operating activities)
- gaen frell ¥ U%e R
Profit after tax & Dividend
(F 9 Y & qYEE B )
+ Non Cash exps. (R THE =9)
~ Non Cash income (R 1&g 1)

= QOperating profit befbré working capital charges
(T oW FEdE G § aRadT & ved)

+ Decrease in C/Assets & Inc. in current Liabilities

(T TR § = w e ar § gt

— Inc. in current Assets & Dec. In current liabilities

(T wRRl & 3fe wd e arre § w)

— Tax paid during the year |

(ad & T W PEH)
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Q.No.10
FO-T o W o Frfaiea s € :(Following are sources of Redemption of debentures)
1. qsft # & ¥e ST (Redemption out of Capital),
2. @4l # ¥ WY FA (Redemption out of Profits),
3. 3I9/E-vE | 9ftadq gr ¥eF T (Redemption by Conversion into Shares/Debentures),
4. 9/EO-Gi F T frim § e ufn ¥ Me FW (Redemption out of Proceeds of Fresh

Issue of Shares/Debentures),
5. %ot wege w1 fasht & wra Tf¥r & e (Redemption out of Sale Proceeds of Fixed Assets) |

m—uﬁﬁvﬁma}m

Tt & § e R
A FEN A FE

Long Question Answer

Q.No. 1 Journal Entries Dr. Cr.
z Z
Revaluation Afc Dr. 22,000
To Plant & Machinery Afc 20,000
To Debtors A/c 2,000
(Being fall in the value of plant and machinery and debtors)
Revaluation A/c Dr. 500
To Provision for Qutstanding Expenses Afc 500
(Being provision made for outstanding expenses)
Building Afe Dr. 25,000
To Revaluation Alc 25,000
{Being appreciation in the value of building)
Revaluation A/ec Dr. 2,500
To Rohan’s Capital Afe 1,500
To Chandan's Capital A/e 500
To Kundan's Capital A/c 500
(Being profit on revaluation credited to Partners' Capital A/csi

Revaluation Account

R T
4 4

To Plant & Machinery A/c 20,000 | By Building A/c 25,000
To Debtors Ale 2,000
To Provision for O. S. Expenses A/c 500
To Profit transferred to Capital ¢

A/cs : Rohan 1,500

Chandan” 500

Kundan 500 2,500



Q.No2

(St e Rt Balance Sheet
“ (as on 31st December, 2015)

Outstanding Salaries : 2,000 | Cash in hand 2,300
Capital Fund (Balancing figure) E 46,300 | Outstanding Subscriptions 4,000
' ’ Investments 12,000
Furniture : 10,000

? Sports Equipments 20,000

48,300 48,300

Income and Expenditure Account

(For the vear ending 31st Dec. 2016)
To Rent T 9,600 B 4
To Salaries 24,000 By Subscriptions 56,400 |
Less : Outstanding | Less : Outstanding Sub-
Salaries for 2015 2,000 scriptions for 2015 4,000
| 22,000 52,400
Add : Outstanding Add : Qutstanding
Salaries for 2016 2,500 | 24,500 Subscription for _
To Sundry Expenses 3,800 2016 - 6,000 58,400
To Newspapers | 750 | By Interest 300
To Depreciation on : By Donation 6,000
Furniture 2,000 | - |{By Miscellaneous Receipts 430
Sports Equipments 13,000 | 15,000 By Sale of Grass 100
To Excess of Income over ; |
Expenditure (Surplus) ; 11,780 W‘
65,230 65,230
_ P ——
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Q.No. 3
Journal Entries Dr. Cr.

(@ |Realisation Alc Dr. 10,000
To James Capital A/c 10,000
(Being brother’s loan taken over by James)

(i) |BankA/c Dr. 12,000
To Realisation A/e 12,000
(Being debtors realised)

(iii) | Haider’s Capital A/c Dr. 12,000
To Realisation A/c 12,000
(Being Investment taken over by Haider)

(iv) |Realisation A/e Dr. 19,000
To Bank A/c 19,000
(Being creditors settled at 5% discount) -

(v) | Realisation A/c Dr. 2,000

' To Bank Alc , 2,000
(Being dissolution expenses paid)

(vi) |James Capital A/c Dr. 6,800

Haider Capital A/c Dr. 3,400
To Realisation A/c 10,200

(Being loss on realisation transferred to Partners’ Capital A/cs in
their profit-sharing ratio 2 : 1)
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Q.No. 4

Journal Entries Dr., Cr.

[ Date | Particulars _____ JLF N Amount |
| | z ¥
'Bank A/c Dr.' 90,000
| To Share Application A/c f 90,000
| (For application money received on 90,000 shares @ ¥ 1 each)

! Share Application A/e Dr. I 90,000
To Share Capital A/e 20,000
(For application money transferred to Share Capital A/c) !
Share Allotment Afc Dr. | 1,80,000 _
To Share Capital A/c 1,80,000
(For allotment money due on 90,000 shares @ ¥ 2 each) i !
Bank A/c Dr. 1,80,000
To Share Allotment Alc ‘ 1,80,000
|(Far allotment money received) ‘
Share First Call A/c Dr. 2,70,000 |
To Share Capital A/c - 2,70,000
‘Bank A/c’ Dr. 2,70,000
| To Share First Call A/c 2,70,000
_(For first call money received)
'Share Final Call A/c Dr. | 3,680,000
To Share Capital A/c i 3,60,000
(For final call money due gn 90,000 shares @ 3T 4 each)
‘Bank A/c Dr. 3,598,200
To Share Final Call A/e 3,598,200
(For final call money on 89,800 shares @ T 4 each received)
Share Capital A/c Dr. 2,000
To Share Forfeited A/c i 1,200
To Share Final Call A/e | ; 800
or forfeiture of 200 shares for non-payment of final eall) - 1 -
| Bank Afc Dr.! | 1.600]
Share Forfeited A/c Dr.| z 4001 000
To Share Capital Ale | | 1 g
i i T 8 each) | | |
Dr. | 800

Share Forfeited A/c
To capital Reserve A/C

(For transfer a blank of forfeiture all to
capital Reserve
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Comprative Balance Sheet of Depth Ltd.
(as on 31st Dec, 2015 and 2016)

-

or
N Decrease

1. Shareholders’ Funds : |
5,00,000

(a) Equity Share Capital £ 20,00,000| 25,00,000 25
(b) Reserves and Surplus 5,00,000 10,00,000  5,00,000 1.00
2. Non-current Liabilities : ; ; i
Long-term Borrowings (Loan) i 10,00,000, 12,00,000 2,00,000 | 20
3. Current Liabilities | 10,00,000 9,00,000/ (1,00,000)  (10)
Total | 45,00,000 | 56,00,000 | _11,00,000 | 24.44
e O Sa e, WS A pop gt e f
1. Non-current Assets :
Fixed Assets . 30,00,000 40,00,000; 10,00,000 33.33
Non-current Investments . 6,00,000 9,00,000 3,00,000 50
2. Current Assels | 9,00,000 7,00,000 (2,00.000) @ (22.22)
Total | 45,00,000 56,00,000 11,00,000 2444
Q.No. 6  Assuming that the Balance Sheets relate to a Ltd. Company.
Cash Flow Statement
(for the year ended 3 1st March, 2016)
CPaTtic GRS R g P S i T s SAmount:
T Z
I. Cash Flow from Operating Activities :
Decrease in Current Assets :
Decrease in Debtors . 5,000 5,000
Less : Increase in Current Assets and Decrease in Current Liabilities :
Increase in Stock (5,000)
Decrease in Creditors (10,000)
Decrease in Bills Payable (40,000)| _ (55.000)
Cash Lost in Operating Activities (50,000}
II. Cash Flow from Investing Activities :
Proceeds from Disposal of Non-current Assets :
Building 60,000
Machinery 20,000
. Net Cash Flow from Investing Activities 80.000 80,000
III. Cash Flow from Financing Activities :
Proceeds from Issuance of Share Capital _+1,00,000
Net Cash from Financing Activities . -1,00,000 -
IV. Net Increase in Cash and Cash Equivalents (I + II + III) 1 1,30,000

271
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o Set-—1
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01)

02)

03)

Section - |

40 Marks

RIS

(Accountancy)

RIS g

(Objectinv Question)

U 1R AR AT & fofv A<y BT YT Bl @ :

(For non-trading organisation, honorarium is)

(a)
(b)
(c)
(d)

q:rj Td YUY (A Capital Expenditure)
SIMYITd YY (A Revinue Expenditure)
3T (An Income)

ﬁ'ﬁ q aﬂs‘ BEl (None of these)

I~ @ral G911 el 2 |

(Income and Expenditure Account is prepared)

(a)
(b)
(c)
(d)

TS TR gNRT (By Business Organisation)
SIBIREERSEIE] g (By Industrial Organisation)

A T HHM ISl AR &I (By Not for profit Organisation)
Tfl Rt gl (By all organisation)

T Qe AT @I AR <9 §

(Receipts and Payments Account usually indicates)

(a)
(b)
(c)
(d)

SIBE] (Surplus)

tl\_rﬁ E}ﬂ'ﬁf (Capital Fund)
sfde 9y (Debit Balance)
?ﬁﬁ?‘d ‘xﬁ'q (Credit Balance)
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04)

05)

06)

07)

08)

Tt iR A @ |

(Receipt & Payment Account is a)

(a)
(b)
(c)
(d)

CERGRE]]] (Personal Account)
JR<fdd @ (Real Account)
“TH HIF YIdl (Nominal Account)

s_fl"éf q ?ﬁ‘s‘ BEl (None of these)

= & F BT A T BAM 99l TR TE 2 |

(Which of the following is not a not-for-profit organisation)

(a)
(b)
(c)
(d)

T AT (Tata Udyog)
HETARITT (College)

Yeldha FeTd (Sport Club)

ﬁ'ﬁ ﬁ aﬂs‘ :r&pf (None of these)

foddl TS & 39T §, AR B & ol—gIf BT fquror fhar Ser 2 |

(In the absence of any agreement, The profits and losses of the firm are shared)

(a)
(b)
(c)
(d)

XTER—eRTIN (Equally)

iﬁﬁ D 3qurd | (In Capital Ratio)
faf=1 31_j'q'|?ﬁ q (In Different Ration)
s_fl"éf q ?ﬁ‘s‘ &l (None of these)

SN FHSIT B SURIT # WSER & 01 W 1o &1 O & |

(In the absence of partnership agreement, interest on partner's loan is paid)

(a)
(b)
(c)
(d)

5% AN Bl IR T (5% p.a.)
6% ANE B R ¥ (6% p.a.)
7% dIS% B IR A (7% p.a.)
8% TSP Bl X T (8% p.a.)

Ud AR ARER) H WRER) o Affedd dva 8 9adl § |

(In an ordinary partnership maximum number of partners can be)
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09)

10)

11)

12)

(a) 10 (b) 20 (c) 30 (d) 50

AEEN B & Jviod W qfadl & qed # 9fg @1 gRom —
(Increase in the value of assets on reconstitution of the partnership firm results into)

(a) GRUIE sﬁa 7 P A (Gain to the existing partners)
(b) aéﬂ a9 3§-|3 3 ?ﬁ ET[%[ (Loss to the existion partners)
(c) GRUIE sﬁa BT A A ET&T (Neither a gain nor a loss to the existion partners)

(d) g—rrﬁ[ q ?ﬁ‘s‘ &l (None of these)

@ 2
(Goodwill is)

(a) ‘:ﬁ BRI (Tangible Assets)
(b) Cﬂ"jﬁ Frfa (In tangible Assets)
(c) dlef BBV (Current Assets)

(d) $TH A PI3 T8l (None of these)

feet A a9l & @™ H % 7,000, T 12,000 TAT 6 8,000 | WA BT Yod A AN & 2 U1 & HH W
BT

(Profit of last three years were Rs. 7000, Rs. 12,000 and Rs. 8,000. The value of goodwill at 2 years purchase of
average profit will be)

(a) Rs. 81,000 (b) Rs. 27,000
(c) Rs. 9,000 (d) Rs. 18,000

U T WRER & Y3 W, Gferdl & Jeg 4 HA &1 Sfde fdbar o &

(On the admission of a new partner, the decrease in the value of assets is debited to)

(a) A—gT TS QT ¥ (Loss Adjustment Account)

(b) uRewfa grar ff (Assets Account)

(c) ﬂ?'lef W@W D tiT:ﬁ 97 | (Old Partners Capital Account)
(d) 371"}[ ﬁ aﬂs‘ :r&pf (None of these)
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13)

14)

15)

16)

17)

Y IH W A AT B Bl 987 W @

(Profit or loss on revaluation is borne by)

(a) gqﬁ g QS-IG Y (Old Partners) (b) :Pj d sia Y (New Partners)
(c) REIIEER (All Partners) (d) 371"}[ q aﬂs‘ BEl (None of these)

T WIHER & gRT T DI R THE A Bl el @

(Share of goodwill brought in cash by the new partner is called)

(a) BRI (Assets) (b) oY (Profit)
(c) 34@"1?\’1 (Premium)  (d) g (Loss)

3AHTY FUT PR dTel WIBIER BT WM & Tl ©

(Goodwill is paid to the retiring partner in)

(a) gqﬁ AT—gI SERIN i (Old profit sharing ratio)

(b) qTrﬁ D Sgurd 7 (Capital ratio)
(c) SRIR—EXTIN (Equally)

(d) I IUT H  (New ratio)

TP AEER 3 9 @1 <901 ¥ G oar 7 g1l 9Ekr) gw 4l 9 § S —

(In the event of death of a partner, the accumulated profits and losses are shared by the partners in their)

(a) gqﬁ A e & SERIN | (Old profit Sharing Ratio)
(b) T oI foeE & SERIE q (New profit sharing Ratio)

(c) q\\_rﬁ Squrd | (Capital Ratio)
(d) $TH A PI3 T8l (None of these)

B o fdued R 49 iy o SR & |
(On dissolution of firm, Bank Overdraft is transferred to )

(a) 3 hs 9rd A (Cash Account)
(b) 3% w@rd (Bank Account)
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18)

19)

20)

21)

(c) aﬁé 9rd | (Realisation Account)
(d) AqEeR & q\\_rﬁ 9rd | (Partner's Capital Account)

B4 & fqgeT W, WRIER & 0T QA $I gwIRg Huil —
(On dissolution of firm, Partner's loan Account is transferred to)

(a) aﬁé 9rd o (Realisation Account)
(b) q QG X B qﬁﬁ 9rd A (Partner's Capital Account)

(c) RIEISE ® dle] YId ¥ (Partner's Current Account)

(d) g—rrﬁ[ q ?ﬁ‘s‘ &l (None of these)

HH & f98e & T AEeRI @ Yol @Tdl @1 e I FT A fhal S & -
(On dissolution of a firm, Credit balance of Partner's Capital Acclunt is paid to :)

(a) g Qa ? Eﬁ (Partners) (b) Eb_‘ff EhAf (Firm)
(c) Tl @l (Wife) (d) 3_*1"# q ?ﬁ‘s‘ &l (None of these)

HE ARRE B JagH B I U dHAl (AT B gl © ¢

(Under the provission of companies Act, a Company can issue)

(a) ST THAT 37 (Only Equity Shares)

(b) W tf&lw 3T (Only Preference Shares)

(c) FHAT 3790 3ﬁ'\’ tﬁlﬁ?\»l_cﬁlﬁ 3 (Preference Shares and Equity Shares)
(d) 3_*1"# q ?ﬁ‘s‘ &l (None of these)

AT ST B
(Equity Share holders are)

(a) P B AR (Credition of the Company)
(b) P B @ (Owners of the Company)
(c) HA B Y gdh (Customers of the Company)

(d) g—rrﬁ[ q ?ﬁ‘s‘ &l (None of these)
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22)

23)

24)

25)

26)

Th S AT & 7 ORT & U & I 9 W 3R BT fAHT PR el @ ¢

(A Company can issue its Shares at discount under the provision of following sections of Company Act)

(a) 78 (b) 79 (c) 80 (d) 82

F B AR YT PR B
(Shareholders of the Company get)

(a) T (Dividerd)

(b) FHHIE (Commission)

(c) YIS (Interest)

(d) 371"5[ q aﬂs‘ Tel (None of these)

WA HFG SAATRA, 1956 & SR BRI a1 NTfies fyeer arar o &

(According to Indian Companies Act, 1956, Balance Sheet of a Company is prepared as per)

(a) Gﬂ?ﬁ VI Dl 91T 2 (Part Il of schedule VI)
(b) Cﬂw VI Dl 91T 1 (Part | of Schedule VI)
(c)  SFIRTEN VIIDT M 2 (Part Il of Schedule ViI)
(d)  SFINIEN TP UM 1 (Part | of Schedule VII)

T 37 @I BT Y 96 G N B A8 SN o [Qd 9 F
(Balance of Forfeited Share Account after reissued is transferred to)

(a) ?:ﬁ%lﬂ aﬁﬁr (Reserve Fund)

(b) RIE qﬁﬁ ﬁ[ (Capital Reserve)
(c) A= Gfad o (General Reserve)
(d) 371"}[ ﬁ aﬂs‘ :r&pf (None of these)

Il & MiH &1 sifdad A g

(Maximum limit of Premium on shares is)

@ 5% (b)) 10% () 20% (d) PIg AW TS (Nolimit)
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27)

28)

29)

30)

31)

FEOITEN & :
(Debentureholders are)

(a) P B @ (Owner of Company)
(b) HAI B @;la Y (Creditor of Company)
(c) A B Y gd (Customer of Company)

(d) g—rrﬁ[ q ?ﬁ‘s‘ &l (None of these)

forfra faaRor wree o anifred &

(The term financial statement include)

(a) AT T (Profit and loss Account)

(b) AMI—BT IS @I (Profit and Loss Appropriation A/C)

(c) AT T CIRESIRER T%I_C’BT (Profit and Loss Account and Balance Sheet)
(d) 3_*1"# q ?ﬁ‘s‘ &l (None of these)

anfds fereer &

(Balance Sheet is a)

(a) qaT (Statement) (b) YIdl (Account)

() I (Both) (d) T ¥ B3 &l (None of these)

UG ARG $g¥ & A<y fqaror # Afaferd & &
(A Financial Statement of a business enterprises include)

(a) 3 éfﬁ %8\6 (Balance Sheet)
(b) A g BT BT fgavo (Statement of Profit and Loss)
(c) QGK‘} EEIFRCERY (Cash Flow Statement)

(d)  SWIE Bl (All of the above)

foia Az & Suexor R

(Tools of financial analysis are)
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32)

33)

34)

35)

36)

(a)

(b)
(c)
(d)

3fquTel q9eIyu (Ratio analysis)

Qﬂz—% SERLY (Trend analysis)
SRIED SERLY (Comparative analysis)
ST T (Al of the above)

3R] e 3T @ :

(The Ideal Current Ratio is)

(a)

2:1 (b) 1:2 (c) 3:2 (d)

hs TaTg AR TR fohar o 2

(Cash flow statement is prepared from)

(a)
(b)
(c)
(d)

3 @kﬁ %IE\G (Balance Sheet)
AT T (Profit and Loss Account)
IRIEG X{d U (Additional Information)

UG T (All of the Above)

ST HIh—3 Hee NGl &

(Accounting Standared-3 related to a)

(a)
(c)

1T BT F0 10,000 ¥ AU PR & 918 YG M WO 50,000 & Al YRATA fehaall | Ade Jars

g

(a)

3 $$ YUdlg (Cash Flow Statement)
ij s El?f 15[ (Cash Book)

X0 60,000 (b) X0 50,000 (c)

HFICY H CPUBIAT @ © (CPU Stand for)

(a)

BHaR TR ?Iﬁ_d (Cover Processing Unit)
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(b) BT A (Stock)

(d) ¥Rl AT A (Fixed Asset)

X0 40,000

(d)

X0 30,000



37)

38)

39)

40)

(b) Wﬂ TRIRIT ?{ﬁf (Control Processing Unit)
(c) W IR ?Jfl_d (Central Processing Unit)

(d) g—rrﬁ[ q ?ﬁ‘s‘ &l (None of these)

PHEICX DI ST HEAT B (Brain of Computer is known) :

(a)  diodiogo (cpu) (b) I (Monitor)
(c) ‘:h@":[(Modem)(d) ﬂucfaa?ﬂ (Software)

MS Office 2000 Eﬁ ﬁﬂﬁ 1T (MS Office 2000 was developed by) :

(a) Novel (b) Coral
(c) Lotus (d) Micro Soft

Windows 98 &1 fddrNT &d g3l (Windows 98 was developed in) :

(a) 1994 (b) 1998
(c) 2001 (d) 2015

G| IO I % (First Calculating device is) :

(a) EI@T (Clock) (b) EQQ:I ETFFT (Difference Engine)

(c) méw (Abacus) (d) %ﬂfﬁﬁaq (Calculator)
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oY IR g

(Short Answer Type Question)

ATIRTRY TRLAT 3R TATIHNT TR § T 3R gadeld |

(State any three difference between for Profit Organisation and Not for Profit Organisation).

I Q& I @I @ A Rl bl gqensy |

(State the three feature of Receipts and Payment Account).

R o B HE @ Frdl A Rl @ Rl |

(Explain any three points of importance of Partnership Deed).

Td AR BY H T AEICR & Aae¥ed i Tsdl 87 did BRoN @f ford |

(Write three reason of Need for admission of a new Partner in a Partnership firm).

3MY (IR ofF—al @l b¥ foreldl, STafdr Yol aReR fAfer W <wam i @ ?

(How will you record the follwing transaction when Capital is kept under fluctuating Capital Method ?)
URMA® q\\_rﬁ — (Opening Capital) — ¥ 50,000

iﬁﬁ U Tl — (Interest on Capital) — ¥ 5,000

3TN UN TSl — (Interest on Draminas) — % 2,500

g @I Bl — (Loss during the year) — % 1,500

g 7 3 g fhar — (Draminas made during the year) — ¥ 4,000

§|‘;|' 35(_‘1 EB ﬁ'I'Q QGH Hd W 5F§ GQ (Jurnalise the Following) :

(a) aﬁ@i Y X0 1000 HTATH Gap) (Realisation Expenses Paid Rs. 1000)
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(b) TP IPER 7 % 80,000 H U AWy form

(Assets was taken over by one of the Partner at Rs. 80,000)

() 0 40,000 BT TIIT A O U AEIER €, 7 foram

(Liability of Rs. 40,000 was taken by 'A' a partner of the firm)

o gfifteat Mg o9 o @1 Rt W qew R, M R SR ekl W T ST € (Pass

journal entries when shares are issued at Pav, Premium and at Discount).

M fIffice & are 3urd 3 0 1 & | AT 3HSI BT % 30,000 3R A1 AT F 60,000 & o @R

Surd =fd Loxd | (Shyam Limited has current ratio is 3 : 1. If its stock is Rs. 30,000 and total current liabilities
are Rs. 60,000. Find out its Quick Ratio).

s UdTE fAaRT | 39 T GHed & 7 AT Y |

(What do you mean by Cash Flow Statement ? Explain).

forira faaror &1 A9 faRivaren @f ford |

(Write three features of Financial Statement).
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A" TN TH

(Long Type Question)

U fagelvor a1 & ? 3o fAvas B aoie oY |

(What is Ratio Analysis ? Explain its Feature).

The following Trading Profit and Loss Account is given

AR Td o4 B @rar 3 o W E |

Trading and Profit and <oss A/C for the year ending 31st Dec. 2016

Particulars Amount Particulars Amount

To opening Stock 76,250 | by Sale 5,00,000
To Purchases 3,15,250 | by closing Stock 98,500
To Carrige 2,000
To Wages 5,000
To Gross Profit 2,00,000

5,98,500 5,98,500
To Administrative Exp 1,00,000 | By Gross Profit from 2,00,000
To Selling and Distribution Exp 13,000
To Finance Exp 7,000 | By Non-operating incomes 6,000
To other Non-operating Exp 2,000
To Net Profit 84,000

2,06,000 2,06,000

You are required to Calculate

(&TTT = IO BT R)

(a) Gross Profit Ratio (Febel < 37UTcl)

(b) Net Profit

(c) Operating
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Amber Ltd with an Authorised Capital of Rs. 2,00,000 divided into 20,000 Equity Share of 10 each, issued 15,000
shares, payable Rs. 2 on Application, Rs. 2 on Allotment and Rs. 3 on each of two subsequent calls. All the shares
were taken up by the Public and all the mony were duly received.

Show the journal Entries requirement to record the above transactions.

3R folo =1 fora! 31fded Yol ® 2,00000 8 ST % 10 dTctel 20,000 FHAT 3 H §E 8 15,000 BT
fTfe fovam, T YA Mded U3 R & 2 3ffded W & 2 U & 3 Ui &l Araisli W &R o |
ST RT3 ford Y vd el R@H urd S |

SR oAl & oy Savad Sea gfaftcdl i |
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)

The following balance appear in book of R. K. Aggrawal who has kept his books on single entry system.

fFfeRad A9 S 3RO 0 AT & YEID W @A TN 8 Wl YheIoldl YOIl & MR W
T Jd G € |

31 Dec 2015 31 Dec 2016

Capital (qﬁﬁ) X0 X0
Creditors (W) 52432 48407
32803 41538
92235 89945
Machinery (F37) 4000 3600
Stock (FEfc) 51304 46217
Debitor (GIGTR) 34511 37522
Bank (éfﬁ) 2420 2506
92235 89945

Mr. Aggrawal has regulary withdrawn Rs. 1000 (Per month) from the business by way of drawings. He has also
taken goods worth Rs. 184 for his private use. Depreciation on machinery hasbeen provided at the rate of 10%
per annum.

Calculate the Trading Profit of Mr. Aggrawal.

fo srrarer (wfd AEIT) STUR | 0 1000 SMERV oxdl & | $HD 3FeATal a8 310 ol & & forg 184
B0 BT F9H ofd & | T R Ul 99 10% B R &6 B T0H1 B W 2 | o s &
AR oY el |

Puja Ltd. Co. was registered with Rs. 12,00,000 as Authorises Capital devided into shares of Rs. 100 each. It
issued to the public 7000 shares at a premium of Rs. 5 per share payable as follows:-

286



Rs. 25 on Application, Rs. 30 on Allotment (including Premium) and the balance in two equal calls.
Applications were received for 6000 shares and Allotment was duly made first call was made and money due
was received except the first call money on 100 shares. These shares were forfeited and subsequently Re-issued
at a Disscount of Rs. 10 per share as Rs. 75 per share paid up.

Give Journal Entries in the books of the company.

qoTl foifics &l @1 RITIAT W0 12,00,000 3O Yoll ST w0 100 aTel i H fawad & A1F g5 |
HHT T 7000 3 WO 5 fT 3 NAIH W AT far | 39 39 W IR 39 YeR ¥ o — aded
TR 0 25, 3MMGc TR 0 30 (3 Ao |lgd) TU1 AY /AR &7 FAM el Bl Il |

6000 37¥T & folU SMMaeH UF MY | 39 3 BT ded X QT AT | YW /T & Tg | 100
39 R YO AIIAT Bl BISHR AT ITIAT I U & T | Y 3 Wt IR ford T | 9IS H 37} Bl
%0 10 Uf 3% Bl X A G TP W0 75 bl & WU H JAIAT DR {71 AT |

S S-S @ Ry e o AR |
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State : Bihar Industrial Development Ltd. issued 20,000 15% Debenture of Rs. 100 each at a Premium of Rs. 10

each. The amount was payable as following :

fagR 3ienfires faerd fofo 1 100 W0 dTel 20,000, 15% T UF 10 wodT W™ R S &3 e
YA 7 GhR T o

On Application (31 GEE t{'\f) 20 X0
On Allotment (3Td¢T TX) Including Premium @ﬁ?ﬂ 3 %(‘I) 50
On First Call (B[ IrIT W) 20

On Second Call (@?ﬁ’q NIEE q_\’) 20

Application were received for 22500 Debenture. The money received on 2500 Debenture were refunded. All the
sums were duly received with the exception of 300 Debenture on First and Second call. Pass Journal Entries.

22500 FUTA! & foly e UF U §U | 2500 FUIGA WR UTS 71 a0 o) U T | 300 VTG
W Yo U9 g araeT &l Bredx I I6H U & T | Sl yfafted! ST |
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11.

16.

21.

26.

31.

36.

(b)

(a)

(d)

(a)

(b)

(d)

(d)

(c)

12.

17.

22.

27.

32.

37.

(c)

(b)

(a)

(c)

(b)

(b)

(a)

(a)

Answer Model No.- (1)

13.

18.

23.

28.

33.

38.

(c)

(b)

(a)

(d)

(a)

(c)

(d)

(d)
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19.

24,

29.

34.

39.

(b)

(a)

(c)

(a)

(b)

(a)

(a)

(b)

10.

15.

20.

25.

30.

35.

40.

(a)

(b)

(a)

(c)

(b)

(d)

(a)

(c)



3 Marks

Y S

e (1) & IR -
SATIBRT TR R IAIHNT Fe # o f=ifolRad sk & —

1. I SR — MR AR BT YA I oM HHMT BT B, S BN wRenall B o Ieed
Al USH HRAT © |

2. B BT Y URIH — ANER WA & G & g IRV FF Ig o A G T Fel ol 2 |
(% FAEN RN & Yg TR FI T A1 HH & HY A T AT 2

3. foRig fagRor — oMyeRT dvemett & foxig faavor & fe=folRa onfie e 8-
(i) Ffeht @

(il) TR G

(iii) oI @

STafeh SremBR] Heall & i faaver & frafoiRad et 8 § —
() e o

(i) 3T T FT Gl

(i) aifies forgt

Three points of distinction between a Profit Earning Organisation and Not for Profit Organisation are as follows :

1. Primary Objective :- The Primary objective of Profit-Earning Organisation is to earn profit wheare as the

primary objective of Not-for-Profit Organisation is to same people.

2. Net Results of Activities :- The net results of the activities of Profit-Earning Organisation is known as Net

Profit or Net Loss where as the net result of Not-for-Profit Organisation is known as the surplus or Deficit.

3. Financial Statement :- The Financial statement of profit earning organisation include

(i) Manufacturing A/C or Trading A/C.
(i) Profitand Loss A/C.

(iii) Balance Sheet.
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Where as Finalcial Statement of Non-for-Profit Organisation include
(i) Receipt and Payment A/C
(i) Income and Expenditure A/C

(iii) Balance Sheet.

U (2) T =N —

It Ud 4T QT & fefoad foRivam & «—

1. A1 T& A @Il U aRdfdd @I & |
2. I8 S U4 §5 & URMNE AY F IS a1 o1 & |
3. 394 IR e Hal Bl A el b1 oar @ |

Three following feature of Receipt and Payment Account is
1. Receipt and Payment Account is a Real Account.
2. It starts with the opening balance of cash in hand and at bank

3. Non Cash items are not recorded in this Account.
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U (3) &1 SIN —
AEIER) Hold & oI A fferad 8 —
(i) IT WRIRN & PRI, Fadl g U@ BT R F=er T |
(if) T AR & 419 fIarel @ I W Gers # AGS R © |
(ili) T WATHERT & e AqWal B R BT € |

Three Importance of Partnership deed are following :

(i) It regulates the rights, duties and liabilities of Partners.
(ii) Any dispute among the Partners may be settled easily.

(i) It helps in avoid any misunderstanding amongst the Partners.

U (4) BT ST —
U HAIRER BH H T ATERI 3 Saegddl FrafeiRad SR H 08 Hal & —
1. 99 I & R & forg aifdre Ion @) amawgadT € |
2. 59 FIITI & YaweT U Faler &g el A 9 Mdl qIfd @1 Sawedr & |
3. 919 el TaRITell Ue foRera e @1 WISIGR IR TR 1 9fdsT a8l |

A new Partner is admitted for the following reason in a Partnership firm :

1. When more Capital is needed for the expansion of business.

2. When there is need for a competent and experienced person for the management and
working of the firm.

3. When the reputation of the firm is to be enhanced by admitting influential and reputed

person into the firm.

T (5) BT IR —

PARTNER'S CAPITAL ACCOUNT

Date Particulats J.F Amount Date Particulars J.F. Amount
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To Drawing 4000.00 By Balanced 50,000.00
To Interest on 2500.00 By interest on Capital 5,000.00
Drawing
To Profit & Loss A/C 1500.00
To Balanced 47000.00
(Balancing Figure)
55000.00 55,000.00
T (5) BT I —
Date Particular L.F (Dr) Amount (Cr) Amount
(Rs.) (Rs.)
A. Realisation A/C ......ccuuuuee... Dr 1,000
To Cash A/C (Being Realisation Expenses 1,000
paid off)
B Partner's Capital A/C .... Dr 80,000
To Realisaton A/C (Being assets taken 80,000
over by a Partner's)
C Realisation A/C ......... Dr 40,000
To A'S Capital A/C (Being Liability taken 40,000
over by A)
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U (7) BT =N -
(A) 3 BT e
(Shares issued at Par)
Share Application & Allotment A/C ................

To Share Capital A/C
(Being Shares issued at par)
() 3 BT WA W R
(Shares issued at Premium)
Share Application & Allotment A/C ................
To Share Capital A/C
To Securities Premium Reserves

(Being Shares issued at Premium)
(€ 3 & R dek W

Shares Application & Allotment A/C ....... Dr
Discount or issued of Share A/C ...... Dr
To Share Capital A/C

(Being Shares issued at Disdount)

U% (8) BT SIN —
Were, Current Liabilities = 60,000
CISRIRE)
So, Current Assets = 60,000 x 3
(e wwfc)
=Rs. 1,80,000

Liquid Assets = Current assets — Stock

(Rt wfa)
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=1,80,000 - 30,000

=1,50,000
Liquid Ratio = Liguid Assets
Current Liabilities
W j
1,50,000
60,000
= 2.5:1

T (9) BT IR —

RIS YaTe [qaRT U AT fGaRT &l s & Al g JANT B [a%eiiid dxe fodfl wg fawy & WUds
P YA Pl G b e W IR fbAT WA & | IT Vb oW ay &l gor H frdl gae
gl gy ¥ b B Refd # URad @I @ & | §9 JHR b HaE [da) U ofafy favy o
fafir=1 foram wamal gRT A T Ade AAGed! o JfidiE Ud dfgdtg ol Ueid awl § |

Cash flow statement is a statement which is prepared by any business firm to known the availability of cash
during a particular period by analysing the sources and application of Cash. It shown the Changes in Cash
Position from one accounting period to another. Then Cash Flow Statement is a sources of cash inflows and uses
of cash outflows during a Particular Period Time.
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U (10) BT SN —
fory faaxor @& <= foewar fmferRed & —
1. i faaxor @1 o1 # 9ued fhar o 2 |
2. foriy fayawor Yfcrerfie w1 2 |
3. foxfrar faamor, am—a1f @rd @ gRT @M a1 & aern onfde fagt & g focia Reify wave awar © |

Three Features of Financial Statement is following -
1. Financial Statement are expressed in terms of money.
2. Financial Statement are historical documents.

3. Finalcial Statement show Profitability through statement of profit and loss and financial position through
Balance Sheet.
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EIEASERR

e (1) @ IR -

foxfra fozerwor @1 walfte wafoa R @1 dedie orua favemor & 39 fafy &1 |duem wam
Toldule] ard o {61 of | 98 §% @ Radl @ ol ST & o | 3H 99 9l ok ad
QIR @ dra IO |ae Sl AT {1 | 39 VAT Bl 9 SFUId bEl TR |

7 R fIeRoll & fAeelyor & SUGRY & ®U H AUl BT STANT TR gl |

bel g HBHeH & FTAR " 7S &1 G AG & I TR MO & H dd Feg Pl IFJUId dadl
g | WEC TH0 VI @ AR U Ud 6 & ) W & Gew W A fafdd 7 |
TR e T R # gEe AT | AT A S 8 —

(i) NTh BaGIUAGS & STHR AT B $hTs A1 BEarl © |
(i) 100 F 4/5 W

39 UBR ' [RIY fAeely & SyeRYT 1 ddheiih & WU H UG [IReivor | gy ki faawol srerfa
31fi® g Ua AmM—_I @Il ¥ fowrs T Gl @ 4 arid Geel &1 quie b H e
W 8 |

W B g4 ORI FeEl Dl WO | I8 e FAY Gy wul d uRafid 8 §Id 8 ol e
g1 weayyt sy farel S 2 |

ST | U faeelyor & e faRmam & —

1, T 919 U 91E I UGN 2 | Ig A9 W § ey 8 § | GRAT Pl a¥eldT, e,
ARG SRS WIF- R FHSH BT AE U A AT SUBR B |

2. T8 foM fAeelvor &1 Ua s Sua € |
3. fo<har o Qo & A% B § |

Ratio Analysis is familiar technique or methods financial Anaylysis. This method was adopted first timely
Alexander Wall to study liquidity possion of Bank. Mathemetical Relation between Current Assets and Current
Liabilities was estabilished current Ratio.

According to Kennedy & Mcmuller "The relationship of one item to another expressed in simple mathemetical
from is known as a Ratio"..

According to Robert N. Anthony "A Ratio is simply one number expressed in terms of another".
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According to Robert N. Anthony "A ratio is simple one number expressed in terms of another".
One digite is dividedly another digite is mathemetical relation.

Therefore this type of Ratio is generaly indicate by two techneque

(i) Firstly Accourding to Quotient = unit of expression known as times

Therefore, The terms acounting ratio is used to describe significant relationship which exist between figures
shown on a balance sheet, in a Profit and Loss account ..................

"As a resutl of the establishment of mathematical relationship the items of financial statements are
converted into meaningful comparable terms which are interpreted an important conclusions are drawn".

Charectristics of Ratio Analysis is clear from above matter

(2) It is merely a mean or Tool.
(2) It is quantitative tool of financial analysis.
(3) Financial Ratio are Standards of Comparision.
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Solution (8¢1) - (2)

(a)

(b)

(c)

(i)

Gross Profit Ratio

Net Profit Ratio =

Operating Ratio=

Working Note :

Cost of Goods Sold

= Gross Profit x 100

Sales

= 2,00,000 x 100 = 40%

5,00,000

Net Profit x 100

Sales

5,00,000

Lost of Good sold + Operating Exps x 100

Sales

= 4,13,000 x 100 = 0.826%

5,00,000

Sales — Gross Proit

= 5,00,000 - 2,00,000

= 3,00,000
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qr

Cost of Sales Opening Stock + Purchases _ Carriage + Wages — Closing Stock
= 76250 + 315250 + 2000 + 5000 — 98500

= 3,00,000

Operating Expenses Administrative Expenses + Selleing & Dist. Exp.

1,00,000 + 13,000

1,13,000
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Solution (8¢1) - (3)

JOURNAL ENTRIES

Particulars Dr (Rs.) Cr (Rs.
Bank A/C Dr 30,000
To Equity share Application A/C 30,000
(Being Application money received on 15,000 shares
@ Rs. 2 each)
Equity Share Application A/C -------------- Dr 30,000
To Equity Share Capital A/C 30,000

(Being Application money transferred to equity share
Capital on 15,000 shares @ 2 vide Resolution No. -----
dt )

Equity Share Allotment A/C------------------- Dr 30,000
To Equity share Capital A/C 30,000

(Being Allotment mony due on 15,000 shares @ Rs. 2
each)

Bank A/C Dr 30,000
To Equity Share Alloement 30,000

(Being Allotment money received on 15000 Shares @
Rs. 2 each)

Equity Share First Call A/C ------------ Dr 45,000
To Equity Shate Capital A/C 45,000

(Being first call money due on 15,000 Shares @ Rs. 3
each vide resolution No. ............ dt........ )

Bank A/C Dr 45,000
To Equity Share First Call A/C 45,000

(Being First Call money received on 15,000 Shares @
Rs. 3 each)

Equity Share Second & Final Call A/C ..... Dr 45,000
To Equity Share Capital A/C 45,000

(Being Second and Final Call money due on 15,000
Shares @ Rs. 3 each vide Resolution No.............. dt
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Bank A/C ceeveeeeieeeeieeeeeee e Dr

To Equity Share Second and Final A/C

(Being Final Call of Rs. 3 on 15,000 shares & received)

45,000

45,000
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Solution (8¢1) - (4)

Statement of Profit or Loss for the year ending 31st Dec. 2016

Particular

Amount (Rs.)

Capital at the end (31st Dec. 2016 48407

Add Drawing the year ( 1000 x 12) Rs. 12000

Add 400 Qs taken for Private use 184 12184
60591

Less Capital in the begning (31st Dec 2015 52435

Profit during the year (after providing for depreciation) 8159
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Solution (8¢1) - (5)
Book of Puja Ltd. Co.

Journal Entries

Particulars Dr (Rs.) Cr (Rs.

Bank A/C Dr 1,50,000
To Share Application A/C 1,50,000

(Being Application money received on 6000 shares @
Rs. 25 each)

Share Application A/C -------------- Dr 1,50,000
To Share Capital A/C 1,50,000

(Being Application money transferred to on 6000
shares @ 25 vide Resolution No. ----------- dt ----)

Share Allotment A/C---------=-==nnn-- Dr 1,50,000
To Share Capital A/C 1,50,000

(Being Allotment mony due on 6000 shares @ Rs. 25
each vide resolution No. ....... dt. ....... )

Bank A/C Dr 1,80,000
To Share Alloement A/C 1,50,000
To Share Premium A/C 30,000

(Being Allotment money and Premium received on
6000 Shares)

Share First Call A/C ------------ Dr 1,50,000
To Share Capital A/C 1,50,000

(Being first call money due on 6000 Shares @ Rs. 25
each vide resolution No. ............ dt........ )

Bank A/C Dr 1,47,500
Share First Call A/C 1,47,500

(Being First Call money received on 5900 Shares @
Rs. 25 each)

Share Capital A/C ....ccoovveecvveeernenns Dr 7,500
To Share for feited A/C 5,000
To share First Call A/C 2,500

(Being 100 shares forbeited due to non-payment of
first call vide Resolution No........... (o | S )

BanNK A/C ceeeveiiiieiieeeeeeeeeeee e Dr 6,500
Share forfeited A/C ....ocovvevevevereeennnen. Dr 1,000
To Share Capital A/C 7,500
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(Being 100 forfeited shares re-issued at Rs. 65 as Rs.
75 paid up vide resolution No. ...... dt........ )

Share forfeited A/C ....ouvvveeeevevereeennen, Dr 4,000

To Capital Reserve A/C 4,000
(Being transfer of Profit on forfeited shares to Capital

Resorve A/C)
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Solution (2¢1) - (6)
Book of Bihar Industrial Development Ltd.

Journal Entries

Particulars Dr (Rs.) Cr (Rs.
Bank A/C Dr 4,50,000
To Debenture Application A/C 4,50,000
(Being Amount received on 22500 Debentures Rs. 20
each)
Debentures Application A/C -------------- Dr 4,00,000
To 15% Debentures A/C 4,00,000

(Being Application money on 20,000 shares
Debenture transferred to Debenture A/C vide Boards
Resolution.

Debentures Application A/C------------------- Dr 50,000
To Bank A/C 50,000

(Being Application mony on 2500 Debentures
refunded)

Debentures Allotment A/C Dr 6,00,000
To 15% Debenture A/C 6,00,000

(Being Allotment money excluding premium due on
20,000 Debentures @ Rs. 30)

Bank A/C ------------ Dr 10,00,000
To Debentures Allotment A/C 6,00,000
To Debentures Premium A/C 4,00,000

(Being Allotment money including premium @ Rs. 50
received on 20,000 Debentures)

Debentures First Call A/C Dr 4,00,000

To 15% Debentures A/C 4,00,000
(Being First Call money @ Rs. 80 became due on

20,000 debentures)

Share Capital A/C  .ccoeieiieee, Dr 3,94,000

To Debenture First Call A/C 3,94,000

(Being First Call money on 19700 Debentures @ Rs.
20 received)

Debenture Second Call A/C ................. Dr 4,00,000
To 15% Debentures A/C 4,00,000
(Being Debentures Second Call money due on 20,000
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Debuntures at Rs. 20 each)

Bank A/C
To Debentures Second Call A/C

(Being Second Call on 19700 Debentures received Rs.

20 each)

3,94,000

3,94,000
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